| ) UNIPOWER

POWERING TECHNOLOGY

FUSE PANEL
PRODUCT MANUAL

UNIPOWER, LLC

65 Industrial Park Rd

Dunlap, TN 37327

Phone: +1-954-346-2442

Toll Free: 1-800-440-3504

Web site — www.unipowerco.com

PM 990-2750-00, Rev. 10




Fuse Panel Front Matter

RECEIVING INSTRUCTIONS
&
GENERAL EQUIPMENT INFORMATION

Please Note: For your protection, the following information and the product
manual should be read and thoroughly understood before unpacking, installing,
or using the equipment.

UNIPOWER, LLC presents all equipment to the delivering carrier securely
packed and in perfect condition. Upon acceptance of the package from us, the
delivering carrier assumed responsibility for its safe arrival to you. Once you
receive the equipment, it is your responsibility to document any damage the
carrier may have inflicted, and to file your claim promptly and accurately.

1. PACKAGE INSPECTION

1.1 Examine the shipping crate or carton for any visible damage: punctures, dents, and any
other signs of possible internal damage.

1.2 Describe any damage or shortage on the receiving documents, and have the carrier sign
their full name.

1.3 If your receiving freight bill notes that a Tip-N-Tell is attached to your freight, locate it.
If the Tip-N-Tell arrow has turned even partially blue, this means the freight has been
tipped in transport. Make sure the carrier notes this on your receipt before you sign for
the freight.

2. EQUIPMENT INSPECTION

2.1 Within fifteen days, open the crate and inspect the contents for damages. While
unpacking, be careful not to discard any equipment, parts, or manuals. If any damage is
detected, call the delivering carrier to determine appropriate action. They may require an
inspection.

*SAVE ALL SHIPPING MATERIAL FOR THE INSPECTOR TO SEE!

2.2 After the inspection has been made, call UNIPOWER. We will determine if the
equipment should be returned to our plant for repair, or if some other method would be
more expeditious. If it is determined that the equipment should be returned to
UNIPOWER, ask the delivering carrier to send the packages back to UNIPOWER at the
delivering carrier's expense.

2.3 If repair is necessary, we will invoice you for the repair so that you may submit the bill to
the delivering carrier with your claim form.

24 It is your responsibility to file a claim with the delivering carrier. Failure to properly file
a claim for shipping damages may void warranty service for any physical damages later
reported for repair.

PM990.2750.00, Rev. 10 i



Fuse Panel Front Matter

3. HANDLING

Equipment can be universally heavy or top-heavy. Use adequate humanpower or equipment for
handling. Until the equipment is securely mounted, be careful to prevent the equipment from
being accidentally tipped over.

4. NAMEPLATE

Each piece of UNIPOWER equipment is identified by a part number on the nameplate. Please
refer to this number in all correspondence with UNIPOWER.

5. INITIAL SETTINGS

All equipment is shipped from our production area fully checked and adjusted. Do not make any
adjustments until you have referred to the technical reference or product manual.

6. SPARE PARTS

To minimize downtime during installation or operation, we suggest you purchase spare fuses,
circuit boards and other recommended components as listed on the Recommended Spare Parts
List in the back of the product manual. If nothing else, we strongly recommend stocking spare
fuses for all systems.

PRODUCT SUPPORT
Product support can be obtained using the following addresses and telephone numbers.

Manufacturing facility:
UNIPOWER, LLC

65 Industrial Park Rd
Dunlap, TN 37327
United States

Phone: +1-954-346-2442
Toll Free: 1-800-440-3504
Web site — www.unipowerco.com

When contacting UNIPOWER, please be prepared to provide:

1. The product model number, spec number, S build number, and serial number - see the equipment nameplate
on the front panel

Your company’s name and address

Your name and title

The reason for the contact

If there is a problem with product operation:

e s the problem intermittent or continuous?

e What revision is the firmware?

e What actions were being performed prior to the appearance of the problem?
e What actions have been taken since the problem occurred?

N wn

PM990.2750.00, Rev. 10 ii



Fuse Panel Front Matter

REVISION HISTORY
CHECKED/APPROVED BY
REV DESCRIPTION & DATE
9 See PCO 45403 CIM /8-8-19
10 See ECN 46140 JPR / 1-3-24

PROPRIETARY AND CONFIDENTIAL

The information contained in this product manual is the sole property of UNIPOWER, LLC. Reproduction of the
manual or any portion of the manual without the written permission of UNIPOWER, LLC is prohibited.

© Copyright UNIPOWER, LLC 2015
DISCLAIMER

Data, descriptions, and specifications presented herein are subject to revision by UNIPOWER, LLC without
notice. While such information is believed to be accurate as indicated herein, UNIPOWER, LLC makes no
warranty and hereby disclaims all warranties, express or implied, with regard to the accuracy or completeness of
such information. Further, because the product(s) featured herein may be used under conditions beyond its
control, UNIPOWER, LLC hereby disclaims and excludes all warranties, express, implied, or statutory, including
any warranty of merchantability, any warranty of fitness for a particular purpose, and any implied warranties
otherwise arising from course of dealing or usage of trade. The user is solely responsible for determining the
suitability of the product(s) featured herein for user’s intended purpose and in user’s specific application.

Throughout the remainder of this manual, “UNIPOWER” will mean “UNIPOWER, LLC.”
PERSONNEL REQUIREMENTS
Installation, setup, operation, and servicing of this equipment should be performed by qualified persons

thoroughly familiar with this Product Manual and Applicable Local and National Codes. A copy of this manual is
included with the equipment shipment.

PM990.2750.00, Rev. 10 il



Fuse Panel Installation & Operation

10.

INSTALLATION AND OPERATION FOR FUSE PANELS

Install the Fuse Panel in a relay rack, or enclosed box assembly using 12 — 24 hardware.
If supplied, remove the fuses from panel by pulling fuse block, and/or removing individual fuses.

Route and connect the “HOT” load lead to the desired fuse circuit. See the fuse panel drawing for the
location of fuse output connection.

For systems with a vertical branch-feed bus, bolt the fuse panel input bus to the vertical bus. For other
systems, connect wire of appropriate size to the input bus on the fuse panel.

If the fuse panel is equipped with a fuse alarm lamp and/or relay, connect a lead form the Ground bar to
the GND terminal on the terminal block.

For fuse panels not equipped with a local alarm circuit, the fuse alarm signal can be extended to a separate
alarm system by wire-wrapping or soldering an alarm wire to the fuse alarm post.

For fuse panels equipped with a local alarm lamp or lamp and relay circuit, the fuse alarm signal can be
extended to a separate alarm system by connecting an alarm wire to the FA terminal.

If the fuse panel is equipped with current shunts, connect the shunt(‘s) to the current sensing panel using
AWG 14 minimum wire.

Place properly sized fuses in the appropriate fuse holders. See the fuse panel drawing notes for the
recommended alarm fuse ratings.

When contacting the factory for information or service, please include the model number with a complete
description of the difficulty or questions involved.

PM990.2750.00, Rev. 10 1



Fuse Panel Installation & Operation

This manual covers the following Fuse Panels:
PN111.2750.00
PN111.2750.05
PN111.2750.07
111.2998.04
PN111.3012
PN111.3017
111.3051.10
PN111.3063
111.3072.10
PN111.3080
PN111.3783
111B.2750.00
J111B.2751.00
111B.2753.00
111B.3000
PN111B.3001.00
PN111B.3005.00
PN111B.3006.00
111B.3007
PN111B.3010
PN111B.3012
PN111B.3014
PNI111B.3016
PN111B.3019
PN111B.3021
PN111B.3023
PN111B.3025
PN111B.3035
111B.3042
J111B.3046
PN111B.3049
111B.3051
111B.3053
111B.3056
PN111B.3068
PN111B.3072
PN111B.3074

PM990.2750.00, Rev. 10 2



ED991-5001-B1 Issue 3 1

4
ISSUES
ISSUE| DESCRIPTION ISS. BY
# ISS. DATE
4 | SEE PCO# 44452 wo
6-26-17
51. SELECT THE PAINT COLOR PER TABLE A. 107. ALL WIRING IS 20 GA UNLESS OTHERWISE SPECIFIED.
52. THE ONLY FUSES PROVIDED ARE THE MAIN (15A), ALM 102. INSTALL ALL FUSES AND COLOR DESIGNATION PINS ON
(.5A), DIST FUSES FOR THE CC (1.3A & 2A LOC #20), FUSE POSITION 19, 20 AND 21 AS SPECIFIED.
AND DIST FUSES FOR THE IC (.5A & 5A LOC #19). ALL
ZTH?HBZIS;D:giSS géggiévg/-/ T:gég ggzrgﬁ/ggog PINS 103. APPLY HEATSHRINK SO THAT FA TERMINAL AND EXPOSED
us o S - 0 ‘ WIRES ARE COVERED TO PREVENT POSSIBLE ELECTRICAL
53. HOLES ABOVE GMT FUSE HOLDERS ARE FOR DESIGNATION SHORTING.
PINS.
54. RELAY CONTACTS ARE RATED 2 AMP RESISTIVE AT
12-24VDC, 1 AMP AT 48VDC AND .5 AMP AT 120VDC.
UNLESS OTHERWISE APPROVALS DATE
SPECIFIED DIMENSIONS
ARE IN INCHES DRAWN
+ TOLERANCES ON: GLD 2/21/90
TABLE A TABLE B +0.004
HOLES CHECKED
-0.002 PKD 2/21/90
COLOR DESIGNATOR TYPE "GMT" FUSES FRACTIONS 1/32 PPROVED
DECIMALS (XX) +0.020 ES 4/19/90
ANSI 61 GRAY A AMPS |PART NUMBER | COLOR |PART NUMBER SECTIALS (000 20.010  [orrovm
(FUSE) (PIN DESIG) ANGLES +71/2°
BEIGE B —
.5 280-0700-00 RED 275-9001-00 SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
WORKMANSHIP :
1.33 280-0715-00 WHITE | 275-9001-01 PER SPEC ENGO32
2 280-0735-00 | ORANGE | 275-9007-02 WATERIAL -
3 280-0760-00 BLUE | 275-9001-03
5 280-0740-00 GREEN | 275-9001-04 SIS
DUMMY 276-0002-00

SHEET INDEX

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SHNO | 7| 2] 3

UNIPOWER

POWERING TECHNOLOGY

ISSUE | 4| 3| 3

FUSE PANEL: SENSE/CONTROL

SIZE DOC TYPE | NUMBER ISSUE
B 111-2998-04 4

SCALE: SHEET : FILE NAME:

N/A 1 OF 3 111-2998-04_SHT_1_ISS 4

4



ED991-5001-B3 Issue 3

REPATR HISTO

REPAIR HISTOR

% ’ % F20 F19 F18 F17F15 F15F14 F13F12 Fll F10 F9 F8 F7 F6 F5 F4 F3 F2 F1 % ¢% F20 F19 F18 Fl7 F16 F15F14 F13 F12 F'll F10 F9 F8 F7 F6 F5 F4 F3 F2 F1
3 & & |olololo|ofolololo|o| |olololololololololo 3 & & |olololo|ofololololo| |ololololo|ololololo
8 7 6 8 7 ©
2 39 5 |ololololo|ololololo| |o|ololo|ofololololo 9 9 8 lolololo|o]ololololo| |o|o|o|ololololo|olo
O O O O O O O
9 18 17 16 o o o o o 18 17 16
O O O O 2019181716 15141312 11 109 0002019181716151413121 109
O O O O O O O O O O O O O
@ 305-2800- REV 1 ISSUE @ 305-2800- REV 1
[ 1.[ 1T 1.0 1.I 1T 1.I 1.[ 1T 1.0 1.0 1T 1.I 1.I 1.[ 1T 1.0 1.0 1.0
r - - - - - - - - - - - - - - - - X - - - - T T

DUCT, PLASTIC: WIRE
031-2002-18

REAR VIEW

NOMENCLATURE,
225-3094-09

SEE FIG 1

FUSEHOLDER SEE NOTE 52 FRONT PANEL SEE NOTE 53 ALARM ASSY
275-0112-01, 2 EA 202-4201-10 385-5152-01
ALARM BOARD
— 301-2867-00
d ({/ /
@ @O O O 0O OO0 OO0 O0OO0OO0 O O 0O OO0 OO0 O0OO0O0 O O 0O 00O 00O O0OO0OO0 O O 0O O0OO0O OO0 O0O0
I ﬂﬂﬂﬂﬁﬁﬂﬂﬂﬂ ﬂﬂ ﬂﬁﬁﬁﬁﬁﬂﬂﬂﬂ ﬂﬁﬂ ’ ; :
FA \
@ 12346 67891 11213141516 17 18 19 20 12346 67891 11213141616 17 18 19 20
cBS co NTROL SENSE 3. 470

16A 0.5A 3. 000 a
(BAF) ALM 1 8 16 \ 1 8 16 \ .

2 o 16 2 ° 16

3 10 17 3 10 1

4 1 18 4 1 18

5 12 19 3 12 19
ESD GRD ) 13 20 ) 18 N 20

( ) 7 14 = 225-3100-450 7 14 225-3100-450 ( J\ u
JACK, SEE DETAIL B \\\¥CARD HOLDER LABEL
263-0015-00 205-0901-01, 2 EA 225-3100-450, 2 EA
22.380 SEE FIG 2
23. 000
SEE DETAIL A
FUSE BOARD . 250 x . 500 OBR
305-2800-00, 2 EA 4 PLCS

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
m 111-2998-04 3

SCALE: SHEET: FILE NAME:

NONE 2 OF 3 |111-2998-04_SHT_2_ISS_3

4




ED991-5001-B3 Issue 3 1 2 3 4
"BAF” FUSE HOLDER
] 275-0112-01 CONTROL FUSES
Eﬂ] FRONT PANEL r— FUSE B0 T
‘. 202-4201-10 % 146n ‘ Lond 305-2800-00 |
. Y p—o F1 |
| |
| e F2 |
O @ FLATWASHER °Bs ~ ‘
212-0090-00 | ~ F3 }
DUCT, PLASTIC: WIRE | Fo1 ~ |
031-2002-18 81 R 14GA__ LINE e e o F4 |
SPACER: HEX —eat| @ R 14GA__ BAT . 5A }
213-0500-00, 4 EA — conT ~48 CBS o 9 F5 |
| 210-1430-00 —GRD| O cms | |
#6 LOCKWASHER D — ~ I
212-0494-00 SEN:EBAT O1—2swr [ ol A F1 }
SCREW I
L L4 ,——o F20
210-1450-01, 2 EA #6 KEPNUT oRo GRD VR } i 1. 3A }
211-0476-00, 2 EA i | N \
U \ Lo A D! }
\
FRONT PANEL | 4 \
502-4201-10 COVER: PLASTIC DUCT | t A D4 !
(OPT) } } SIG 0 20GA
— | 20 |
.- ____ _
SENSE FUSES
#6 LOCKWASHER A -
212-0494-00 ‘ FUSE BD ‘
R_14GA____ LOAD 305-2800-00 A ‘
F1 |
FIG. 1 FIG. 2 ; o
8BS | — o2
15A
| A !
w F21 |
R _14GA__ LINE ~ ~ Fa |
KS—°
Y_14GA BAT . 5A I
L\ < F5 }
BK 14GA__ GRD \ ‘
BK 20GA } }
| ot ﬁk}? F19
\ . \
| L ¢\ ,—o F20 |
LABEL \ ot 2A \
225-3100-448 } 3 }
o3 |
BRACKET | A D1 |
208-5170-00 \ faa \
} | A D4 }
rGRDF AT CONNECTOR | | SIG 0 20GA
+ 1 265-0010-00 ‘ 20
ZEN—O O ! == ‘
CohrzCC OZZ JACK e et e -
<< 4 OO
i 2 3 4 5 6 7 8 8 10 263-0015-00 T T ey -
TR S B S WS B N ) FA ASSY
@ @ TERM BLOCK: TB1 FRONT PANEL SENS /CONT FA-OUT | FALIN| FA SIG 0 20GA
PP T T EF TR TS 7 252-1454-01 202-4201-10 FA ! S|
— = = = —! \ M EA |
\ d \
== . \ \
@D D@ | |
N N/ M \ \
% OLO— |
L || || | | | | \ \
IESAT GRDIBAT GRDJ o%— K1 }
SENSE CONT i j NC: T }
GRD | ™ |
‘
T a1 ALARM BD }
L ____301-2867-00,
LABEL LOCKWASHER: DISH
225-3100-449 212-0501-00
TOP VIEW OF ESD GRD SCHEMATIC DIAGRAM
ALARM ASSY DETAIL B
DETAIL A PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
( SEE NOTE 103) PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
]Im 111-2998-04 3
SCALE: SHEET: FILE NAME:
NONE 3 OF 3 111-2998-04_SHT_3_ISS_3
1 2 3 4




t DEN. 111-3p51-18 |71 V2
REVISIONS
Revision | Description PCO/ECO# | BY/DATE
2 LOGOUPDATI 44452 WD/6-26-17
RERAR VIEW :
SIDE VIEW
> 5 ] p——
ro— " O
O _[ 5.22
S ) 2.25
© | o
N\
o o - JT \
22.38
23.00 DETRIL OF LUG
SCHEMARTIC RDAPTER
INPUT /- @.562 DIR
FRONT VIEM » K a
19" &
R1 4.75
— —_ — . 2.00
= 5 5 + L !
i {
O o
Xkl XF2
OFA 1,754t
o o~ 3, 03—
o o o I
= —- UNIPOWER
NOTES::
1) FUSEHOLDERS WILL ACCOMODATE TYPE NON 181 TO 202 AMPS. FILE4: 111-3051-10_ISS 2 NOT O BE COPIED. LSk, T HANSMITIED, OR DISCLOSED WITHOUT
USE TYPE 70 1.3 AMP FUSE FOR ALARM. PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
2) FUSEHOLDERS ARE SUPPLIED WITH RDAPTERS FOR MOUNTING 1-4 APPROVALS | DATE
ONE OR TWO HOLE LUGS. IF A LUG MOUNTED DIRECTLY TO FUSE DRAWN SAN | @3-14-86 FUSE PANEL
OUTPUT BOLT IS DESIRED. ORDER P.N 253-0082-03, AWG -
4@ TO 1988 MCM, LUGS AT TIME OF ORDER. DESIGN JB #3-14-88 1 1@l 285I$HPEHEH$EHOLDERS
3) AMMETER SHUNTS RRE NORMALLY 208 AMPS 5@ mV; HOWEVER, THESE =% [OE N —
MAY CHANGE TO MATCH OTHER SHUNTS IN SYSTEM SO R SWITCHED CHECK JB | @3-14-86 . 111-3951-19 5
METER PANEL CAN BE USED FOR MONITERING.
ISSUE N/A 1 OF 1

A


wdeakins
Rectangle

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO


{ G N. 111-3@72-10 |1 |2

| JUNIPOWER

POWERING TECHNOLOGY

REVISIONS
ZONE | REV DESCRIPTION DATE Issued by
2 |SEE PCO# 44452 6/26/17 WD

RERR VIEMW
(@») C)_T.
2.25
5.22
) o
1.49
|
22.38
23.00
SCHEMRTIC @.562" DIA
4 PLS
FRONT VIEMW /
_— . 2 INPUT /{
o o T {p— -
O O —
Rt  TO REMOTE 2.0e| :
i + ~p— -
(@») N o 1.75
° ° XF1 FA |
F2
——————————————————————————— - 1.75 |
— 3.00 —
OUTPUT LUG RDRPTER
NOTES: DETRIL
1) FUSEHOLDERS WILL ACCOMODATE TYPE LKN 61 TO 680 AMP. USE
TYPE 78 1.3 AMP FUSE FOR ALARM. FILE #: PROPRIETARY INFORMATION
111_3072_10—|SS—2 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
2) FUSEHOLDERS ARE SUPPLIED WITH ADAPTERS FOR MOUNTING 1-6 B PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
osg—; OR TWO HOLE LUGS. IF A LUG MOUNTED DIRECTLY TO FUSE APPROVALS| DATE ,
OUTPUT BOLT IS DESIRED. ORDER P.N. 253-@882-00. AWG
4/@ TO 18@@MCM, LUG AT TIME OF ORDER. DRAWN PKD |2-12-86 FUSE PANEL
A ONE 680 AMP WITH SHUNT
3) AMMETER SHUNTS ARE NORMALLY 602 AMP 58mV; HOWEVER, THESE DESIGN BW| 1-23-86 BT
MAY CHANGE TO MATCH OTHER SHUNTS IN SYSTEM SO A SWITCHED L ., | S1ZE . REV
METER PANEL CAN BE USED FOR MONITERING. CHECK i | 2-/2-86 111-3872-10 2
ISSUE SAE | 0 SHEET 1 OF!



wdeakins
Text Box
2

wdeakins
Text Box
              2     SEE PCO# 44452                                       6/26/17            WD

wdeakins
Text Box
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.


wdeakins
Text Box
2

wdeakins
Text Box
111-3072-10_ISS_2

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Rectangle

wdeakins
Typewritten Text
Issued by


ED991-5001-B1 Issue 3 | 1 2 ¢ 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES: MANUFACTURING NOTES: # 1SS, DATE
51. STANDARD WIRING IS FOR 48 VDC, FOR 24 VDC, 107. ALL WIRING IS 20 GA UNLESS OTHERWISE SPECIFIED. 7| SEE PCo# 44452 o
REMOVE SLEEVING FROM JUMPER WIRE, SHORT ACROSS 102. LOOP RESISTOR LEAD AS SHOWN, SOLDER WIRE TO LOOP.
R1 AS SHOWN, AND SOLDER BACK. TO CONVERT FROM
24 VDC TO 48 VDC LIFT JUMPER WIRE AND TAPE END. 103. SHEATH LUG ON FREE END OF JUMPER, AND TIE WRAP TO
52. FUSE PANEL CAN BE USED ON POSITIVE OR NEGATIVE WIRE BUNDLE.
GROUNDED SYSTEMS.
53. INPUTS A AND B MUST BE SUPPLIED FROM A COMMON
SOURCE, 30A MAX PER SECTION.
54. MOUNTING BRACKETS ARE ADJUSTABLE FOR 19" OR 23"
RACKS AND SEVERAL PANEL OFFSET DISTANCES. TABLE A TABLE B
55. RELAY CONTACTS ARE RATED 2 AMP RESISTIVE AT COLOR DESIGNATOR TYPE "GMT" FUSES
12-24 VDC, 1 AMP AT 48 VDC AND 0.5 AMP AT 120 VDC.
56. SELECT THE PAINT COLOR FROM TABLE A. ANSI 61 GRAY AMPS PART NUMBER
IE: 111B-2750-00, COLOR A = ANSI 61 GRAY FINISH ] i
IE: 111B-2750-00, COLOR B = BEIGE FINISH BEIGE 0.5 280-0700-00
57. ORDER FUSES FROM TABLE B. 1.38 280-0715-00
2 280-0735-00
3 280-0760-00
5 280-0740-00
pummy | 276-0002-00
UNLESS OTHERWISE APPROVALS DATE
SPECIFIED DIMENSIONS
ARE IN INCHES DRAWN
+ TOLERANCES ON: BW 8/28/85
NOMENCLATURE LABEL, 225-3094-09 0.250" x 0.500" OBR HOLES +0.004 CHECKED
4 PLS -0.002 VBM 3/13/91
FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020 PKD 4/19/91
. r 0.235 DECIMALS (XXX) +0.010 APPROVED
] / ® oworas @ ® oors ® s’ f S | G Q| o ANGLES /20
SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
° O 1.250 1.720 I: il WORKMANSHIP :
-] @) e &= 1@ ®= A @ co—t | e o o ) o
MATERIAL :
17.000 | 17 5.380 4|
18.380 6.920 FINISH:
19.000 7.820
22.380 PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
23.000 SIDE VIEW PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
POWERING TECHNOLOGY
@ ] @) FUSE PANEL
D ® FUSE ALARM GROUP A GROUP B A B ® 2
= — SHEET INDEX 24GMT, 24/48VDC, 60A MAX
[eojoae @ooooooodooone Edoooaooodaooe @DD|e® o lil2
—_ GRD C NO NC 1 6 12 1 [ 12 = — —_ SIZE DOC TYPE | NUMBER ISSUE
-] @ (||® uue e @) @ o ISSUE | 7] 6
111B-2750-00 7
REAR VIEW SCALE: SHEET : FILE NAME:
N/A 1 OF 2 111B-2750-00 SHT_1_ISS 7
1 | 2 $ 3 4




ED991-5001-B3 Issue 3 1 2 ¢ 3 4
RESISTOR 300 OHM, 10W, 675-0120-00
18-32 x 2-1/2" SCREW, 210-1630-00 Bl o 10 GA
#8 FW, 212-0092-00, 2 PLC'S o4/48y B —9—9+—0—0— —s—2
8-32 KEPS, 211-0485-00, 2 PLC’S INPUT A BR 10 GA
NOTE 52 & b &
0
NOTE 103 1] 1] o} o} o} o} o} o} 1] o} o} o} o}
/ < <
O << << (@]
<< << << (@) O << << <<
O O << << << << O << << << © © << << << (@] << << << << O O
X O O O O O O O — [€e] O — O O O O O O O
e © [¢e) © — — (o) O O
— — © © © © — © © © X X © © © — © © © © — —
— — — — — — — m x x m — — — — — — —
X o | | | | | | o X
m m o (@) > O m > wn = = = = = = wn > m O > (@] o m m
SR S S S S O S A S S S S S S S S ST S G
TB3‘ ‘ TB4‘ NOTE 51
N 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12
R1
T T T ] GROUP A GROUP B ! %i
o 0 10W
DS1
K1 TB2
XK1 R —
FUSEHOLDER, HLT, 24 EA CRD
o7
vV HLT FUSE HOLDER MOUNTING 5 | oK
PLATE 208-3197-00, 4 EA | o |C
DN 5
= | FUSE
#8 LW, 212-0496-00 | = Pt | No| ALARM
| DETAIL B DETAIL € SCHEMATIC DIAGRAM ) \i
DETAIL A NOTE 102 - S G HU S
NOTES 52, 53, 55 —
BARRIER BLOCK BARRIER BLOCK
252-1502-01 252-1462-01, 2 PLC’'S BARRIER BLOCK
252-1454-01
BACK PANEL
202-4071-20 81
TB4 B3 B2 LAMPHOLDER 257-0200-00
LENS CAP, RED 256-0100-00
. r1mkﬂﬁkimk*&k+ﬂmki&rjr1ﬁkﬁ&k+ﬂﬁkﬂmkﬁﬁkﬁ&rﬂ || ||| . LAMP, INCANDESCENT 255-4000-00
ld MOUNTING BRACKET
%?%%’ 208-4050-00 2 PLC’S
NOTE 54
|
|
| . 000
77777777777777 R1
5] d
o _/ (===
777777777 T T T T T T T ™ T T T TTTYTT™A R l—l
. ) DS1
6-32 x 3/8" SEMS 6-32 x 3/8” SEMS / / E
210-1430-00, 8 PLC’S 210-1430-00, 8 PLC’S DETAIL C K1 FRONT AND SIDE PANEL
6-32 KEPS XK1 202-4070-20 PROPRIETARY INFORMATION
211-0476-00, 8 PLC’'S DETAIL B NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
DETAIL A SELAY DPDT. 24V 245084000 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SOCKET. RELAY. 2C. 2681-0010-00 SI1ZE DOC TYPE / NUMBER ISSUE
111B-2750-00 6
TOP VIEW SCALE: SHEET: FILE NAME
NONE 2 OF 2 111B-2750-00_SHT_2_ISS_6
1 2 3 4




Revision | Description PCO/ECO# | BY/DATE

3 LOGOUPDATHI 44452 WD/6-26-17

REAR VIEW SIDE VIEW

s NOTE 54
’
) _(‘\
4/ AN
| l |
—
18.38 —lo.5l 1.00 l8.75le . 8.486" DIA, 3 PLS
19.90 .
39 AMP LOAD FUSE HOLDERS
FRONT VIEW HLT ALARM FUSE HOLDERS
/ NOTES
(D) 52) FOR 24 VDC, JUMPER R1 WITH JUMPER WIRE PROVIDED.

FOR 48 vDC, LIFT JUMPER WIRE AND TAPE END.
S3) FUSE PANEL CAN BE USED ONLY ON POSITIVE GROUNDED SYSTEMS.

54) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO
ERAREEeS VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS, HOLES ARE
PROVIDED FOR BOLTING LUGGED CRBLES. INPUT LUGS ARE NOT PROVIDED
BUT MAY BE ORDERED SEPARATELY.

(@)
55) 30 AMP FUSE HOLDERS USE 13/32" X 1-1/2" FUSES. THE TOTAL PANEL
CURRENT SHOULD NOT EXCEED 400 AMPS.
SCHEMATIC DIAGRAM ALARM LAMP 56) THE RECOMMENDED ALARM FUSE IS TYPE GMT-1/2.
INPUT BUS BAR 57) OPTIONAL INPUT LUGS ARE AVAILABLE:
[e q [ > | 4/8 TO 5880 MCM P/N 253-0050-00
W/0 /_12 GA, TYP 508 TO 10@@MCM P/N 253-0060-00
: 28 GA, TYP 58) FUSE PANELS ARE DESIGNED FOR USE IN A 19" RACK. FOR MOUNTING IN A
Ds1 = 23" RACK, ORDER 2 EAR 208-4978-01 ARDAPTERS.
R
; D1 ¢ "’ € "’ S ‘P 539) WIRES ARE 28 GA STANDED UNLESS OTHERWISE NOTED.
(NOTE 52) ) 12 . TYP
JUMPER WIRE ° /_ ' FILE 111B-2753-00_ISS_3 PROPRIETARY INFORMATION
TB1 L@ o || o [.) [ [. ] [) [ [) [ ) » | TB2 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
GND FR 16 15 14 13 12 11 18 g 8 2 6 5 4 3 2 1 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
a4s48v | FUSE OUTPUTS | FUSE PANEL

16 38 AMP, HLT —-24-48 VDC
APPROVALS DATE

IDUNIPOWER  |[Eorilessl

POWERING TECHNOLOGY oo [/ /’/’;?/,([,D 111B-2753-020 3
ISAED 7 T N/A g SRI™ | of 1

? | 1) | 5 f 4 | 3 | 2 | 1



wdeakins
Text Box
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.


wdeakins
Rectangle

wdeakins
Text Box
111B-2753-00_ISS_3

wdeakins
Text Box
3

wdeakins
Text Box
2

wdeakins
Rectangle

wdeakins
Line

wdeakins
Rectangle

wdeakins
revision table

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
3

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


Revision | Description PCO/ECO# | BY/DATE
2 LOGO UPDATE 44452 WD/6-26-17
NOTE 3 NOTE 2 NOTE 4 SIDE VIEMW

REARR VIEW

™~

= T @.29 o o I

@.281 DIA, 2 PLS

18.38 1.08 65.80
19.08
INDICATING FUSE
FRONT VIEW
NOTES:
Fig] = —

T fiefori: FI2ofi3 £iforid ofl? © 1) FUSE PANEL IS RATED FOR A MAX. OF 6@A AND WILL ACCOMMODATE
) (o) (o)|(e) ( (o) (o) EIGHTEEN @-18A TYPE 7@ INDICATING FUSES. FUSES ARE NOT
== INCLUDED BUT MAY BE ORDERED SEPARATELY.

[] [] [] o o
O 2) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION

TO Wewmmmes VERTICAL BUS BAR SYSTEMS . FOR OTHER SYSTEMS, HOLES
ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.

SCHEMARTIC 3) OUTPUT LOAD WIRES CAN BE ATTACHED TO THE FUSE OUTPUT
POSTS BY WIRE WRAPPING OR SOLDERING.

INPUT BUS BARR
4) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO R SEPARATE
ALARM SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST
BY WIRE WRAPPING OR SOLDERING.
. | JUNIPOWER
o POWERING TECHNOLOGY
————— - VOLTS MODEL NUMBER FILE PROPRIETARY INFORMATION
F1 2 Fi8 111B-3000 1SS 2 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
+/— 12V TO 48V 111B-3P08-P9 e PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
LOADS
_ FUSE PANEL
BPPROVALS DATE —_
=l 18 ©@-16R TYPE 70 _
DESIGED B4 | 23-19-86 DWG NO.
F.:o@ | 12-22-80 D 1 1 1B_BZ@@— 2
TeslED == A 1 O
I 2 | !


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
111B-3000_ISS_2

wdeakins
Typewritten Text
2

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


SIDE VIEM

[ 8e%

&0

* DIA, ={
il

Revision

Description

PCO/ECO#

BY/DATE

2

LOGO UPDATE

44452

WD/6-26-17

MAIN FUSE (INSIDE), NOTE 1

FRONT VIEW

VOLTS

MODEL NUMBER

+/=~ 12V

111B-36807-01

+/— 24V

111B-3807-82

+/= 48V

111B-38807-04

FA 1

GND 2

FUSE
ALARM NO 4

NC 5

TBL

P P - P Bl 2

FAT AT TPl A7 rl— A7 rl—A0 rAi— A7 ri=—A0 ril— 17 rli—A7

LT—74d LY —74 L7—7d LY—7d LY—74d LY —74d LY—T74 LY—Yd

Fi Fa F3 F4 FS FE F? FB F9 F18 F11F12 FI13Fl4 FISFIE F17 F18

LOARDS

R

1

NOTES:

)

2)

3

4)

5)

6)

7]

ERCH DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM

FUSE. MAIN FUSES ARE TYPE NON 1-3@ AMPS. THE RECOMMENDED
TYPE 78 ALARM FUSE IS 1.3 AMPS., FUSES ARE NOT INCLUDED
BUT MAY BE ORDERED SEPARATELY.

TYPE 78 FUSEHOLDERS. USE A SINGLE FUSE TO PROVIDE LOAD

FUSING AND ALARM INDICATION. FUSES ARE AVAILABLE TO

18 AMPS MAXIMUM. FUSES ARE NOT INCLUDED BUT MAY BE

ORDERED SEPARATELY.

HAVE A WIRE RANGE OF AWG 14-2.

IF DESIRED.

AN OUTPUT PIN IS PROVIDED FOR ERCH FUSE.
ATTACHED BY EITHER WIRE-WRAPPING OR SOLDERING.

FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 19" RACK.

THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO WSS VERTICAL BUS BAR SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES.

ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.

FOR OTHER SYSTEMS,
INPUT LUGS

OUTPUT LUGS FOR CONNECTING THE LORD CABLES ARE PROVIDED AND
THESE LUGS MAY BE REMOVED

WIRES CAN BE

FOR

MOUNTING IN A 23" RACK, ORDER 2 ER 2@8-4878-82 ADAPTER

BRACKETS.

AN ALARM ASSEMBLY IS INCLUDED.

DURING A FUSE FRILURE

A FRONT PANEL RED LAMP WILL LIGHT AND RELAY K1 WILL BE

ENERGIZED.

RELAY CONTACTS ARE RATED 2 AMPS AT 26VDC,

1 AMP AT 6@VDC, AND 1.2 AMP AT 128VDC RESISTIVE. TERMINAL
"FA" ON TB1 CAN BE USED TO EXTEND THE FUSE ALARM SIGNAL
TO A SEPARATE ALARM SYSTEM.

p—

9R

FILE #

SCHEMATIC DIAGRAM

-

[ o

| ) UNIPOWER

POWERING TECHNOLOGY

111B-3007_ISS_2

APPROVALS

DATE

8-27-8B6

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
FUSE PANEL WITH ALARM
1-38 AMP NON
B.1-18 AMP TYPE 78

2
16

DRAWN PKD
Imm

B8-22-86

JoEaen MR

q4-25-80

DWG NO.

111B-3087- 2

1SSUED

N/A|

r.nl'

Lof 1l

M-I



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
111B-3007_ISS_2

wdeakins
Typewritten Text
2

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


3

REAR VIEMW

Revision | Description PCO/ECO# | BY/DATE 1
2 LOGO UPDATE 44452 WD/6-26-17
SIDE VIEW
— 1.0 6.08

iy

/B.QM" DIA, 2 PLS

T
)

18.38

MAIN FUSE (INSIDE), NOTE 1

\

19.88

FRONT VIEHM

_\—N‘JTES

|©

q

9

Fe 1©|o_F1

©

10|01

F1

LOADS

SCHEMRTIC DIRGRRAM

O

O
VOLTS MODEL NUMBER
+/- 12V T0 48V 111B-3842-00

NOTES:

1) EACH DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM
FUSE. MAIN FUSES RRE TYPE NON 61-188 AMPS. THE RECOMMENDED
TYPE 78 ALARM FUSE IS 1.3 AMPS. FUSES ARE NOT INCLUDED

BUT MAY BE ORDERED SEPRARATELY.

2) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION

TO MWW VERTICAL BUS BAR SYSTEMS.
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES.

ARE NOT PROVIDED BUT MAY BE ORDERED SEPPRATELY.

FOR OTHER SYSTEMS,
INPUT LUGS

3) OUTPUT LUGS FOR CONNECTING THE LOAD CRBLES ARE PROVIDED AND
HAVE A WIRE RANGE OF AWG 6-258MCM. THESE LUGS MAY BE REMOVED
IF DESIRED.

4) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM.
CONNECT ALARM WIRE TO FUSE ALARM POST BY WIRE WRAPPING OR

SOLDERING.

5) FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 13" RACK. FOR
MOUNTING IN A 23" RACK, ORDER 2 ER 288-4@78-@2 ADAPTER
BRACKETS.

FILE #

| ) UNIPOWER

Im PKD | 18-31-86] _
POWERING TECHNOLOGY ﬁt?ﬂi'_gzﬁwm 111B-3P42- ZWH
Jrssuen NZA] [T of 1

111B-3042_ISS_2

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

APPROVALS | DATE

FUSE PANEL

2 61-188 AMP

NON

2

1


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
111B-3042_ISS_2

wdeakins
Typewritten Text
2

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


, | . | s i . | 3

Revision | Description PCO/ECO# | BY/DATE
2 LOGO UPDATE 44452 WD/6-26-17
NOTE 3 SEE FIGURE 1 FOR SHUNT VERSION
REHR VIEH SEE FIGURE 2 FOR DETAIL NoTE 2
/— NOTE 4 /
ri i
o L 7 A | L1 s
Fl 1.58 2,84 I |
S ¥ - O

| o |
5.25 . N |
2.25 L) :

(0] O \
?—L N\ e o

8,50 -»= - 2 PLS
(0] o\ J|o 1 \
22.38 > > 1.88 6.88
23.88 - 18.08 -
FLARM FUSE _\ FRONT VIEW
. — NOTES:
Yo o] o
— 1) THE DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM
@ FUSE. MAIN FUSES ARE TYPE NON, 181 TO 288 AMPS. THE
D RECOMMENDED TYPE 78 ALARM FUSE IS 1.3 AMPS. FUSES ARE

NOT INCLUDED BUT MAY BE ORDERED SEPRRATELY,

2) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
@ @ TO WSS VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,

HOLES FRE PROVIDED FOR BOLTING LUGGED CRBLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.

- 3) A COPPER BRACKET IS PROVIDED FOR FUSE OUTPUT CONNECTIONS WHICH
| WILL ACCOMODATE UP TO FOUR, FWG 2/0@ — 1BBEMCM, ONE OR TWO HOLE
- MOUNTING LUGS. OUTPUT LUGS ARE NOT INCLUDED BUT MAY BE ORDERED

Jo o o SEPARATELY.

LY J

.Y

4) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO R SEPARATE ALARM
\_ SYSTEM. CONNECT FALARM WIRE TO FUSE ALARM FOST BY WIRE
MAIN FUSE (INSIDE), NOTE 1 WRAPPING OR SOLDERING.

5) AMMETER SHUNTS ARE NORMALLY 282 AMPS SBmV; HOWEVER, CURRENT
e 3.80 ———» RATINGS UP TO 688 AMPS MAY BE SPECIFIED. SEE FIGURE 1 FOR
SHUNT AND BUSKWORK

L la— 1,75 8.63

INPUT BUS BAR

VOLTS MODEL NUMBER SHUNT

;' SHUNT (NOTE 5) T
4 \ . -
A . " Z - +/- 12V TO 48V | 111B-3@51-80 | NO

+s= 12V TO 48V | 111B-3851-18 YES (NOTE 5)

|
4
3/

[e] _10 / | [ l 4.75
@.562" DIAR, 4 PLS . -
! D

&7 G- -

" N 175 FIE ¥ oot cones o ATt sz
-oAD 111B-3051_ISS_2 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
1 i FUSE PANEL
FUSEHOLDER DETAIL OF 1 191-200 AMP  NON
. REAR VIEW LUG ADAPTER l oy | O
SCHENARTIC DIARGRAH  FIGURE 1 FIGURE 2 UNIPOWER BEBsSiir=rw. L E
N POWERING TECHNOLOGY mjw?' fl?i‘}&{gn lllB 3851
1SSUED NAA| v 1 of 1

7 | & [ 5 f 4 [ 3 2 | 1



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
111B-3051_ISS_2

wdeakins
Typewritten Text

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


3 5 6 l 7 8 I g
Revision | Description PCO/ECO# | BY/DATE
4 LOGO UPDATE 44452 WD/6-26-17
REAR VIEW S5 PR 2 FoR oo = F::a:: s

M)TESS

/

//

S.
2.25
o

\— 8.486" DIA

2 ALs

22.38

23.08

FRONT VIEW

o]

Xe Y No) (o
1 1 0

F1
o
S
F2

o\ \ JO [*BN

\ X J \

\‘I"RIN FUSE (INSIDE), NOTE 52

f—— 3.80 ———»

10.28

NOTES:

52) EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM
FUSE. MAIN FUSES ARE TYPE NON, 121 TO 200 AMPS. THE
7@ ALARM FUSE IS 1.3 AMPS. FUSES ARE
MAY BE ORDERED SEPARATELY.

§

INCLUDED

3 8
3
e

BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO NN VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.

54) A COPPER BRACKET IS PROVIDED FOR FUSE OUTPUT CONNECTIONS WHICH
HWILL ACCOMODATE UP TO FOUR, AWG 20 — 1888MCM, ONE OR TWO HOLE
MOUNTING LUGS. OUTPUT LUGS ARE NOT INCLLUIDED BUT MAY BE ORDERED
SEPARATELY.

ssammmsrmmxmmnmm

56) AMMETER SHUNTS ARE NORMALLY 280 AMPS 5BmV; HOWEVER, CLRRENT
RATINGS UP TO 68@ AMPS MAY BE SPECIFIED. SEE FIGURE | FOR
SHUNT AND BUSWORK.

57) THE STANDARD RATELCO PAINT COLOR IS BEIGE, INDICATED BY PART

INFUT BUS BAR } T'_l'?s 8.83 MUMBER EXTENT -XX. AN "A" AODED TO THE PRART NUMBER EXTENT,
e ] INDICATES ANSI 61 GRAY FINISH. I.E. 1B2B-X000(-XXA.
SD,HD DRAWING NUMBERS WILL NOT REFLECT THE "R* EXTENT.
— r=" )
A o _ SHUNT (NOTE 56) -+
: Q@) S L
2 : 2 ' —12!_ __’_ O _/ | | 4.7% e FILE= 111B-3053_ISS 4
1 e II @.562" DIA, 4 PLS
= & - EP 4= 12V TO 48V | 111B-3053-28 | NO
LoADS - +s- 12v T0 48V | 1118-3053-18 | vEs (voTE B
7 1 UNIPOWER
FUSEHOLDER DETAIL OF
VIEW LUG RADRPTER POWERING TECHNOLOGY
SCHEMATIC DIAGRAM FIGURE 1 FIGURE 2
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
FUSE PANEL
2 181-2080 AMP  NON
SIZE | STD RATING DWG NO. ISSUE]
B STANDARD 111B-3053~ |4
SCALE DISTRIBUTION COEESR SHEET 1 of 1
2 1 | 2 | 3 5 5 | ? | 8 | 3


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
FILE= 111B-3053_ISS_4

wdeakins
Typewritten Text
4

wdeakins
revision table

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


3 [ ™ 11iB-3ese-["1[" | |

1

NOTE 3

SEE FIGURE 2 FOR DETAIL:
NOTE 4 —\ \

REAR VIEW

SEE FIGURE 1 FOR SHUNT VERSION
/ /— NOTE 2

Revision | Description

PCO/ECO# | BY/DATE

2 LOGO UPDATE

44452 WD/6-26-17

SIDE VIEMW

77

/— 8.486" DIA, 4 PLS

&)
1
11 [0

18.38

19.80

—| 1.00 = 6.088

ALARM FUSE
FRONT VIEMW //_mmmsmnm,m

/

-

©

I

/@

F1

f———— 3.00 ———»

~ 9.08 -

NOTES:

1) THE DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM
FUSE. MRIN FUSES ARE TYPE LKN, 61 TO 48@ AMPS. THE
RECOMMENDED TYPE 78 RLARM FUSE IS 1.3 AMPS. FUSES ARE
NOT INCLUDED BUT MAY BE ORDERED SEPARATELY.

2) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
FOR OTHER SYSTEMS,

TO mEmEEEs VERTICAL BUS BAR SYSTEMS.

HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES.

ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.

INPUT LUGS

3) A COPPER BRACKET 1S PROVIDED FOR FUSE OUTPUT CONNECTIONS WHICH
WILL ACCOMODATE UP TO FOUR, AWG 2/@0 — 10@8MCM, ONE OR TWO HOLE
MOUNTING LUGS. OUTPUT LUGS ARE NOT INCLUDED BUT MAY BE ORDERED

SEPARATELY.

4) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM
SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST BY WIRE

WRAPPING OR SOLDERING.

5) FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 18" RACK.
MOUNTING IN A 23" RACK, ORDER 2 ER 208-4870-02 RDAPTER

FOR

la— 1,75 —sja—m a.ss/— @.562" DIA, 4 PLS BRACKETS..
SHUNT (NOTE 6) / 6) AMMETER SHUNTS ARE NORMALLY 488 AMPS S5@mV; HOWEVER, CURRENT
f RATINGS UP TO 682 AMPS MAY BE SPECIFIED. SEE FIGURE 1 FOR
INPUT BUS BFR /NOTEE ™ r{ SHUNT AND BUSKORK.
———10 | // N o~ T
o
N - . 2.00 VOLTS MODEL NUMBER SHUNT
-
FR ©— 4 © ! | l 4.75 +/= 12V _TO 48V 111B-3056-08 NO
BH A /\ MM +/- 12V T0 48V _| 111B-3956-10 YES (NOTE 6)
> :T \J/ \J/ 1
F2 1.75 FILE # PROPRIETARY INFORMATION
. |o ‘ ) l 111B-3056 1SS 2 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
F1 | . PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
LoAD | FUSEHOLDER FUSE PANEL
REAR VIEW DETRIL O — 1 61 — 4880 AMP LKN
LUG ADAPTER l RN PKD [11-17-86
GND  BW [11-14-86/F= | DWG NO. _ _ 1%
SCHEMATIC DIAGRAF FIGURE 1 FIGURE 2 UNIPOWER Alrfez7D 1153056 |2
|1s50ED N/Hf;ﬂﬁ“ 1 of 1
I 7 ] T ] 4 I 3 | 2 i | 1



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
111B-3056_ISS_2

wdeakins
Typewritten Text
2

wdeakins
revision table

wdeakins
Typewritten Text
2

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


3

- [~

0.44 —m rd—

REAR VIEW

@.51 —w

r-—

Revision

Description PCO/ECO# | BY/DATE

LOGO UPDATE. 44452 WD/6-26-17

SIDE VIEW

Rl b1

oDl

Nhn AN MDD MO M

5 W= ==Y N

i

ololelelelolelele
EiEiEiEEEE

Q gﬁoUeﬂoUoUQHmoL

Q

Jﬁo

19/|0/|Q[Q[Q Q@

=|®] @/@/u S A S — = I _
25.00 i
FRONT VIEW //H_:;Ems
o' “ e
A
N\

SCHEMATIC DIAGRAM

INFUT BUS BRR

Wa N 12 @A, TP
DSt
;
Rl
(NOTE 52) 4 ¢ ‘1 ‘i ¢ ¢ "P ‘T "r "I ¢ ¢ ‘I
JRFER HIRE c, /12 &, TP
TB1 |- r [ T & & [ 3 3 3 b ] TR
18 17 18 15 14 13 12 11 18 8 [ 6 2 1
FUSE OUTPUTS ]

Ja.?s - 8.426" DIR, 3 PLS =
be 7.50
ENGINEERING NOTES:

s2)

33)

54)

55)

56)
57

FOR 24 VOLT DC, JUMPER Rl WITH JUMPER WIRE PROVIDED.
FOR 48 VOLT DC, LIFT JUMPER WIRE AND TAPE END.

DIODE SHOWN FOR POSITIVE GROUND SYSTEM. FOR NEGATIVE GROUND
SYSTEM REVERSE DIODE.
THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO
NN VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS, HOLES ARE
PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS ARE NOT PROVIDED
BUT MAY BE ORDERED SEPARATELY:

4/8 TO SB@ MCH P/N 253-2858-28

588 TO 1228MCM P/N 253-0062-2@

38 AP FUSE HOLDERS USE 13-32° X 1-1-/2" FUSES eg BUSSMAN EFF.
THE TOTAL PAMEL CURRENT SHOULD NOT EXCEED 488 AMPS.

THE RECOMMENDED ALARM FUSE IS TYPE GMT-1.-2, P-N 288-2702-08.
WIRES ARE 2@ GA STRANDED UMNLESS OTHERMWISE NOTED.

| JUNIPOWER

POWERING TECHNOLOGY

FILE PROPRIETARY INFORMATION
J111B-2751-00_ISS_3

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

FUSE PANEL
20 POSITION 38 AMP BAF & GMT

APPROVALS DATE
e SN [11-38-87 | +/— 2448 VDC )
[ESIGED  JB |11-38-87 |5 | DWG NO, _ 5
CEOED MR [32-@4-88 D J-111B-2751-28@
— [ NAEEE R_I'™ 1 of 1

| 2 | 1


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
revision table

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Typewritten Text
J111B-2751-00_ISS_3

wdeakins
Typewritten Text
3

wdeakins
Typewritten Text
3

wdeakins
Typewritten Text
LOGO UPDATE.

wdeakins
Typewritten Text

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17

wdeakins
UNIPOWER-LOGO


5 6 I ? 8 l g
Revision | Description PCO/ECO# | BY/DATE
5 LOGO UPDATE 44452 | WD/6-26-17
A REAR VIEW NOTE 54 or
E 53 5
/- NOTE 55 / Q'f:’
o — B / / O i
— ﬂ o] !
! 2.84
3.00 -
3.50 L |
| —1-(2 i
B ]
- = —
1.88 6.09 -
22.38
- 23.08 — ]
ALARM FUSE FRONT VIEW
MAIN FUSE (INSIDE), NOTE 52
c N\ _
(-] O
© ©
~ .‘—--...\
— N [ 2 ° J O, NOTES:
© J@ 52) EACH DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM
o - o FUSE. MAIN FUSES ARE TYPE NON 61-189 AMPS. THE RECOMMENDED
— TYPE 7@ ALARM FUSE IS 1.3 AMPS. FUSES ARE NOT INCLUDED
D BUT MAY BE ORDERED SEPARATELY.
NOTE 2 . §3) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
——S5HUNT NOTE 5 TO WWWmmeS VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CRBLES. INPUT LUGS
— < 1 T © ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.
|
|
| 54) OUTPUT LUGS FOR CONNECTING THE LOAD CABLES RRE PROVIDED AND
‘ HAVE A WIRE RANGE OF AWG 6-25BMCM. THESE LUGS MAY BE REMOVED
! IF DESIRED.
E } ._./ _|
, 55) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARRTE ALARM
' - SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST BY WIRE
: —— WRAPPING OR SOLDERING.
— SCHEMATIC DIAGRAMS 56) RMMETER SHUNTS ARE NORMALLY 280 AMPS S@mV; HOWEVER,
INPUT BUS BAR INFPUT BUS BAR CURRENT RATINGS UP TO EEBR AMPS MRY BE SPECIFIED. SEE
REFR VIEW WITH SHUNT FOR DETAILS.
) Q Lo o |
57) THE STANDARD RATELCO PRINT COLOR IS BEIGE, INDICATED BY
F t—o PART NUMBER EXTENT —-XX. AN "R* RDDED TO THE PART NUMBER
R1 SRz . EXTENT, INDICATES ANSI 61 GRAY FINISH. I.E. 182B-XXXX—XXA.
— o | SO, WD DRAWING NUMBERS WILL NOT REFLECT THE *RA" EXTENT.
[ L 4 | FILE: J111B-3046_ISS_5
—_— | -0 o FR
‘! VOLTS MODEL NUMBER SHUNT
-i +/= 12V TO 48V 1115—3345-—53- NO U N I P WER
|+~ 12v t048v | 11ip-3e46-10 | YES (WOTE 5) POWERING TECHNOLOGY
G Fl Fe F1 F2 w
LOADS LOADS R
 1B-3096-10 111B-3245-02 PROPRIETARY INFORMATION
]I : NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
FUSE PANEL
pa 61-100 AMP NON
H _ b
SIZE | STD RATING DWG NO. ISSUE]
B STANDRRD J-111B-3@46- 5
SCALE DISTRIBUTIOI"g’l"{IUE SHEET 1 of 1
@ 1 2 3 4 5 l [ | 7 B

l



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
5

wdeakins
Typewritten Text
FILE: J111B-3046_ISS_5

wdeakins
Typewritten Text

wdeakins
revision table

wdeakins
Typewritten Text
5

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


ED991-5001-B1 Issue 3 1 2 ¢ 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES MANUFACTURING NOTES ¢ =
: : 8 | SEE PCO# 44452 WD
6-26-17
51. STANDARD WIRING IS FOR 48 VDC. FOR 24 VDC, REMOVE SLEEVING 101. ALL WIRING IS 20 GA, UNLESS OTHERWISE SPECIFIED.
FROM JUMPER WIRE, SHORT ACROSS R1 AS SHOWN AND SOLDER BACK.
TO CONVERT FROM 24 VDC TO 48 VDC, LIFT JUMPER WIRE AND TAPE END. 102. LOOP RESISTOR LEAD AS SHOWN, SOLDER WIRE TO LOOP.
52. FUSE PANEL CAN BE USED ON POSITIVE OR NEGATIVE GOUNDED SYSTEMS. 103. SHEATH LUG ON FREE END OF JUMPER AND TIE WRAP TO WIRE BUNDLE.
53. INPUTS A AND B MUST BE SUPPLIED FROM A COMMON SOURCE, 30A MAXIMUM
PER SECTION.
54. MOUNTING BRACKETS ARE ADJUSTABLE FOR 19” OR 23" RACKS AND SEVERAL
PANEL OFFSET DISTANCES.
55. RELAY CONTACTS ARE RATED 2 AMP RESISTIVE AT 12—24 VDC, 1 AMP AT
48 VDC AND 0.5 AMP AT 120 VDC.
56. PAINT COLOR IS ANSI 61 GRAY.
57. ORDER FUSES FROM TABLE A.
58. UL RECOGNIZED, FILE E96099.
SPEGIIED DIMENSIONS APPROVALS DATE
ARE_IN_INCHES DRAWN
+ TOLERANCES ON: SMW 8/28/85
HOLES +0.004  FeRECKED
—0.002 BW 8/28/85
FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020
TABLE A DECIMALS (XXX) +0.010 APPROVED
P ANGLES +1/2
TYPE "GMT" FUSES SQUARE CORNERS AND ANGLES ARE 90" UNLESS OTHERWISE SPECIFIED.
AMPS | PART NUMBER RS 032
0.5 280-0700-00 MATERIAL:
1.33 280—0715—00
2 280-0735—00 FINISH:
3 280—0760—00
5 280—0740—00 PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
DUMMY | 276—0002—00 l
SHEET INDEX NOTE: POWERING TECHNOLOGY
THE ISSUE OF SHEET 1 REFLECTS THE LATEST ISSUE
OF THE DRAWING SET. WHEN THE DRAWING SET IS FUSE PANEL
SHEET INDEX
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS ol 1215 24 GMT, 24 /48 VDC,
ARE CHANGED, THE ISSUE NUMBERS OF UNMODIFIED SHEETS 60A MAX
ARE NOT CHANGED. ISSUE 18|72 SIZE DOC TYPE / NUMBER ISSUE
B PN 111-2750-00 8
SCALE: SHEET: FILE NAME:
N/A 1 OF 3 PN111—-2750—00_SHT_1_ISS_8
1 2 f 3 4




REAR VIEW

ED991-5001-B3 Issue 3 2 ¢ 3 4
NOMENCLATURE LABEL, 225-3094-09 0.25” x 0.50" OBR
4 PLS
rO. 235

6 **** 77777777 l{ 7777777 @ GROP & @ @ Garse ® 00— | © @ C ’/ﬁ‘ (@) o © B‘
: T ) ! ! !
} @;:: ::;b o (:) ! 1. 25 1.72 [::} } ::
o TR Te ®e 1 ® ®e R~ = —— i | @) ol o 5

17. 00 5. 38

18. 38 6. 92

19. 00 7.82

22. 38 SIDE VIEW

23. 00

FRONT VIEW

b 7777777777 Cj
| |
o ole e et T amew @@ -

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER
PN  111-2/50-00

ISSUE
/

SCALE:
NONE

SHEET:
2 OF 3

FILE NAME:

PN111-2750-00_SHT_2_I1SS_7

4




ED991-5001-B3 Issue 3

RESISTOR 300 OHM, 10W, 675-0120-01
18-32 x 2-1/2" SCREW, 210-1630-00 Bl ok 10 GA
#8 FW, 212-0092-00, 2 PLC'S 24/48v B e
8-32 KEPS, 211-0485-00, 2 PLC’S INPUT A | .| BR 10 GA
NOTE 52 ooho Lo
0
NOTE 103 e CcC
/ << <<
(@} << << (@)
<< << << (&4 (@) << << <<
O (@) << << << << O << << << <o) © << << << (@) << << << << O (@)
YEXIKIRRX @@oooo@ooo~£ gaooo@oooo@@
— — © © «Q © — O © O X X O © O — © © © © ~— —
— ~— — — — — — m o [\ a8} — — — — ~— — ~—
X [a —J | | | | —J [h'e X
[a0] m v (@} > O o > %0} = = = = = = %0} > m o > (@) [as 28] m
A S S S S GRS S S S G A !
TB3‘ ‘ 754‘ ‘ NOTE 51
AN 1 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 ¢
R1
[T T 11T 1] GROUP A GROUP B )
0 0 10W
DS1
K1 TB2
XK1 R (%) —
FUSEHOLDER, HLT, 24 EA GRD
7
HLT FUSE HOLDER MOUNTING
PLATE 208-3197-00, 4 EA c
FUSE
#8 LW, 212-0496-00 NOJ ALARM
| DETAIL B DETAIL ¢ SCHEMATIC DIAGRAM
DETAIL A NOTE 102 NC
NOTES 52, 53, 55 —
BARRIER BLOCK BARRIER BLOCK
252-1502-01 252-1462-01, 2 PLC'S BARRIER BLOCK
252-1454-01
BACK PANEL
202-4071-20 81
TB4 B3 B2 LAMPHOLDER 257-0200-00
LENS CAP, RED 256-0100-00
LAMP, INCANDESCENT 255-4000-00
MOUNTING BRACKET
%?%?’ 208-4050-00 2 PLC’ S
NOTE 54
f |
‘ ‘ 1. 00
— - S S
77777777777 B R1 o
d b 1. 75
R / == L
M T T T TTT T (MM TTTTTYTT™A N l—}
- . DS1
6-32 x 3/8" SEMS 6-32 x 3/8" SEMS
210-1430-00, 8 PLC’S 210-1430-00, 8 PLC’S DETAIL C K1 FRONT AND SIDE PANEL
6-32 KEPS XK1 202-4070-20
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
DETAIL A RELAY DPDT, 24V, 245-0640-00 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SOCKET, RELAY, 2C, 261-0010-00 SIZE DOC TYPE / NUMBER ISSUE
M% PN 111-2750-00 2
TOP VIEW SCALE: SHEET: FILE NAME:
NONE 3 OF 3 PN111-2750-00_SHT_3_ISS_2

4




v

ED991-5001-B1 Issue 3 1 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES: MANUFACTURING NOTES: / 5 DA
4 | SEE PCO# 44452 WD
6-26-17
51. FUSE PANEL CAN BE USED ON POSITIVE OR NEGATIVE GROUNDED SYSTEMS. 101. ALL WIRING IS 20 GA, UNLESS OTHERWISE SPECIFIED.
52. INPUTS A AND B MUST BE SUPPLIED FROM A COMMON SOURCE, 30A MAXIMUM fOZ>PLACE "12” LABEL AS SHOWN, P/N 225-5010-00.
PER SECTION.
53. MOUNTING BRACKETS ARE ADJUSTABLE FOR 19" OR 23" RACKS AND SEVERAL
PANEL OFFSET DISTANCES.
54. RELAY CONTACTS ARE RATED 2 AMP RESISTIVE AT 12—24 VDC, 1 AMP AT
48 VDC AND 0.5 AMP AT 120 VDC.
55. PAINT COLOR IS ANSI 61 GRAY.
56. ORDER FUSES FROM TABLE A.
sggﬁgﬁ‘%ﬁgﬁﬁgﬁs APPROVALS DATE
+  TOLERANCES ON: DSRK:VV&N 8 /28 /85
HOLES +0.004  "epEcKED
=0.002 | gw 8/28/85
FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020 BW 9/5/85
TABLE A DECIMALS (XXX) +0.010 APPROVED
TYPE "GMT” FUSES ANGLES /27 |
SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
WORKMANSHIP:
AMPS PART NUMBER WORKMANSHIP:
0.5 280—0700—00 MATERIAL:
1.33 280—-0715-00
2 280—-0735—-00 FINISH:
3 280—0760—00
5 280—0740-00 PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
DUMMY | 276—0002—00 I
SHEET INDEX NOTE: UN" 0 V V ER
POWERING TECHNOLOGY
THE ISSUE OF SHEET 1 REFLECTS THE LATEST ISSUE
OF THE DRAWING SET. WHEN THE DRAWING SET IS .
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS SHEET INDEX FUSE PANEL:
ARE CHANGED, THE ISSUE NUMBERS OF UNMODIFIED SHEETS SHNOJ1[2]3 24 GMT, 12 VDC
ARE NOT CHANGED. ISSUE |4(2]2 SIZE DOC TYPE / NUMBER ISSUE
B PN 111-2750-05 4
SCALE: SHEET: FILE NAME:
N/A 1 OF 3 |PN111-2750—05_SHT_1_ISS_4

A




ED991-5001-B3 Issue 3 2 3 4
NOMENCLATURE LABEL, 225-3094-09 0.25" x 0.50”
4 PLS
ro. 235
b /s ® ® wws ® 0000 | o (ﬂj’—‘* ‘ _/i‘ (@) 0 O B‘
I N o | 1.25 1.72 E\ j
@777777 e @12 1 @ @12 { ‘ ‘ (@)‘ O B
17. 00 5. 38
18. 38 6.
19. 00 7.82
22. 38
SIDE VIEW
23.00
FRONT VIEW
© )
| o9 |
(> 2w @O )
REAR VIEW /
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
m PN 111-2750-05 2
SCALE: SHEET: FILE NAME:
NONE 2 OF 3 |PN111-2750-05_SHT_2_ISS_2
2 3 4




ED981-5001-B3 Issue 3

TB1
5 BK 10 GA
12v .
NOTE 51 Lol L L Lo 4 L4
0
YT Y YT Y T Y Y SN Y . AN
O << << (@)
<< << << O O << << <<
(@) (@) << << << <C (@) << << << © © << << << (@) << << << << (@) (@]
O O O O (@] O O — © © — O (@) O O O O O
© © © — — © © ©
— — © © © © — © © © X X © © © — © © © © — —
—| = =] = —| —=| —| m o x|l m| —| —| — —| = =] =
X o — | | | | — o X
m m o o > O m > wn = = = = = = [%2] > m O > (@] o m m
. R TR .
e 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12
GROUP A GROUP B
o 0
K1 ST
FUSEHOLDER, HLT, XK1 =
275-0400-00, 24 EA R : o | GRD
HLT FUSE HOLDER MOUNTING SCHEMATIC DIAGRAM s
PLATE 208-3197-00, 4 EA NOTES 51, 52, 54 sk |, |,
DETAIL A | ® FUSE
1 el9  BL L. No| ALARM
! NC
BARRIER BLOCK BARRIER BLOCK
252-1502-01 252-1462-01, 2 PLC'S BARRIER BLOCK
252-1454-00
BACK PANEL
202-4071-20 81
TB4 B3 782 LAMPHOLDER 257-0200-00
LENS CAP, RED 256-0100-00
LAMP, INCANDESCENT 255-3900-00
MOUNTING BRACKET
%?%?’ 208-4050-00 2 PLC’ S
NOTE 53
| eyl ——— gyt ey — | Jl. OO
g 1.75
R A | E—
[T T T T T T T T o] S D |

6-32 x 3/8” SEMS

6-32 x 3/8" SEMS

4////DETAIL A#////

210-1430-00, 8 PLC'S 210-1430-00, 8 PLC’ S FRONT AND SIDE PANEL
6-32 KEFS XK1 202-4070-20
211-0476-00, 8 PLC S
PROPRIETARY INFORMATION
RELAY DPDT, 12V, 245-0550-00 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
SOCKET, RELAY, 2C, 261-0010-00 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE]%H% DOC TYPE / NUMBER ISSUE
TOP VIEW PN 111-2750-05 2
SCALE: SHEET: FILE NAME:
NONE 3 OF 3 PN111-2750-05_SHT_3_ISS_2
1 3 4




ED991-5001-B1 Issue 3 1 2 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
# ISS. DATE
3 | SEE PCO# 44452 WD
ENGINEERING NOTES: MANUFACTURING NOTES: 6-26-17
51. FUSE PANEL CAN BE USED ON POSITIVE OR NEGATIVE GROUNDED SYSTEMS. 101. ALL WIRING IS 20 GA, UNLESS OTHERWISE SPECIFIED.
52. INPUTS A AND B MUST BE SUPPLIED FROM A COMMON SOURCE, 30A MAXIMUM fOZ>PLACE "5” LABEL AS SHOWN, P/N 225-5010-00.
PER SECTION.
53. MOUNTING BRACKETS ARE ADJUSTABLE FOR 19" OR 23" RACKS AND SEVERAL
PANEL OFFSET DISTANCES.
54. RELAY CONTACTS ARE RATED 2 AMP RESISTIVE AT 5-24 VDC, 1 AMP AT
48 VDC AND 0.5 AMP AT 120 VDC.
55. PAINT COLOR IS ANSI 61 GRAY.
56. ORDER FUSES FROM TABLE A.
TABLE A UNLESS OTHERWISE APPROVALS DATE
TYPE "GMT” FUSES SPE e NONGHES AW
+  TOLERANCES ON: MRB 1/16/95
AMPS PART NUMBER HoLES +0.004  [cHECKED
0.5 280-0700—-00 — ;?-%022 PKD 1/16/95
/ APPROVED
1.33 280—0715—-00 DECINALS (XX) £0.020
DECIMALS (XXX) £0.010 APPROVED
2 280—-0735-00 ANGLES +1/2°
3 280—-0760—-00 SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWSE SPECIFIED.
WORKMANSHIP:
5 280—0740—00 PER SPEC ENGO32
MATERIAL:
DUMMY | 276—0002—00
FINISH:
SHEET INDEX NOTE: PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
THE ISSUE OF SHEET 1 REFLECTS THE LATEST ISSUE PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
OF THE DRAWING SET. WHEN THE DRAWING SET IS
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS
ARE CHANGED., THE ISSUE NUMBERS OF UNMODIFIED SHEETS UNIPOWER
ARE NOT CHANGED. \
POWERING TECHNOLOGY
SHEET INDEX
sHNOl1]2]3 FUSE PANEL:
issue [3]2]2 24 GMT, 5 VDC
SIZE DOC TYPE / NUMBER ISSUE
B PN 111-2750-07 3
SCALE: SHEET: FILE NAME:
N/A 1 OF 3 |PN111-2750-07_SHT_1_ISS_3
1 2 A 3 4




ED991-5001-83 Issue 3 1 2 ¢ 3 4

NOMENCLATURE LABEL, 225-3094-09 0.25” x 0.50" OBR
4 PLS
7777777777777777 rO. 235

@ e 1 7777777 A ©) GROUP A ® ® GROUP B ® d—F _/45! C@! 0 O 3‘
x S - o O ks g | B
@ 777777 = el : @ @ 2 1 @ @ 12 AFLLASREM 777777 QiJ i (@)i (D O B

17. 00 5. 38

18. 38 6. 92

19. 00 7.82

2o 38 SIDE VIEW

23. 00

FRONT VIEW

REAR VIEW /
102>

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
]MH% PN 111-2750-07 2

SCALE: SHEET: FILE NAME:

NONE 2 OF 3 |PN111-2750-07_SHT_2_ISS_2

1 2 ? 3 4



*v 3

ED991-5001-B3 Issue 3 1 4
B1
B BK 10 GA S -
S5V v
INPUT  A| .| BR 10 GA
NOTE 51
0
<< <<
@] << << O
<< << << [©] & << << <<
o) O << << << <C [©) << <C << © © << <C << |©) <C << << << [©] (@)
&) (@) &) [©) O [©] @) ~— © © ~ & (@) &) (@] (@) (&) @)
©O| © O ~ — © ©O| ©
~— — © (o] © «© — © © © X X © © © ! «© © «© © — ~—
— — — — ~— — ~— m o' X m — ~— — — ~— — ~—
X o _ | | | | | o' X
m m o' O > &) m > 0p] = = = = = = 2] > m (@] > O o' m m
T B 3 L] J L] L] ® L] ® L] ® L] ® L] T B 4 L] ° L] L] L L] J J J o J L]
“““M‘\ 1 2 3 4 5 6 7 8 9 1011 12 1 2 3 4 5 6 7 8 9 10 11 12
GROUP A GROUP B
0 0
K1 DS1 -
FUSEHOLDER, HLT, YK . e
275-0400-00, 24 EA e e | GRD
HLT FUSE HOLDER MOUNTING SCHEMATIC DIAGRAM o
PLATE 208-3197-00, 4 EA
NOTES 51, 52, 54 BK o |
| 5
DETAIL A | @ FUSE
| o2 BL__| .| No| ALARM
\.8 Y e | NC

BARRIER BLOCK

BARRIER BLOCK

6-32 x 3/8” SEMS

210-1430-00,

211-0476-00,

RED 256-0100-00
INCANDESCENT 255-3800-00

S

252-1502-01 252-1462-01, 2 PLC S BARRIER BLOCK
252-1454-01
BACK PANEL
202-4071-20 181
B4 TB3 B2 LAMPHOLDER 257-0200-00
o | i | LAMP,
MOUNTING BRACKET
%% 208-4050-00 2 PLC’
NOTE 53
:’,’,::::1:::14 ,,,,,,,, :Jl OO
4|8
i / ) '!_L!‘ y
LT T T T T TT T [ T T T T Ty T ™ l—l
i DS1
\ 6-32 x 3/8”7 SEMS
6-32 KEPS VK1 a .
8 PLC’ S 202-4070-20

VIEW

RELAY DPDT, 3V, 245-0276-00
SOCKET, RELAY, 2C, 261-0010-00

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
M% PN  111-2750-07/ 2

SCALE: SHEET: FILE NAME:

NONE 3 OF 3 |PN111-2750-07_SHT_3_ISS_2

4




v

ED991-5001—-B1 Issue 3 1 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES: MANUFACTURING NOTES: # ISS. DATE
3 | SEE PCO# 44452 WD
51.  UNASSIGNED 101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH 3/8"—16 x 6/26/17
3/4" BOLTS, P/N 210—8128—00.
52. EACH DEADFRONT FUSE HOLDER REQUIRES ONE MAIN AND ONE ALARM
FUSE. MAIN FUSES ARE TYPE NON OR TYPE TPN 0-30 AMPS. THE 102. PROPER BUS BAR ARRANGEMENT IS CRITICAL, SEE FIGURE BT,
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT SHEET 3.
INCLUDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING
ED991—0009—00. 103. PUT SUPPLIED OUTPUT LUGS ANDFUSE HOLDER DESIGNATION TAGS IN
A BAG AND TIE WRAP TO THE INPUT BUS BAR.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO VERTICAL BUS BAR SYSTEM AND IS RATED FOR 400 AMPS 104. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.
MAX. FOR OTHER SYSTEMS HOLES ARE PROVIDED FOR BOLTING LUGGED
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED 105. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO ALL
SEPARATELY PER EQUIPMENT DRAWING ED991—0002—00. JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANUFACTURER'S
INSTRUCTIONS.
54. LUGS FOR OUTPUT CPNNECTION MAY BE ATTACHED DIRECTLY TO FUSE— 106. INSTALL DUMMY FUSE P/N 276—0001—00 IN ALARM FUSE HOLDERS
HOLDER STUDS. STUDS ARE 1/4"—20, WITH HARDWARE PROVIDED. LUGS ON XF1—6.
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT
DRAWING ED991—
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM.
CONNECT THE ALARM LEAD TO THE "FA+OUT” TERMINAL, IN NEGATIVE TABLE A
SYSTEMS. FUSE ALARM SIGNALS CONNECT "BAT” TO THE ALARM PART NUMBER VOLTAGE E/W SHUNT | E/W FA BOARD | FIGURES
CONNECTION WHEN A FUSE CLEARS. 111-3012—13 124 NO YES c2
111-3012—14 | —48 or +£130 YES YES C1
56. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT (UNLESS OTHERWSE APPROVALS DATE
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. L ANE N NCHES R oo /03
+0.004
57. PAINT COLOR IS ANSI 61 GRAY. HOLES —0.002 | CHECKED
FRACTIONS +1/32 APPROVED
58. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER e 2023 —1 PKD 9/21/93
. APPROVED
WIRE SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE LES T/
SUPPORTS. SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
WORKMANSHIP:
59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE ;ii;f’ff ENCO32
NUMBER, SHEET 4. '
60. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. UNITS NOT FINISH:
EQUIPPED WITH A FUSE ALARM ASSEMBLY DO NOT HAVE Al.
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SHEET INDEX NOTE: : UNIPOWER
THE ISSUE OF SHEET REFLECTS THE LATEST ISSUE POWERING TECHNOLOGGY
OF THE DRAWING SET. WHEN THE DRAWING SET IS FUSE PANEL
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS SHEET INDEX 6. 0—30 AMP
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS SHNOl1l2]3]4 ’
ARE NOT CHANGED. NON/TPN
ISSUE |3]2]2]2 SIZE DOC TYPE / NUMBER ISSUE
B PN 111-3012 3
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 PN111—3012_SHT_1_ISS_3
1 f 3 4




ED991-5001-B3 Issue 3 3 4
L ABEL HOLDER\
\‘ —
| I I I I I | 1. 500"
( ( ( ) L
- ® | (2 E P [a] L 3. 780"
o) 0. 406 DIA.,
iy , w e e 2 PLACES
[F1] [F2] [F3] [F4] [F5] [F6] 0O 2. 250 1169 e = -
w@| °
o % = .
- . | = L, ~_ | | b o
A AN | | | | i
| Il I I I I 2. 290 —
¢ @ NOTE 53
L—
\ \ 18. 380" 6. 000" 1. 000"
19. 000" 7.625"
\ \ALARM FUSE (NOTES 52, 108)
MAIN FUSE ( INSIDE), (NOTE 52)
FRONT VIEW RIGHT SIDE VIEW
SHUNT (NOTE 56)
NOTE 55 C / C
/\ [F8] [F5] [F4] + [F3] [F2] [F1]
S D D S
IE%% @ @ ® .
S | E —— | e
S ] e S
)‘ I‘L ’ ‘L
' °
B B PROPRIETARY INFORMATION
1 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
DETAIL D SIZE DOC TYPE / NUMBER ISSUE
jlm PN 111-3012 2
REAR VIEW SCALE: SHEET: FILE NAME:
NONE 2 OF 4 PN111-3012_SHT_2_ISS_2
1 | 2 ? 3 4




ED991-5001-B3 Issue 3 1 2 ¢ 3 4
/ /@NOTE 103 @NOTE 106
/ — Jiuig
L I | gg
7 >
® (D) ﬂ
Y=
FA =
[F5] [F6] o @ =®
® (D)
NOTE POSITION OF UNUSED HOLES.
| \
/
/ FIGURE B1 FIGURE C1
WITH FA ASSEMBLY AND SHUNT (-14) WITH SHUNT (-14)
FIGURE Al SECTION B-B SECTION C—C
WITH FA ASSEMBLY (NOTE 102) (NOTES 56, 102)
° ]
T0 AMMETER[ \ \
j R1 |
e} BAT o—1-o . — — — —
o NOTES 56,60 | — 1 @ — — — — — —
= 2 B . S
ismd vo | -
e e | c (m| ||
i ne M| | N7 USEP F1 F7 F6 F12
] | —
(ol
i | —out | Bl|— |TO ALARM SYSTEM, +GRD SYSTEMS \ |
Lol F
& < sour |I|— TO ALARM SYSTEM, -GRD SYSTEMS
O | Lin | | LOAD ( OUTPUT)
| [ 24v | M|— |TO GRD, 24V SYSTEMS 20GA. BUS WIRE
© v |H|— 'TO GRD, 48V SYSTEMS
| | T1s0v |M|— |70 crO, 130V SYSTEWS
L | A1 \
ALARM BOARD
FIGURE CZ2 FIGURE D1 ‘L301N5$§66%*00J‘ FIGURE E1 PROPRIETARY INFORMATION
_ WITH FA ASSEMBLY e NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
WITHOUT SHUNT ( 13) PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SECTION C-C DETAIL D SCHEMATIC DIAGRAM
SIZE DOC TYPE / NUMBER ISSUE
]Im PN 111-3012 2
SCALE: SHEET: FILE NAME:
NONE 3 OF 4 PN111-3012_SHT_3_ISS_2

4




EDY91-5001-B3 Issue 3

CALLOUT TABLE 111-3012-

L INE QUANTITY QUANTITY
4 NOTES DESCRIPTION PART NUMBERS 13 14
1 SLEEVING, TEFLON TW, CLR, #8 032-0110-00 247 24”7

WIRE, BUS: 20 GA TINNED 050-6250-00 247 24"
FUSE PANEL: 6 30/60A 19" E/W ALARM 202-7010-01 1 1
BKT: CONNECTOR BKT, 10 POSITION 208-5152-00 1 1
5 BKT: FRONT ACCESS BKT, FA BOARD, SS 208-5152-10 1 1
BUS BAR: FUSE PANEL, 6 30/60A 197 209-4200-21 - 1
BUS BAR: FUSE TO SHUNT, 8 30/60A 209-4261-00 - 1
BUS BAR: FUSE PANEL, INPUT TO SHUNT 8 30/60A 209-4262-00 - 1
BUS BAR: SHIFTED, W/0O SHUNT, 6 POS, 19" PNL 209-4266-01 1 -
10 SCREW: SS, HEX HD. 5/16-18 x 1”7 210-1288-00 - 1
SCREW: STL, MS, 4-40 x 5/8" PHIL P. HD. 210-1330-00 2 2
SCREW: STL, MS, SEMS, 6-32 x 3/8 PHIL P/HD 210-1430-00 2 2
SCREW: STL IND HEX HD SEMS, 1/4 x1/2", ZINC 210-/7004-01 - 2
BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4" 210-8128-00 - 2
15 NUT, HEX STL: 4-40, ZINC, "KEPS” 211-0466-00 38 8
NUT, HEX STL: 6-32, ZINC, 5/18" AF "KEPS” 211-0476-00 24 24
NUT, HEX SS: 3/8-16 211-0533-00 - 1
LOCKWASHER, SHKPF: 1/4 INTERNAL 212-0500-00 6 6
LOCKWASHER: DISH, STL, SHKPF, #6 212-0501-05 1 1
=2 O WASHER, FLAT SS: 3/8" US "STD” 212-2518-00 - 2
WASHER, BELLEVILLE, SS: 3/8 x . 7507 212-5758-00 - 2
* SPACER: HEATSINK, HEX FIBERGLASS, 1.25" GLASTIC 213-1410-00 - 1
LABEL: FUSE 1 THRU FUSE 12 NON 1-60A FUSE 225-3100-411 1 1
LABEL: GRD, FA IN, FA OUT, FORM C, CB CONN 225-3100-435 1 1
=5 CONN. , PCB: 10 PIN SOLDER EYE, 30/-010-501-104 265-0010-00 1 1
*FUSE HOLDER: 30AMP 64-L1 2/5-1300-00 6 0
FUSE "DUMMY”: TYPE 70 276-0001-00 6 6
ALARM BOARD: FA 24, 48, 130VDC W/0O RELAY 301-2866-00 1 1
RES, SHUNT: METER, 200A 50MV 695-1080-03 - 1
=30

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER
PN  111-3012

ISSUE
2

SCALE:
NONE

SHEET: FILE NAME:
4 OF 4 PN111-3012_SHT_4_ISS_2

4




v

ED991-5001-B1 Issue 3 1 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ISS. DATE
ENGINEERING NOTES MANUFACTURING NOTES t
5 |SEE PCO# 44452 WD
6-26-17
51. EACH TYPE NON/TPN FUSE HOLDER REQUIRES ONE MAIN AND ONE 101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH
ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 0—30 AMPS. THE 3/8"-16 x 3/4” BOLTS, P/N 210—8128—00.
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. EACH TYPE 70 FUSE
HAS A BUILT IN ALARM INDICATOR. FUSES ARE NOT INCLUDED, BUT MAY 102. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNA—
BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991—0009—00. TION LABELS IN A BAG AND TIE WRAP TO THE INPUT BUS BAR.
52. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO 103. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.
VERTICAL BUS BAR SYSTEMS AND RATED FOR 200 AMPS MAX.
FOR OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. 104. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO
INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER ALL JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANU—
EQUIPMENT DRAWING ED991—0002—00. FACTURER’S INSTRUCTIONS.
53. LUGS FOR OUTPUT CONNECTION MAY BE ATTACHED DIRECTLY TO NON/TPN 105. INSTALL DUMMY FUSE P/N 276—0001—00 IN ALARM FUSE
FUSE HOLDER STUDS. STUDS ARE 1/4"—20, WITH HARDWARE PROVIDED. HOLDERS ON XF1—4.
OUTPUT LOAD WIRES CAN BE CONNECTED DIRECTLY TO TYPE 70 OUTPUT
POSTS BY WIRE WRAPPING OR SOLDERING. LUGS ARE NOT SUPPLIED BUT
MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991—0002—00.
54. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM.
CONNECT THE ALARM LEAD TO THE "FA—OUT” TERMINAL ON XA1, IN
POSITIVE GROUND SYSTEMS OR TO THE "FA+OUT” TERMINAL, IN NEGATIVE
SYSTEMS. FUSE ALARM SIGNALS CONNECT "BAT” TO THE ALARM CONNECTION
WHEN A FUSE CLEARS.A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM
RELAY IS AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991—0009—00.
55. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT UNLESS OTHERWISE APPROVALS DATE
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. SEE FIGURE A1, SPECIFIED, DIMENSIONS AV
SECTION A—A FOR SHUNT AND BUSWORK DETAILS. + TOLERANCES ON: MRB 9/3/92
+0.004
HOLES CHECKED
56. PAINT COLOR IS ANSI 61 GRAY et Toe— B 9/8/92
. . PART NUMBER VOLTAGE E/W SHUNT FIGURES FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020
57. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER WIRE 111-3017-00 o4 48 NO A2 DEALS o) i?‘/O;.O APPROVED
or —
SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE SUPPORTS. 111-3017-10 YES Al SQUARE CORNERS AND ANGLES ARE 90" UNLESS OTHERWSE SPECIFIED.
WORKMANSHIP:
58. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE PER_SPEC ENGO32
NUMBER, SHEET 4. MATERIAL:
59. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. N
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SHEET INDEX NOTE: UNII O v V ER
POWERING TECHNOLOGY
THE ISSUE OF SHEET REFLECTS THE LATEST ISSUE
OF THE DRAWING SET. WHEN THE DRAWING SET IS SHEET INDEX FUSE PANEI_
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS 4, 30A NON / TPN,
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS SHNOT[2]3]4 16 TYPE 70, 23"
ARE NOT CHANGED. ISSUE [5[4[4]2 SIZE DOC TYPE / NUMBER ISSUE
B PN 111-3017 5
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 |PN111—3017_sHT_1_ISS_5
1 3 4



AutoCAD SHX Text
SHEET INDEX NOTE:

AutoCAD SHX Text
SHEET INDEX

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
5

AutoCAD SHX Text
SH NO

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
ENGINEERING NOTES

AutoCAD SHX Text
    EQUIPMENT DRAWING ED991-0002-00.

AutoCAD SHX Text
     NUMBER, SHEET 4.

AutoCAD SHX Text
WHEN A FUSE CLEARS.

AutoCAD SHX Text
55. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT

AutoCAD SHX Text
    RATINGS UP TO 600 AMPS MAY BE SPECIFIED. SEE FIGURE A1, 

AutoCAD SHX Text
    SECTION A-A FOR SHUNT AND BUSWORK DETAILS. 

AutoCAD SHX Text
56. PAINT COLOR IS ANSI 61 GRAY.

AutoCAD SHX Text
57. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER WIRE

AutoCAD SHX Text
    SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE SUPPORTS.

AutoCAD SHX Text
54. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM.

AutoCAD SHX Text
51. EACH TYPE NON/TPN FUSE HOLDER REQUIRES ONE MAIN AND ONE

AutoCAD SHX Text
    ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 0-30 AMPS. THE 

AutoCAD SHX Text
    RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. EACH TYPE 70 FUSE 

AutoCAD SHX Text
    HAS A BUILT IN ALARM INDICATOR. FUSES ARE NOT INCLUDED, BUT MAY 

AutoCAD SHX Text
    BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991-0009-00.

AutoCAD SHX Text
52. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO

AutoCAD SHX Text
    VERTICAL BUS BAR SYSTEMS AND RATED FOR 200 AMPS MAX.

AutoCAD SHX Text
    FOR OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES.

AutoCAD SHX Text
    INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER

AutoCAD SHX Text
53. LUGS FOR OUTPUT CONNECTION MAY BE ATTACHED DIRECTLY TO NON/TPN

AutoCAD SHX Text
    FUSE HOLDER STUDS. STUDS ARE 1/4"-20, WITH HARDWARE PROVIDED.

AutoCAD SHX Text
    OUTPUT LOAD WIRES CAN BE CONNECTED DIRECTLY TO TYPE 70 OUTPUT

AutoCAD SHX Text
    POSTS BY WIRE WRAPPING OR SOLDERING. LUGS ARE NOT SUPPLIED BUT

AutoCAD SHX Text
    MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991-0002-00.

AutoCAD SHX Text
58.  BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE

AutoCAD SHX Text
59.  UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1.

AutoCAD SHX Text
CONNECT THE ALARM LEAD TO THE "FA-OUT" TERMINAL ON XA1, IN 

AutoCAD SHX Text
POSITIVE GROUND SYSTEMS OR TO THE "FA+OUT" TERMINAL, IN NEGATIVE

AutoCAD SHX Text
SYSTEMS. FUSE ALARM SIGNALS CONNECT "BAT" TO THE ALARM CONNECTION

AutoCAD SHX Text
RELAY IS AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991-0009-00.

AutoCAD SHX Text
FIGURES

AutoCAD SHX Text
A2

AutoCAD SHX Text
A1

AutoCAD SHX Text
101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH

AutoCAD SHX Text
102. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNA-

AutoCAD SHX Text
     TION LABELS IN A BAG AND TIE WRAP TO THE INPUT BUS BAR.

AutoCAD SHX Text
103. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.

AutoCAD SHX Text
104. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO

AutoCAD SHX Text
     ALL JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANU-

AutoCAD SHX Text
105. INSTALL DUMMY FUSE P/N 276-0001-00 IN ALARM FUSE

AutoCAD SHX Text
                    A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM

AutoCAD SHX Text
+24 or -48

AutoCAD SHX Text
 111-3017-00

AutoCAD SHX Text
 111-3017-10

AutoCAD SHX Text
NO

AutoCAD SHX Text
YES

AutoCAD SHX Text
VOLTAGE

AutoCAD SHX Text
     HOLDERS ON XF1-4.

AutoCAD SHX Text
PART NUMBER

AutoCAD SHX Text
E/W SHUNT

AutoCAD SHX Text
TABLE B

AutoCAD SHX Text
MANUFACTURING NOTES

AutoCAD SHX Text
     3/8"-16 x 3/4" BOLTS, P/N 210-8128-00.

AutoCAD SHX Text
     FACTURER'S INSTRUCTIONS.

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
%%P1/32

AutoCAD SHX Text
%%P0.020

AutoCAD SHX Text
%%P0.010

AutoCAD SHX Text
%%P1/2%%D

AutoCAD SHX Text
SQUARE CORNERS AND ANGLES ARE 90%%D UNLESS OTHERWISE SPECIFIED.

AutoCAD SHX Text
DECIMALS (XX)

AutoCAD SHX Text
FRACTIONS

AutoCAD SHX Text
ANGLES

AutoCAD SHX Text
DECIMALS (XXX)

AutoCAD SHX Text
FINISH:

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
FILE NAME:

AutoCAD SHX Text
4

AutoCAD SHX Text
SHEET:

AutoCAD SHX Text
OF

AutoCAD SHX Text
DOC TYPE / NUMBER

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
D

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
C

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
%%P

AutoCAD SHX Text
SPECIFIED DIMENSIONS

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
#

AutoCAD SHX Text
3

AutoCAD SHX Text
APPROVALS

AutoCAD SHX Text
UNLESS OTHERWISE

AutoCAD SHX Text
ARE IN INCHES

AutoCAD SHX Text
TOLERANCES ON:

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
DATE

AutoCAD SHX Text
B

AutoCAD SHX Text
ISS. DATE

AutoCAD SHX Text
A

AutoCAD SHX Text
ISSUES

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
4

AutoCAD SHX Text
ISS. BY

AutoCAD SHX Text
HOLES

AutoCAD SHX Text
+0.004

AutoCAD SHX Text
-0.002

AutoCAD SHX Text
WORKMANSHIP:

AutoCAD SHX Text
PER SPEC ENG032

AutoCAD SHX Text
ED991-5001-B1 Issue 3

AutoCAD SHX Text
PN

AutoCAD SHX Text
111-3017

AutoCAD SHX Text
FUSE PANEL

AutoCAD SHX Text
4, 30A NON/TPN,

AutoCAD SHX Text
16 TYPE 70, 23"

AutoCAD SHX Text
5

AutoCAD SHX Text
PN111-3017_SHT_1_ISS_5

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
N/A

AutoCAD SHX Text
MRB

AutoCAD SHX Text
9/3/92

AutoCAD SHX Text
VMB

AutoCAD SHX Text
9/8/92

AutoCAD SHX Text
5

AutoCAD SHX Text
SEE PCO# 44452

AutoCAD SHX Text
WD

AutoCAD SHX Text
6-26-17


ED991-5001-B3 Issue 3

LABEL HOLDER (NOTE 102)

e

1/
/

[ Il |
4 NI NI ( N A [F5] [F7] [F9] [F11]
o 0o (s (s
= colcoe)co)
[F1] [F2] [F3) [Fa) [F6] [F8] [F10] [F12] [@)
[F13] [F15] [F17] [F19]
= 0/0][0/0][0/0](0/0]
\_ \ AN\ )\ I ) [F14] [F16] [F18] [F20] 5. 25"
[ \ I Il Il |
\ \
\\ \\ 22.38"
\— ALARM FUSE (NOTES 51,105) o
MAIN FUSE (INSIDE), (NOTE 51)
FRONT VIEW
(111-3017-10 SHOWN)
(19) (20) (25) NOT SHOWN
P A SHUNT (NOTE 55) A
=TT /: ____________ —
[F12] [F11] [F10] [F9] [F8] [F7] [F6] [F5] © [F4] @Y@ F3] © © /[F2]@ © [F1]  © v
I spolcrelcrorem o) @9 o) @ o ., .
0 © a8
o —‘ /S — /?/
o o o T o C
- | @I gRIR w b -
[F20] [F19] [F18] [F17] [F16] [F15] [F14] [F13] I‘© @ll‘@ T@e—w'/© @\\

O®
REAR VIEW

(111-3017-10 SHOWN)

RIGHT SIDE VIEW
(111-3017-10 SHOWN)

\ NOTE 52

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE | NUMBER - ISSUE
B PN 111-3017 4
SCALE: SHEET: FILE NAWE:
NONE 2 OF 4 PN111-3017_SHT_2_ISS_4
4



AutoCAD SHX Text
NOT SHOWN

AutoCAD SHX Text
REAR VIEW

AutoCAD SHX Text
(111-3017-10 SHOWN)

AutoCAD SHX Text
A

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
(111-3017-10 SHOWN)

AutoCAD SHX Text
A

AutoCAD SHX Text
RIGHT SIDE VIEW

AutoCAD SHX Text
(111-3017-10 SHOWN)

AutoCAD SHX Text
FA ALARM

AutoCAD SHX Text
NC

AutoCAD SHX Text
ISSUE:

AutoCAD SHX Text
D7

AutoCAD SHX Text
+24

AutoCAD SHX Text
-48

AutoCAD SHX Text
306-2927-

AutoCAD SHX Text
ASSEMBLED IN 

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
MANU.

AutoCAD SHX Text
D8

AutoCAD SHX Text
D6

AutoCAD SHX Text
D5

AutoCAD SHX Text
D4

AutoCAD SHX Text
DS1

AutoCAD SHX Text
D2

AutoCAD SHX Text
D1

AutoCAD SHX Text
D3

AutoCAD SHX Text
R1

AutoCAD SHX Text
OUTPUT

AutoCAD SHX Text
RELAY

AutoCAD SHX Text
NO

AutoCAD SHX Text
FA

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
JP1

AutoCAD SHX Text
02

AutoCAD SHX Text
24V IN

AutoCAD SHX Text
-48V OUT

AutoCAD SHX Text
-48V IN

AutoCAD SHX Text
24V OUT

AutoCAD SHX Text
GND

AutoCAD SHX Text
K1

AutoCAD SHX Text
FA ALARM BD.

AutoCAD SHX Text
TB1

AutoCAD SHX Text
C

AutoCAD SHX Text
B


ED991-5001-B3 Issue 3 1 2 ¢ 3 | ¢

18

WIRING DETAIL FOR +24V

R EEO)

81
ISSUE: =9 00 NG FA AR

EC_Te o 10 ) NOTE 101
o oo L ¢ FROM SYSTEM GND-RETURN

7 R I
T ve? —— 1 < +24VDC FUSE ALARM SIGNAL
'ﬁsa:_h" 2R FOM GRCUIT BREAKERS et ts
2| @[] +24vDC SIGNAL FROM ANOTHER PANEL E —
b1 eli| @] +24V UTPUT TO EXTERNAL NONITOR L
D 306-2027- CTD @) NOTES 53, 102

Rl

N
i

=
Z
=

=

@l

BLED IN
PLACE JUMPER HERE NOTES 53, 102

WIRING DETAIL FOR —48V SECTION A-A SECTION A-A

‘: T%— o WITH SHUNT (111-3017-10) WITHOUT SHUNT (111-3017-00)
—_

o oo
. f_._l o Wl _S=2 (NOTE 55)
- Pﬂ? "o URT

RI aw<——1—< FROM SYSTEM GND-RETURN
C[Eg BT re7, WWE—|— —48VDC SIGNAL FROM ANOTHER PANEL
) mane—]— 48V QUTPUT TO EXTERNAL MONITOR

=

1
2 T

|« —48VDC FUSE ALARM SIGNAL
W I e [ FROM ORCUIT BREAKERS

+]

o4 =
306-2027- (2D
BLED IN

@l

PLACE JUMPER HERE

®
¢
TO AMMETER [
®
@
R1

BAT @ AN ® ®

NOTES 55,59

F1 F21 F4 F24 F5 %
\ 0-30A |
+24VDC OR —48\DC

FUSE ALARM SIGNAL 20GA I
LOAD (OUTPUT)

—
o
<
>

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SCHEMATIC DIAGRAM SIZE DOC TYPE | NUMBER TSSUE
B PN 111-3017 4
SCALE: SHEET: FILE NAWE:
NONE 3 OF 4 PN111-3017_SHT_3_ISS_4

1 2 ? 3 4


AutoCAD SHX Text
   (NOTE 55) 

AutoCAD SHX Text
  WITH SHUNT (111-3017-10)

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
SCHEMATIC DIAGRAM

AutoCAD SHX Text
   WITHOUT SHUNT (111-3017-00)

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
FA ALARM

AutoCAD SHX Text
NC

AutoCAD SHX Text
ISSUE:

AutoCAD SHX Text
-48VDC SIGNAL FROM ANOTHER PANEL

AutoCAD SHX Text
-48V OUTPUT TO EXTERNAL MONITOR

AutoCAD SHX Text
-48VDC FUSE ALARM SIGNAL 

AutoCAD SHX Text
FROM CIRCUIT BREAKERS

AutoCAD SHX Text
FROM SYSTEM GND-RETURN

AutoCAD SHX Text
D7

AutoCAD SHX Text
+24

AutoCAD SHX Text
-48

AutoCAD SHX Text
306-2927-

AutoCAD SHX Text
ASSEMBLED IN 

AutoCAD SHX Text
PLACE JUMPER HERE

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
MANU.

AutoCAD SHX Text
D8

AutoCAD SHX Text
D6

AutoCAD SHX Text
D5

AutoCAD SHX Text
D4

AutoCAD SHX Text
DS1

AutoCAD SHX Text
D2

AutoCAD SHX Text
D1

AutoCAD SHX Text
D3

AutoCAD SHX Text
R1

AutoCAD SHX Text
OUTPUT

AutoCAD SHX Text
RELAY

AutoCAD SHX Text
NO

AutoCAD SHX Text
FA

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
JP1

AutoCAD SHX Text
02

AutoCAD SHX Text
24V IN

AutoCAD SHX Text
-48V OUT

AutoCAD SHX Text
-48V IN

AutoCAD SHX Text
24V OUT

AutoCAD SHX Text
GND

AutoCAD SHX Text
+24VDC FUSE ALARM SIGNAL 

AutoCAD SHX Text
+24V OUTPUT TO EXTERNAL MONITOR

AutoCAD SHX Text
+24VDC SIGNAL FROM ANOTHER PANEL

AutoCAD SHX Text
FROM CIRCUIT BREAKERS

AutoCAD SHX Text
FROM SYSTEM GND-RETURN

AutoCAD SHX Text
D7

AutoCAD SHX Text
-48

AutoCAD SHX Text
+24

AutoCAD SHX Text
ASSEMBLED IN 

AutoCAD SHX Text
306-2927-

AutoCAD SHX Text
WIRING DETAIL FOR -48V

AutoCAD SHX Text
PLACE JUMPER HERE

AutoCAD SHX Text
K1

AutoCAD SHX Text
ISSUE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
MANU.

AutoCAD SHX Text
R1

AutoCAD SHX Text
D5

AutoCAD SHX Text
DS1

AutoCAD SHX Text
D3

AutoCAD SHX Text
D2

AutoCAD SHX Text
D1

AutoCAD SHX Text
D4

AutoCAD SHX Text
D6

AutoCAD SHX Text
D8

AutoCAD SHX Text
FA ALARM BD.

AutoCAD SHX Text
TB1

AutoCAD SHX Text
C

AutoCAD SHX Text
FA ALARM

AutoCAD SHX Text
OUTPUT

AutoCAD SHX Text
NO

AutoCAD SHX Text
NC

AutoCAD SHX Text
FA

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
JP1

AutoCAD SHX Text
4

AutoCAD SHX Text
GND

AutoCAD SHX Text
02

AutoCAD SHX Text
24V OUT

AutoCAD SHX Text
-48V IN

AutoCAD SHX Text
-48V OUT

AutoCAD SHX Text
24V IN

AutoCAD SHX Text
RELAY

AutoCAD SHX Text
WIRING DETAIL FOR +24V

AutoCAD SHX Text
K1

AutoCAD SHX Text
FA ALARM BD.

AutoCAD SHX Text
TB1

AutoCAD SHX Text
C

AutoCAD SHX Text
+24VDC OR -48VDC

AutoCAD SHX Text
FUSE ALARM SIGNAL

AutoCAD SHX Text
B


v

ED991-5001-B3 Issue 3 1 | 2 3 4
CALLOUT LIST 111-3017-
QUANTITY QUANTITY
LINE
4 NOTES DESCRIPTION PART NUMBERS -00 -10
1 FUSE PANEL: 4 NON, 8 DUAL TYPE 70, FA, 5.25" x 23" 202-7017-00 1 1
BUS BAR: FUSE TO SHUNT, 8, 30/60A 209-4261-00 - 1
BUS BAR: FUSE PANEL, INPUT TO SHUNT 209-4262-00 - 1
BUS BAR: 4 NON INPUT 209-4475-01 1 -
5 BUS BAR: 4 NON 209-4476-01 - 1
BUS BAR: DUAL TYPE 70 INPUT, 4 EA SIDE 209-4477-00 1 1
SCREW: STL, SEMS, 6-32 x 3/8" PHIL P/HD 210-1430-00 2 2
SCREW: STL, SEMS, 6-32 x 1/2" PHIL P/HD 210-1450-01 16 16
SCREW: STL, IND HEX HD SEMS, 1/4 x 1/2", ZINC 210-7004-01 - 1
10 BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4" 210-8128-00 - 2
NUT, HEX STL: 6-32, 5/16", KEPS 211-0476-00 16 16
NUT, HEX SS: 1/4-20 211-0531-00 1 1
NUT, HEX SS: 3/8-16 211-0533-00 - 1
WASHER, FLAT SS: 1/4" US STD 212-2516-00 1 1
15 WASHER, FLAT SS: 3/8" US STD 212-2518-00 - 1
WASHER, BELLEVILLE, SS: 1/4 x .500" 212-5754-00 1 1
WASHER, BELLEVILLE, SS: 3/8 x .750" 212-5758-00 - 1
SPACER: HEATSINK, HEX FIBREGLASS, 1.25" 213-1410-00 - 1
102 LABEL: 1-22 TYPE 70 225-3100-407 1 1
20 102 LABEL: FUSE 1 THRU FUSE 12 225-3100-411 1 1
FUSE HOLDER: DUAL-70 275-0600-00 8 8
FUSE HOLDER: 30 AMP 275-1300-00 4 4
105 FUSE "DUMMY": .25" x 1.25" TYPE 70 276-0001-00 16 16
ASSY: ALARM BOARD, BKT, LABEL, FOR FA 385-5152-00 1 1
25 59 RES, SHUNT: METER, 200A 50mV 695-1080-03 - 1
30
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE | NUMBER * ISSUE
B PN 111-3017 2
SCALE: SHEET : FILE NAME:
NONE 4 OF 4 |PN111-3017 SHT 4_ISS 2
1 2 A 3 4



AutoCAD SHX Text
CALLOUT LIST 111-3017-

AutoCAD SHX Text
B


ED991-5001-B1 Issue 3 1 2 ¢ 3 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
# ISS. DATE
7 | SEE PCO# 44452 WD
ENGINEERING NOTES: MANUFACTURING NOTES: 6/27/17
51. PAINT COLOR IS ANSI 61 GRAY. 101. ANTI—OXIDATION COATING WILL BE APPLIED BETWEEN ALL LAYERS OF
LAMINATED COPPER BUS STRUCTURE. A COMPOUND SUCH AS CRAMOLIN
52. EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE 81Rh WILL BE APPLIED TO ALL JOINTED FLAT SURFACES AS PER THE
ALARM FUSE. MAIN FUSES ARE TYPE TPL, 61 TO 400 AMPS. MANUFACTURER'S INSTRUCTIONS.
THE RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS.
FUSES ARE NOT INCLUDED BUT MAY BE ORDERED SEPARATELY 102. APPLY HEAT SHRINK SO THAT FA TERMINAL AND EXPOSED WIRE ARE
PER EQUIPMENT DRAWING ED991—0009—00. COVERED TO PREVENT ELECTRICAL SHORTING.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT 103. INSTALL DUMMY FUSES (276—0001—00) IN XF3—4.
CONNECTION TO VERTICAL BUS BAR SYSTEMS. FOR
OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED 104. REPLACE BOLT SUPPLIED WITH SHUNT WITH 3/8"—16 X 3/4" BOLTS,
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE (210-8128-00). USE WASHERS SUPPLIED WITH SHUNT.
ORDERED SEPARATELY.
105. ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED.
54. THE OUTPUT COPPER BUS BAR IS DESIGNED FOR BOTH, BELL STANDARD
LUGS, 1" CENTER TO CENTER SPACING WITH 3/8" HARDWARE AND 106. SECURE ALL BUSSES AT A 45° ANGLE, AS SHOWN.
NEMA STANDARD LUGS, 1-3/4” CENTER TO CENTER SPACING WITH
1/2" HARDWARE.
55. AMMETER SHUNTS ARE NORMALLY 400 AMPS 50mV: HOWEVER,
OTHER CURRENT RATINGS MAY BE SPECIFIED. SEE REAR VIEW
WITH SHUNT FOR DETAILS.
56. NON FA VERSIONS DO NOT INCLUDE Afl.
UNLESS OTHERWSE
57. NON SHUNTED VERSIONS DO NOT INCLUDE R1 OR R2. SPILESS OTHERWSE APPROVALS DATE
ARE_IN INCHES DRAWN
+  TOLERANCES ON: TET 4/21/92
58. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE HOLES +0.004  [oheckeD
LINE NUMBER. =0.002 VMB 4/21/92
FRACTIONS +1/32 APPROVED
59. SOLDER ALARM CONNECTIONS. USE 20 GA. MINIMUM. DECIMALS (xx) +0.020 VP 4/21/92
DECIMALS (XXX) +0.010 APPROVED
ANGLES +1/2°
60. SELECT FUSE PANEL FROM TABLE A. SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
TABLE A WORKMANSHIP:
PER SPEC ENG032
PART NUMBER VOLTAGE SHUNT |FUSE ALARM | RATING ATERIAL:
111B—3063—00 | *12 TO 130 VDC MD
111B—3063—01 | +24,48,0R 130 VDC YES STD
111B—3063-10 | %12 TO 130 VDC 400A MD FINISH:
111B—3063—11 | +24,48,0R 130 VDC 400A YES STD
PROPRIETARY INFORMATION
SHEET INDEX NOTE: NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
THE ISSUE OF SHEET 1REFLECTS THE LATEST ISSUE
OF THE DRAWING SET. WHEN THE DRAWING SET IS
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS SHEET INDEX
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS hﬁ'}'&éER 1 'ZSSUBE "iUMEE)’EFé s \
w :
ARE NOT CHANGED. 0 TS s e POWERING TECHNOLOGY
2 1112233
B ERERER B A R FUSE PANEL
2 X 61-400 AMP TPL
2
5.25 X 23
SIZE DOC TYPE / NUMBER ISSUE
B PN 111-3063 7
SCALE: SHEET: FILE NAME:
N/A 1 OF 3 |PN111-3063_SHT_1_IsS_7
1 2 A 3 4




ED991-5001-B3 Issue 3 1 2 ¢ 3 4

2 EACH,
DETAIL A NOTE =
00 0

2 EACH,
00 NOTE 55

LLJ : — w1~
@ O T - A1
[ ] [ ] HH

O

O
O

(=
O
O

TOP VIEW
(111-3063-11 SHOWN)
(WIRING NOT SHOWN) @@ DETAIL B
(o028 8 EACH
2 EACH
2 EACH
NOTE 107 2 EACH
f DETAIL C
1. 49
r < ® : \ \ A ——
5.22 2"25 ‘ © o o O o CQQ
— 1P ® — O — F4 ® [@n) o o
O O 150
22.38 o s
23.00
FRONT VIEW

(111-3063-11 SHOWN)

@ LEFT SIDE VIEW
(111-3063-11 SHOWN)
DETAIL D ,
NOTE 106 (1) 4 PLC’S
NOTE 104

e FinTa
—
- = 0. 250 X 0.500 OBR
~ N £3 4 PLC’S
o " F1 @
) @
T 3 A © o
——— PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
5 EACH SIZE DOC TYPE / NUMBER ISSUE
REAR VIEW PN 111-3063 3
(111-3063-11 SHOWN)
SCALE: SHEET: FILE NAME:
NONE 2 OF 3 PN111-3063_SHT_2_ISS_3

1 2 1\ 3 4



ED991-5001-B3 Issue 3 1 | 2 ¢ 3 4

ﬁTAETTl} = T CALLOUT TABLE
11

8 oo OO ) o
= QUANTITY | QUANTITY | QUANTITY | QUANTITY
@ L INE DESCRIPTION PART NUMBERS -00 -01 -10 -11
OO z
o O O 1 FUSE PNL: 2-400/600A W/FUSE ALARM & SHUNTS 202-3534-12 1 1
H 2X600A FUSE PANEL, 23" 202-3534-13 1 1
BKT: CONNECTOR BKT, 10 POSITION 208-5152-00 1 1
BKT: FRONT ACCESS BKT, FA BOARD, SS 208-5152-10 1 1
5 BUS BAR: INPUT BUS FOR 2-400/600A FUSE PNL 209-4342-00 1 1 1 1
111-3063-00,01 111-3063-00,01 BUS BAR: INPUT TO SHUNT FOR 2-400/600A. . . 209-4343-00 1 1 1 1
W/0 SHUNT W/0 SHUNT BUS BAR: SHUNT TO FUSE FOR 2-400/600A. . . 209-4344-00 2 2 2 2
DETAIL A DETAIL B BUS BAR: LUG ADAPTER, 600A 209-4385-00 2 2 2 2
10 SCREW: STL, MS, 1/4-20 X 1.5” FH, PHIL 210-1917-00 8 8 8 8
BOLT, HEX, SIL, BRONZE: 3/8-16 X 3/4" 210-8128-00 4 4
NUT, HEX: "KEP”, 1/4-20 ZINC STL 211-0501-00 8 8 8 8
SPACER: HEATSINK, HEX FIBERGLASS, 1", GLASTIC 213-1409-00 2 2 2 2
LABEL: GRD, FA IN, FA OUT, FORM C, CB CONN 225-3100-435 1 1
15 CONN., PCB: 10 PIN SLDR EYE, 307-010-104 265-0010-00 1 1
— FUSE HOLDER: SINGLE-70, COMPLETE 275-0500-01 2 2 2 2
FUSEHOLDER: 400A DEADFRONT 275-1605-00 2 2 2 2
N FUSE "DUMMY”: .25"X 1.25” TYPE 70 276—-0001-00 2 2
< ALARM BOARD: FA 24, 48, 130VDC W/0 RELAY 301-2866-00 1 1
20 RES, SHUNT: METER, 400A 50Mv 695-1091-03 2
© LABEL, NOMENCLATURE: GENERAL MISC, 0.9” X 47| 225-3094-09 1 1 1 1
___ BA,_ 2 25
[ 1 F
el R1,41
111-3063-00,10 INPUT BUS BAR L‘J\/WI‘ 5 R
W/0 FUSE ALARM *l T f\F_fz
| |
DETAIL C FROM ‘ ‘ T0
BAT il B AS? LOADS
\ \
R2T W-BL
AR =
NOTE 55, 57
[ e
AL
O | vo ||
‘ c |H | NOT USED
45° +1 \ NC = }
} r-our | BH— yTO ALARM SYSTEM, + GRD SYSTEMS
| ngm = | >TO ALARM SYSTEM, — GRD SYSTEMS
IN
} [ 2ev | K ‘ >FROM GRD, 24V SYSTEMS
| | & «ov |B————)FROM GRD, 48V SYSTEMS
| L Tisov |MH—————)>FROM GRD, 130V SYSTEMS
INOTES 56, 59
111-3063-00,01,10,11 3 |
NOTE 106 . ST TTTT PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
DETAIL D PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
SCHEMATIC DIAGRAM M PN 111-3063 4
NOTE 105 SCALE: SHEET: FILE NAME:
NONE 3 OF 3 PN111-3063_SHT_3_ISS_4




ED991-5001—-B1 Issue 3 1 2 ¢ 3 4
ISSUES
ENGINEERING NOTES: MANUFACTURING NOTES: ISSUE | DESCRIPTION Iss. BY
# ISS. DATE
51. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. 101. A COMPOUND SUCH AS CRAMOLIN B1Rh WILL BE APPLIED TO ALL 8 | SEE PCOg 44452 WO
JOINTED FLAT CONDUCTIVE SURFACES PER THE MANUFACTURER'S 8/21/17
52. NORMAL AND EMERGENCY FUSE HOLDERS REQUIRE ONE MAIN FUSE EACH. INSTRUCTIONS.
MAIN FUSES ARE TYPE TPL 61-600 AMPS. THE RECOMMENDED TYPE 70
ALARM FUSE IS 0.5 AMPS, WHICH HAS A BUILT IN ALARM INDICATOR. 102. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH 3/8"—16 x
FUSES ARE NOT INCLUDED, BUT MAY BE ORDERED SEPARATELY PER 3/4" BOLTS, P/N 210-8128-00.
DRAWING ED991—0009—00.
103. INSTALL OUTPUT LUG AT APPROX 30° ANGLE FROM EDGE OF PANEL,
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO AS SHOWN.
VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS, HOLES ARE
PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS ARE NOT PROVIDED 104. REMOVE INPUT AND OUTPUT BUS BARS BEFORE SHIPPING THIS PRODUCT.
BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991—0002—00.
A. LOCATE THE INPUT BUS BAR, P/N 209—4413—00 (SHORT "L" SHAPED BUS).
54. QUTPUT LUGS WITH 1" CENTER TO CENTER HOLES FOR 3/8” HARDWARE, ARE SEE FIGURE 1.
PROVIDED. THESE LUGS MAY BE REMOVED IF DESIRED.
B. IF THE PANEL IS EQUIPPED WITH A SHUNT, REMOVE THE HARDWARE AND
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPERATE ALARM SYSTEM. THE INPUT BUS BAR. PUT THEM IN A BAG AND MARK "INPUT BUS", TIE
CONNECT THE ALARM LEAD TO THE "FA—OUT” TERMINAL ON XA1, IN POSITIVE WRAP TO THE INPUT BRACKET.
GROUND SYSTEMS OR TO THE "FA+OUT” TERMINAL, IN NEGATIVE SYSTEMS. -
FUSE ALARM SIGNALS CONNECT "BAT” TO THE ALARM CONNECTION WHEN A C. LOCATE THE OUTPUT BUS BAR, P/N 209-4415-00 (LONG "L" SHAPED BUS).
FUSE CLEARS. A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM RELAY SEE FIGURE 2.
IS AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991—0009—00.
D. REMOVE THE BLACK SIGNAL WIRE CONNECTED TO THE OUTPUT BUS. PUT THE
57 PANT COLOR IS ANSI 61 GRAY. ASSOCIATED HARDWARE IN A BAG, TIE WRAP TO THE BLACK SIGNAL WIRE.
E. REMOVE THE OUTPUT BUS AND HARDWARE EXCEPT THE BOTTOM NUT. PUT
58, Fl’:ﬁl\gi:LS WITH LOCKOUTS PHYSICALLY PREVENT THE REMOVAL OF AN ENERGIZED THEM IN A BAG AND MARK "OUTPUT BUS®, TIE WRAP TO FUSE OUTPUT
g STUD.
TO RE—INSTALL THE BUS BARS, FOLLOW THE STEPS ”"A” THRU "E” IN REVERSE
ORDER. SPEGIFED DIMENSIONS APPROVALS DATE
ARE IN INCHES DRAWN
105. HOOK UP GRD AND FA OUTPUT PER TABLE C. +  TOLERANCES ON: VPP 8/14/89
HOLES +0.004  FCHECKED
—0.002 SSS 8/14/89
FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020 JSN 8/14/89
DECIMALS (XXX) +0.010 APPROVED
ANGLES /2
TABLE A SAUNT TGCKOUT TABLE C SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
SYS VOLTAGE |GRD PIN |FA OUTPUT PIN WORKMANSHIP:
PANEL PART NO. VOLTAGE NOTES | SW FUSE PART NO. 1w [ w/o | RATING ekl : el i WORKMANSHIP:
——11—3086—06— 275—1667—00 X X MB 30 ] =6 MATERIAL:
— S —3eee—t— 2F5—607—00 X% X% ME
_ —48 2 -) 6
111—3080—01 124, —48, £130 58,51 275-1607—01 X X STD 22 3 g +g =
111—3080—11 58 275-1607-01 X X STD — - FINISH:
24 3 =) 6
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SHEET INDEX UI III 0 u “ ER
STEET TSSUE NUWBER POWERING TECHNOLOGY
NUMBERI 1 J2]3J4[5[6[7]8
SHEET INDEX NOTE: 1 1213141516718 FUSE PANEL: 1 SWITCH
61—600A, NORMAL /EMERGENCY, TPL
THE ISSUE OF SHEET 1REFLECTS THE LATEST ISSUE 2 11121351415161717 ' / " ’
3 11213131414 7.00 X 23
OF THE DRAWING SET. WHEN THE DRAWING SET IS = TR /'NUMBER ——
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS B PN 111-3080 8
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS
ARE NOT CHANGED. SCALE: SHEET: FILE NAME:
N/A 1 OF 3 |PN111—3080_SHT_1_ISS_8
1 A 3

4



ED991-5001-B3 Issue 3 1 2 ¢ 3 4

202-7104-00 SEE TABLE A 208-5152-10
PANEL: SWITCH FUSE SWITCH FUSE: 600A BRACKET: FA BOARD
275-1607-01 SHOWN 275-0500-01
(NOTE 58) FUSE HOLDER: (11.15)
TYPE 70
EMERGENCY EMERGENCY NORMAL . :85
- -
— | D§ — O o |
5 L -
! 6. 97 O -
FUSE [ FUSE (o) 4.00
F2 F1 /1o
© [T >
— — P }
) - O
o
22.38
23.00 695-1093-03
600A 50mV SHUNT 208-5161-00
FRONT VIEW (NOTE 56) BKT. SHUNT MOUNTING
DETAIL B
213-1410-00
LEFT SIDE VIEW INSULATING SPACER
209-4415-00
208-5152-00 OUTPUT BUS
CONNECTOR BRACKET (SEE NOTES 103, 104)
225-3094-06
265-0010-00 NOMENCLATURE LABEL
CONNECTOR: 10 POS
209-4413-00
///// INPUT BUS
(SEE NOTE 104)
O
DETAIL A
225-3100-435 —_| o ////47
LABEL \\\\5$5
E
P130V|
)
209-4414-00
SHUNT BUS . 250 x .500 OBR
REAR VIEW 4 PLCS PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
( 111-3080-11 SH@WN) BOLT, HH PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIL BRONZE SIZE DOC TYPE / NUMBER ISSUE
210-8128-00, 2 PLC’S PN 111-3080 /
NOTE 102
( ) SCALE: SHEET: FILE NAME:
NONE 2 OF 3 |PN111-3080_SHT_2_ISS_7

1 2 ? 3 4



ED991-5001-B3 Issue 3

209-4413-00
INPUT BUS

(SEE NOTES 101, 104)

\

210-8128-00
BOLT HH SIL BRONZE
(SEE NOTE 102)

.% 3/8” LOCKWASHER 211-0533-00
e e 20 s2is 01 /5 x 15, T
ya ) (2 Encr spEsis 0
— OUTPUT BUS
(SEE NOTES 101, 104) ~ - L /\/
A= N - 205 441400
=1 ‘
] l O [ ) L 4Eij N ( \\‘(D‘ ‘// © | —— 209-4413-00
—— - e mmmez
O &447C> L — O
yd
O T O O o
T L ] @| O |l
] g O
= 111-3080—-01 WITHOUT SHUNT
FIG 1 FIG 2 DETAIL A
TOP VIEW LEFT SIDE VIEW

111-3080—-11 WITH SHUNT

]
\
\
\
\
\
= Z|
Z|

c
)
m
o
r

I

I

I

I

I

I

I

|

L

20GA

111-3080—-11 WITH SHUNT

(SEE NOTE 103 & REAR VIEW)

212-5758-00

(NOTE 51, 58) 3/8 x .750", BELLEVILLE WASHER
F———————— - (209-4245-01) 212-2518-00
-1 3/8 WASHER ”STD”

(211-0533-00) 210-1293-00

BOLT 3/8" x 16-1 1/4”7

4
EEENEEEEER .

ALARM BOARD
301-2866-00

CUSTOMER CONNECTIONS
ARE PINS 1-3 & 5-6.
SEE NOTE 105

) f\ﬁ
|
7
BY EMERGENCY POS
F3

- D o

%
2 NORMAL POS

O

20GA

‘BK

F2 111-3080—-01 WITHOUT SHUNT

DETAIL B
SCHEMATIC DIAGRAM

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
%% PN  111-3080 4
SCALE: SHEET: FILE NAME:
NONE 3 OF 3 |PN111-3080_SHT_3_ISS_4
1 2 1‘ 3 4




ED991-5001-B1 lssue 3 1 2 ¢ 3

4

51.

53.

52.

54.

55.

56.

57.

58.

59.

60.

ENGINEERING NOTES: MANUFACTURING NOTES:

SELECT FUSE PANEL FROM TABLE A. 101. ANTI—OXIDATION COATING WILL BE APPLIED BETWEEN ALL LAYERS OF
LAMINATED COPPER BUS STRUCTURE. A COMPOUND SUCH AS CRAMOLIN

EACH FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM 81Rh WILL BE APPLIED TO ALL JOINTED FLAT CONDUCTIVE SURFACES
FUSE. MAIN FUSES ARE TYPE TPS 3AMP TO 70AMPS. THE PER THE MANUFACTURER’S INSTRUCTIONS.

RECOMMENDED GMT ALARM FUSE IS 0.5 AMPS. FUSES ARE

NOT INCLUDED BUT MAY BE ORDERED SEPARATELY PER 102. REPLACE BOLTS SUPPLIED WITH SHUNT WITH P/N 210-8128-00.
EQUIPMENT DRAWING ED991-0009-00. USE WASHERS SUPPLIED WITH SHUNT.

THE INPUT COPPER BUS BAR IS RATED AT 600 AMP MAXIMUM 103. ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED.
DISTRIBUTION AND DESIGNED FOR DIRECT CONNECTION TO

VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS, HOLES ARE 104. @ DENOTES CABLE RUN BY INSTALLER.

PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS ARE NOT

PROVIDED, BUT MAY BE ORDERED SEPARATELY, PER ED991—0002-00.

DC OUTPUT CABLES ARE NOT PROVIDED. CABLE MUST BE FURNISHED
BY THE CUSTOMER TO MEET THE LOCAL ELECTRICAL REQUIREMENTS OF
THE AREA.

A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM
SYSTEM. CONNECT THE ALARM LEAD TO THE "FA—OUT” TERMINAL
ON XA1 IN POSITIVE GROUND SYSTEMS OR TO THE "FA+OUT”
TERMINAL IN NEGATIVE SYSTEMS. FUSE ALARM SIGNALS CON-—
NECT "BAT” TO THE ALARM CONNECTION WHEN A FUSE CLEARS.
A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM RELAY IS
AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991-0009-00.

AMMETER SHUNTS ARE NORMALLY 600 AMPS 50mV; HOWEVER,

OTHER CURRENT RATINGS MAY BE SPECIFIED. PANEL CURRENT
MUST NOT EXCEED 600 AMPS.NON SHUNTED VERSIONS DO NOT
INCLUDE R1.

PAINT COLOR IS ANSI 61 GRAY.

BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE
LINE NUMBER.

UP TO 14 ADDITIONAL FUSEHOLDER KITS ARE AVAILABLE. SPECIFY
THE NUMBER OF FUSEHOLDER KIT(S), P/N 385-3783—00, AND
THEIR LOCATION. KIT DOES NOT INCLUDE FUSE. REFER TO NOTE 52.

A SPARE TPS AND GMT FUSE MAY BE STORED IN EACH
FUSEBLOCK HANDLE.

ISSUES

ISSUE | DESCRIPTION
#

ISS. BY
ISS. DATE

6 |SEE PCO# 44452

WD
6/27/17

UNLESS OTHERWISE
SPECIFIED DIMENSIONS APPROVALS

DATE

ARE IN INCHES DRAWN

+  TOLERANCES ON: MRB 5/28/93

HOLES +0.004  FepeckeD

—0.002 WDV 6/24/93

FRACTIONS +1/32

APPROVED

DECIMALS (XX) +0.020 LM 6/24/93

DECIMALS (XXX) +0.010 APPROVED

ANGLES +1/2° MR 6/24/93

SQUARE CORNERS AND ANGLES ARE 90" UNLESS OTHERWISE SPECIFIED.

WORKMANSHIP:
PER SPEC ENG032

MATERIAL:

FINISH:

TABLE A PROPRIETARY INFORMATION
“USEROLDER NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PART NUMBER VOLTAGE SHUNT |FUSE ALARM | FUSEHOLDERS LOCATION NOTES PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
111—3783-00 +24 OR —48 VDC YES 20 1—20 52
T11—3783—01 +24 OR —48 VDC YES 6 1-5,20 52,59 I
111-3783—10 +24 OR —48 VDC 600A YES 20 120 52 UNIPOWER
111-3783—11 +24 OR —48 VDC 600A YES 6 1-5,20 52,59
POWERING TECHNOLOGY
SHEET INDEX NOTE:
THE ISSUE OF SHEET  REFLECTS THE LATEST ISSUE FUSE PANEL
OF THE DRAWING SET. WHEN THE DRAWING SET IS 20 X 3A — 70A TPS
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS SHEET INDEX 600 AMP MAXIMUM
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS SHNO|1]2]3]|4 Size B DOC TYPE / NUMBER ISSUE
ARE NOT CHANGED. ISSUE |6|4]|4]4 PN 111-3783 6
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 |PN111-3783_SHT_1_iss_6
1 2 A 3 4




ED991-5001-B3 Issue 3 1 2 ¢ 3 4

O—=. ™ s
EQLEEW@WW@WIEEEE /
MQD@D SIS
O T o oo oo ool o] oo | o (@)

_ incay I

T

T T T
\ \ \ \ \ \ \ \ \ \ \ \ \ \
[F1)| [[F2) | [[F3]| |[F4]| |[F5)| |[Fe]||[F7]||CF8]| |[FOl| [[F10]| [[F11]| |[F12]| |[F13]| |[F14]| [[F15]| |[F16]| |[F17]| |[F18] [[F19]| |[F20]

TOP VIEW
(111-3783-10 SHOWN)

N A A A=

= 0.25 x 0.50 OBR.
4 PLACES
OUTPUT FUSE Fuﬂss\/ FUSE FUSE FUSE || FUSE ﬁu.,ss FUSE FUSE FUSE FLLSEJFI‘gE FUSE FUSE FUSE Fl.'lgE(/Fl#E FUSE FUSE FUSE /
NOTE 54 g @ — o *
] [@l[@ [[@l[e@l[el[e@|[el[e]l[e@|[e][e][e][[el[el[el[e@l[@][s|[®]][] ©
6.97 4.00 I 1 o 1 e o 1 e ] ] A
g 057 010 INNNNRNNRRNNNND]
2 PLC'S 44\\\ } [:I[:I[:I[:I ®
o i o I2IDEONSIENENSIENENENENOIENENONENTOIE) -
-0 — 1.49 [elelle]lelellelellellelelle]ellelle]elle]elellelel]™™
—J i
6.00 ——— \\
22,
1.00 38
7.48 23.00
LEFT SIDE VIEW FRONT VIEW —— DETAIL A
(TYPICAL) (111-3783-00, =10 SHOWN)

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
M% PN  111-3/83 4

SCALE: SHEET: FILE NAME:

NONE 2 OF 4 |PN111-3783_SHT_2_ISS_4

1 2 ? 3 4



ED991-5001-B3 Issue 3

4
% ‘Em vd ﬂ F20A
% © © © © © © © © () @Q
S lollollollollollollollollollollollolloloflollolloll ol ol o F20
1
O O O @) O O @) O @) O @) O @) O O O @) O @) O E
R NSO | S | DS S| S| R | R PO ORGSR | OO0 | DS | US| O | OO | O | O | DO ﬁt/ mi
| = = T = T = T T = = T = T = = T = T = T = T = T =
o | 1 N L me | 21
]
N (ONONONONONONONONONONOINONONONO !
= -
/\ © I/\t O — )
O TO
% F3 LOADS
( ) / REAR VIEW @
(111-3783-00 SHOWN) TRA
25
INPUT BUS BAR =5
WIRING DETAIL FOR +24V
|% 19 . FA ALARM BD. FROM %) O
/—@ ssur; M—9_0_ . TBW : oA
: NC  FA ALARM
PN D'gj;':l e w R NOTE 56
C:E@ :—ﬂ:ﬁ?}m rrrrrrrrrrrrrrrrrrrrrrrrrrr ~ FROM SYSTEM GND-RETURN +24vDC OR -48vDC , O
4 24VDC FUSE ALARM SIGNAL FUSE ALARM SIGNAL
UsE  FUSE . \’/ C)/ MATN FUSE ] .5@. il i‘;t(‘ij < FROM FUSE PANEL
. 4|al, T
DATE: _ o | )
-t e e AR
o|le|e | BT e )
)ﬁ Dz;ﬂ ¥ Q306-2927- (O SCHEMATIC DIAGRAM
= [ ] D1 ASSEMBLED N
© NOTE 104
/ /@9 PLACE JUMPER HERE
(—_ o |
— C)|——
-
® ® ® @}[ESD GRD] WIRING DETAIL FOR —48V
|% . . . FA ALARM BD.
ISSUE —_0_6o_ . 81 C FA ALARM
SIGNAL GMT FUSE : N
DETAIL A = Deﬂjﬂ% o QT
RI[ | e — +—< FROM SYSTEM GND-RETURN
(111-3783-01, 11) C 02| (m ryl e —
= D5‘|];|' 1 UYIN ~ —48VDC SIGNAL FROM ANOTHER PANEL
VMANU .\a:l_. 45W RV E — 4 —48V OUTPUT TO EXTERNAL MONITOR
DATE'- 2 —FA _48VDC FUSE ALARM SIGNAL PROPRIETARY INFORMATION
y 3 -4V IN <————< FROM FUSE PANEL NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
- BA’ E 4 24V 0UT PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
L ‘306729277 SIZE DOC TYPE / NUMBER ISSUE
D1 ®\SSEMBLED N ]m PN 111-3783 4
PLACE JUMPER HERE SCALE: SHEET: FILE NAME:
NONE 3 OF 4 PN111-3783_SHT_3_ISS_4
1 2 ? 3 4




ED991-5001-B3 Issue

3

CALLOUT TABLE

QUANTITY | QUANTITY|QUANTITY|QUANTITY
SEQ. #| PART NUMBER DESCRIPTION -00 -01 -10 -11 NOTES
0 111.3783.XXA | FUSE PANEL; BASIC TPS W/O FUSE HO - 1 - 1
1 202.4205.00A |PNL,FRONT TPS FUS 20 POS 23" 1 - 1 -
2 205.0901.02C |CARD HLDR,1.5"X5"BLK TPS FUSE 4 4 4 4
3 202.5309.00A |CVR; TPS FUSE BLANK PANEL, 1" - 14 - 14
4 209.3287.00 |INPUT BUS,TPS FUSE SHUNT-DIST 1 - 1 1
6 209.3288.00 |INPUT BUS, TPS FUSE INPUT 1 - 1 -
7 209.3289.00 |BUS,TPS FUS SIG INTERCONNECT 1 - 1 -
8 210.1281.00 |*SCREW:SS,HEX HD. 1/4-20 X 3/4 25 - -
9 210.1282.00 [*SCREW:SS, HEX HD. 1/4-20 X 1" 23 - 23 -
10 210.1450.01 [*SCREW:STL,SEMS,P/HD PHIL,6-32 44 - 44 -
11 210.7003.00 |*SCREW:STL,HEX HD,1/4-20 X 3/8 2 - 2 -
12 211.0466.00 |*NUT,HEX STL:4-40, ZINC, "KEPS 4 - 4 -
13 211.0531.00 |*NUT,HEX SS:1/4-20 25 - 23 -
14 212.0500.00 |*LOCKWASHER,SHKPF:1/4 INTERNAL 2 - 2 -
15 212.2516.00 |*WASHER,FLAT SS: 1/4" US "STD" 30 - 26 -
16 212.5754.00 |WASHERBELLEVILLE, SS:1/4X.500 30 - 26 -
17 JP00300 STANDOFF,GLSTC,HEX,1"X1"1/4-20 1 - 1 -
18 225.3094.99 |LABEL:0.939"X4" ADHESIVE POLY 1 - 1 -
19 225.3103.00 |LABEL:WRITE-ON,1-5 TPS FUSE 1 - 1 -
20 225.3103.01 |LABEL:WRITE-ON,6-10 TPS FUSE 1 - 1 -
21 225.3103.02 |LABEL:WRITE-ON,11-15 TPS FUSE 1 - 1 -
22 225.3103.03 |LABEL:WRITE-ON,16-20 TPS FUSE 1 - 1 -
23 263.0015.00 |JACK,BANANA: UNINSULATED, #101 1 1 1 1
24 275.0410.00 |FSE HLDR:TPS 3-70A REARACCESS 20 - 20 -
25 385.5152.00A [>ASSY: ALM BOARD, BKT, LABEL, 1 - 1 -
26 225.3100.635 |[LABEL, WRIST STRAP GROUND 1 - - -
27 209.3286.00 |INPUT BUS;TPS FUSE MAIN BUS 1 - 1 -
28 209.3286.10 |INPUT BUS, TPS FUSE SHUNT BYPAS 1 - - -
29 210.8128.00 |BOLT,HEX,SIL, BRONZE:3/8-16 X - - 1 2
30 695.1093.03 |RES,SHUNT:METER,600A 50MV - - 1 1
31 209.3286.10 |INPUT BUS, TPS FUSE SHUNT BYPAS - 1 - -

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEB

PN

DOC TYPE / NUMBER

111-3/83

ISSUE

4

SCALE:
NONE

SHEET:
4 OF 4

FILE NAME:
PN111-3783_SHT_4_ISS_4

4




ED991-5001-B1 Issue 3 1

4

ISSUES
ISSUE | DESCRIPTION ISS. BY
# ISS. DATE
SHEET INDEX NOTES: MANUFACTURING NOTES: 4 | SEE PCOf 44452 w0
. . 8/27/17
A
1. THE ISSUE NUMBER OF SHEET 1 REFLECTS THE LATEST 101.  INSTALL DUMMY FUSE 276—0001-00 INTO ALL
ISSUE OF THE DRAWING SET. FUSE HOLDERS.
2. WHEN THE DRAWING SET IS REVISED, ONLY THE ISSUE 102. BAG ALL FUSE DESIGNATION LABELS AND PLASTIC
NUMBERS OF MODIFIED SHEETS ARE CHANGED, THE ISSUE ABEL COVERS. TIE WRAP THIS BAG TO A FRONT
NUMBERS OF UNMODIFIED SHEETS ARE NOT CHANGED. PANEL MOUNTING HOLE.
B
51. FUSE PANEL IS RATED FOR A MAX OF 60A AND WILL UNIESS o SSPROVALS AT
» ACCOMMODATE SIXTEEN O—10A TYPE 70 INDICATING o ARE N NCHES oA s
FUSES. FUSES ARE NOT INCLUDED BUT MAY BE = 10004 ok 30/
—0.002
ORDERED SEPARATELY. — .
DECIMALS (XX) +0.020 DBW 2/8/15
52. THE INPUT COPPER BUS BAR IS DESIGNED FOR v I
DlRECT CONNECT'ON TO VERT'CAL BAR SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
c SYSTEMS. FOR OTHER SYSTEMS, HOLES ARE PROVIDED WORKMANSHIP:
FOR BOLTING LUGGED CABLES. INPUT LUGS ARE MATERIAL:
NOT PROVIDED BUT MAY BE ORDERED SEPARATELY.
FINISH:
53. OUTPUT LOAD WIRES CAN BE ATTACHED TO THE FUSE
OUTPUT POSTS BY WIRE WRAPPING OR SOLDERING. S ——
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
— 54 THE FUSE ALARM S|GNAL CAN BE EXTENDED TO A PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SEPARATE ALARM SYSTEM. SEE SCHEMATIC. l
55. PAINT COLOR IS ANSI 61 GRAY. UNIPO W ER
SHEETlNDEX POWERING TECHNOQLQGY
SH NO|1]2
56. BUBBLE REFERENCE DESIGNATORS REFER TO FUSE PANEL
D CALLOUT TABLE LINE NUMBER. ISSUE | 4| 3 WITH FUSE ALARM

16 0—10A TYPE /0

SIZE DOC TYPE / NUMBER ISSUE
B PN 111B—3001-00 4

SCALE: SHEET: FILE NAME:

N/A 1 OF 2 |PN111B—3001-00_SHT_1_ISS_4

4




ED991-5001-B3 Issue 3 1 2 3 | 4
NOTE 101
CALLOUT TABLE
LINE
R e M Y e P T PN B PESCRIPTION PART NUMBERS | QUANTITY
1 FUSE PNL: 8 DUAL 70 E/W FA 1.75" x 19" 202-7011-01 1
T = T ASSY: ALARM BOARD, BKT, LABEL, FOR FA 385-5152-00 1
A BUSBAR: FUSE PANEL, 8 DUAL 70 209-4329-01 1
Eﬁuﬁﬁf@@w [ I I I 1 I I I SCREW: STL, MS, 6-32 x 3/3" PHIL P/HD "SEMS”| 210-1430-00 2
A i i 7 i 5 | FUSE HOLDER: DUAL-70 69-L1 275-0600-00 8
EE;QJ;”P’ 1 H
©n
TOP VIEW WIRHE D_ETA_IL FOR +24V
T%; . T FA ALARM BD.
ISSUE: .T.—.—: T8I :c FA ALARM
- OUTPUT
RI a1 T one ™| Frou SYSTEM GND-RETURN
C :ES Dl ’TWJW wme— | <« +24VDC FUSE ALARM SIGNAL
) E T —man FROM CIRCUIT BREAKERS
e s g = i e
NOTE 51 NOTE 53 [od—4\ 5 ; %i 4 AJSOSSEMZBSLZEE\
PLACE JUMPER HERE
_—— NOTE 102 \
= | / = ot oo LoADs
} WIRING DETAIL FOR —48V
D D o+—4 N\ o 4‘9 T%_;_._T FA ALARM BD.
REAR V][EW N h1e ISSUE: .T._._: T8 :c FA ALARM
e oMl 19 LI
@ R l—l]__[lfgm & ———— ] -~ FROM SYSTEM GND—RETURN
e C ég B ® 2wN<———4—— —48VDC SIGNAL FROM ANOTHER PANEL
) o VANL. B Lo ! v oné———F—— —48Y OUTPUT TO EXTERNAL MONITOR
S AR . R et | E e e
INDICATING FUSE o HVDC OR 4BVDC Dém) ol o
0 WAL L9506 5007 0D
(@D} o(Fl/(Fz) O (F3) (F4) ||o(F5) (F6) |[[o (F7) (F8) i(FQ) (F10) || o(F11) (F12) || o(F13) (F14) || o(F15) (F16) Cjit ‘ FUSE ALARM: SIGNAL L _./X}SOSSEMQBQLZEE IN
C‘) - ’ - - ’ ’ ’ ’ C‘} L SCHEMATIC DIAGRAM
‘ 18.3800 |
19.0000
FRONT VIEW
0.281” DIA, 2 PLS NOTE 52
_ i /
5] bu‘za
Ie—0— |
[ — — 100 |— PROPRIETARY INFORMATION
\ 6.00 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
! ‘ PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
RIGHT SIDE VIEW B| - 115300100 3
SCALE: SHEET: FILE NAME:
NONE 2 OF 2 PN111B-3001-00_SHT_2_ISS_3




ED991-5001-B1 Issue 3 1 2 ¢ 3 4
ISSUES
ISSUE| DESCRIPTION ISS. BY
# ISS. DATE
5 | SEE pco# 44452 wo
6/27/17
/— NOTE 54 /— NOTE 53 / NOTE 55
© ° ©® ° © © © ® © © ® ' © S— |
O, Q"QQ"' ) 9"99"99"’ ) 9"@9"99"’ ) Q"QQ 125 172
(@) o p\®_# p\®_=& p\®_=& p\e_=o p\.®_= p\¢® =& pD\® # D\® < pNe ~ DN G—L l
22.38
23.00
REAR VIEW 0.25" X 0.50" OBR
/—— INDICATING FUSE NOTE 101 7 4 PLC'S / 0.281" DIA, 2 PLC'S |
(@) OF3 __ F4 oFs____F6 oF7____F8 ors  Fro |lorrr  F12 |lor1s  F14 |[{oFris  F16 |loF1z  F1s || oF19  F20 C) i b:l W;ZF
- '
C) ) ) [ ) ) ) [ ) ) D —a
— 1.00 [—
6.00
FRONT VIEW RIGHT SIDE VIEW
UNLESS OTHERWISE APPROVALS DATE
SPECIFIED DIMENSIONS
ARE IN INCHES DRAWN
+ TOLERANCES ON: SAN 3/ 19/86
ENGINEERING NOTES: MANUFACTURING NOTE: BAT HoLes *0.00¢ | coneckeo
51. UNASSIGNED 101. BAG LABELS AND PLASTIC COVERS. ; g’c‘j;if”s’s(xx) fz)/ 320 »g’VPVROVED 5110186
TIE WRAP TO INPUT BUS. —
52. FUSE PANEL IS RATED FOR A MAX OF 60A AND WILL ACCOMMODATE INPUT BUS BAR ZZEZZ/;LS — ft;}gzo AFPROVED
TWENTY-TWO 0-5A TYPE 70 INDICATING FUSES. FUSES ARE NOT SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
INCLUDED BUT MAY BE ORDERED SEPARATELY, PER ED 991-0009-00. T
PER SPEC EN('3032
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION T TERIALS
TO THE VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY, PER ED 0 20GA ) ) > FINISH:
991000200 (NOTE 55) FA @ ( ( C
54. OUTPUT LOAD WIRES CAN BE ATTACHED TO THE FUSE OUTPUT
—_— = PROPRIETARY INFORMATION
POSTS BY WIRE WRAPPING OR SOLDERING. ) LOADS 2 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
F1 F F PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
55. THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE
ALARM SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST
BY WIRE WRAPPING OR SOLDERING. SCHEMATIC DIAGRAM
56. SELECT THE PAINT COLOR FROM TABLE A: E

IE. 111B-3005-00, COLOR A = ANSI 61 GRAY FINISH
IE. 111B-3005-00, COLOR B = BEIGE FINISH

TABLE A
COLOR DESIGNATOR
ANSI 61 GRAY A
BEIGE B

POWERING TECHNOLOGY

FUSE PANEL
22 TYPE 70
+ 12V TO 130V

SIZE DOC TYPE | NUMBER ISSUE
B PN  111B-3005-00 5

SCALE: SHEET: FILE NAME:

N/A 1 OF 1 PN111B-3005-00_ISS_5

4



AutoCAD SHX Text
ENGINEERING NOTES:

AutoCAD SHX Text
FRONT VIEW

AutoCAD SHX Text
SCHEMATIC DIAGRAM

AutoCAD SHX Text
REAR VIEW

AutoCAD SHX Text
RIGHT SIDE VIEW

AutoCAD SHX Text
TABLE A

AutoCAD SHX Text
MANUFACTURING NOTE:

AutoCAD SHX Text
B


NOTE 53

T e =—e7 o o7 = 1 |
*{Q ©) WO”OI 0"0‘ g") 1.25 1.72
a e Wiiiiiiiiille) -. phe o/ g\ 8/ gie s/ g e s = | l
22. 38
23. 00
NOTE 101 0.25" X 0.50" OBR
4 PLC'S /
@ oF15 F18 oF17 F18 || cF19 F20 G)
10 @C °of O o
@ o [-] [] @

FRONT VIEW

ENGINEERING NOTES:
51. UNASSIGNED

52. FUSE PANEL 1S RATED FOR A MAX OF 60A AND WILL ACCOMMODATE
TWENTY O-10A TYPE 70 INDICATING FUSES. FUSES ARE NOT
INCLUDED BUT MAY BE ORDERED SEPARATELY, PER ED 991-0009-00.

53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO THE wewhiedgs VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY, PER
ED 991-0002-00.

54. OUTPUT LOAD WIRES CAN BE ATTACHED TO THE FUSE OUTPUT
POSTS BY WIRE WRAPPING OR SOLDERING.

55. THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE
ALARM SYSTEM. CONNECT ALARM WIRE TO FA-SIGOUT FOR A
POSITIVE GROUND SYSTEM (NEGATIVE LOAD) OR TO FA+ SIGOUT
FOR A NEGATIVE GROUND SYSTEM (POSITIVE LOAD).

56. AN ALARM MODULE EQUIPPED WITH ALARM RELAY IS AVAILABLE.
ORDER PER DRAWING ED 991-0009-00.

§7. SELECT THE PAINT COLOR FROM TABLE A
IE. 111B-3006-00, COLOR A = ANSI 61 GRAY FINISH
[E. 111B-3006-00, COLOR B = BEIGE FINISH

TABLE A
COLOR DESIGNATOR
ANSI 61 GRAY A
BEIGE B

DOC TYPE/NUMBER
PN 111B-3006-00

(NOTE

BAT
N\

INPUT BUS BAR

Revision | Description PCO/ECO# | BY/DATE
6 LOGO UPDATE 44452 |WD/6-26-17

0.281" DIA, 2 PLC'S ~ 0. 29
r .
0 —rﬁ)l |
mim
= o=
— 1. 00
6. 00

RIGHT SIDE VIEW

MANUFACTURING NOTE:

130V GRD |O
48V GRD |O
24V GRD (O
FA-SIG IN |O D) ) 0206 101. BAG LABELS AND PLASTIC COVER
FA-SIG OUT |O Q Q TIE WRAP BAG TO INPUT BUS.
55)  Fa-sIc ouT |O
clo J V= Toags — 102. INSTALL DUMMY FUSE 276-0001-00
(NOTE 56) NC |O 1 F2 F20 INTO ALL FUSE HOLDERS.
NO (O
SCHEMATIC DIAGRAM POWERING TECHNOLOGY
UNLESS OTHERWISE SPECIFIED FILE- PROPRIETARY INFORMATION
O ERANCES A !N INCHES PN111B-3006-00 ISS 6 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
FRACTIONS  DECMALS  ANGLES - = PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
+1/32 XX £0.02 + 1
/ XXX £0.010 APPROVALS DATE FUSE PANEL
DRAWN o o 02—16-g0l 20 TYPE 70 E/W FA
DESIGNED 24, 48 OR 130V
SIZE | RATING DOC TYPE / NUMBER I1SSUE
B | sTanbaro PN 111B-3006-00 6
SCALE

N/A

DISTRIBUTION CODE
9R

SHEET 1 oF 1I



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
PN111B-3006-00_ISS_6

wdeakins
Typewritten Text

wdeakins
Typewritten Text

wdeakins
Typewritten Text

wdeakins
Typewritten Text

wdeakins
Typewritten Text
6

wdeakins
revision table

wdeakins
Typewritten Text
6

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


S

3 I

Revision | Description PCO/ECO# | BY/DATE
4 LOGO UPDATE 44452 WD/6-26-17
l —
@
1.58
) ’ r ] "
? TBI (-T-) 3.78
1 @ 1 5.25
1 FA 2.25 8.496" DIA,
| '%E GRD * . /2 Fics ‘=‘:ﬂ
T@z ¢ I é ) ﬂ:
a») o mg P \
o 5 NC1 o] -
1 % E ® \ NOTE 52
/ 18.38 »
/ 1990 —= 1.80 |= B.B2
NOTE 55—/ -
REAR VIEMW SIDE VIEMW
8.25* X @.58" OBR
MAIN FUSE (INSIDE), NOTE S1 4 PLCS
/ PR FUSE \ ENGINEERING NOTES: B
/ / 51) EACH TYPE NON/TPN FUSE HOLDER REQUIRES ONE MAIN AND ONE
Il ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 8-3@ AMPS.
o lo_/r1/ ofe Fé @—m—? 3 g_]l]_o Fa_ollo 5 0] o &) o THE RECOMMENDED TYPE 78 ALARM FUSE IS ©.5 AMPS. EACH TYPE 78
/ ;’-‘\ ;"'\ ""’\ f’-'\ ".‘\ FUSE HAS A BUILT IN ALARM INDICATOR. FUSES ARE NOT INCLUDED,
o \9: \Q.- \QJ \QJ \g; BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING EDSS1-@029-§2.
52) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO MAlSmad VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS —
O o O o O ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT
DRAWING EDSS 1-8802-28.
53) OUTPUT LUGS FOR CONNECTING LOAD CABLES ARE PROVIDED AND
(-] O HAVE A WIRE RANGE OF 14-2 GA. THESE LUGS MAY BE REMOVED
IF DESIRED.
o) (o] 54) FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 18" RACK. FOR
L& o) |]] ] e |]| @ oo @ I]J (=] gj (o] O MOUNTING IN A 23" RACK, ORDER 2 ER 2@8-4@78-82 ADAPTER
BRACKETS. SELECT THE PAINT COLOR CODE PER NOTE 56.
\ 55) AN ALARM ASSEMBLY IS INCLUDED. DURING A FUSE FRAILURE
A FRONT PANEL RED LAMP WILL LIGHT AND RELAY K1 WILL BE c
FRONT VIEMW ALARM LAMP ENERGIZED. RELAY CONTACTS ARE RATED 2 AMPS AT 28VDC,
: 1 AMP AT 6BVDC, AND 12 AMP AT 128VDC RESISTIVE. TERMINAL
*FA" ON TB1 CAN BE USED TO EXTEND THE FUSE ALARM SIGNAL
INPUT BUS BAR TO A SEPARATE ALARM SYSTEM.
> r. T VOLTS MODEL NUMBER 56) SELECT THE PAINT COLOR FROM TRBLE A.
0 IE: 111B-3@18-, COLOR A = ANSI 61 GRAY FINISH
p R - 12V 1 11B-3912-81 IE: 111B-3818-, COLOR B = BEIGE FINISH
TRBLE A
+7/— 24V 111B-3010-82 COLOR DESIGNATOR |
T e uewen]  [eaw UNIPOWER
TB1 LOADS (OUTPUT) BEIGE B
a1 lo 1 57) ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED. POWERING TECHNOLOGY
@YES‘ ==ci K1 PROPRIETARY TNFORWIATT
o2 |olR o & 4 | X F S ——————— =TT PROPRIETARY INFORMATION
7 D DIMENSIONS FRE IN INCHES PN111B-3010 ISS 4 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
7 SCHEMATIC DIRGRAHM TOLERANCES FRE: - PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
J"*-L‘ FRACTIONS DECIMALS FANGLES o
c3 |o- 54:’ t 132 XX t@.@2 1 e
XXX 8,918 FPPROVALZ FUSE PANEL WITH ALARM
0
ALARM NO 4 |of T P, [ po | 8-27-88 5 ©-32 AMP NON / TPN
NC 5 |© _:-:.ﬁﬁ DESIGNED 19"
d BW 18722786 Is17e | RATING DOC TYPE ~ NUMBER 1SSUE
|Ferre enar
R | 92588 | B STANDARD PN  111B-3818- 4
DOC TYPE/NUMBER MARKETING DISTRIBUTION CODE
PN 111B-3210- Pt A Lof 1

3 I


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Typewritten Text
PN111B-3010_ISS_4

wdeakins
Typewritten Text
4

wdeakins
UNIPOWER-LOGO

wdeakins
revision table

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


Revision | Description PCO/ECO# | BY/DATE

5 LOGO UPDATE 44452 WD/6-26-17

NOTE 55

1.58

5.85

2.25 /—29.455' DIA, =|:||

° o o o@\ ° ‘
—

- 18.38 \ -

\ ~» 1.00 (= -]

]
7

©
(=]
©
oN
eN

d 19.e8

RERAR VIEMW \“m“53 SIDE VIEMW

B.25" X 8.58" OBR
4 PLCS

MAIN FUSE (INSIDE), NOTE 52

ALARM FUSE
/_ ENGINEERING NOTES:
/ / 51) UNASSIGNED
© /r1/ olle 2 oJle 3 0o r+ offe rs olfe FE___@ o 52) EACH TYPE NON/TPN FUSE HOLDER REGUIRES ONE MAIN AND ONE
ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 8-3@ AMPS.

/ {6} {6} {e} {e} {6} THE RECOMMENDED TYPE 7P ALARM FUSE IS @.5 AMPS. EACH TYPE 70
(- &S & & & FUSE HAS A BUILT IN ALARM INDICATOR, FUSES ARE NOT INCLUDED,
BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING EDSS1-P283-028.

O O O O O O 53) THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION TO

MEREeel VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS, HOLES
ARE PROVIDED FOR BOLTING LUGGED CRBLES. INPUT LUGS RARE NOT
PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING
D C) EDS91-p282-88.

o 54) OUTPUT LUGS FOR CONNECTING THE LOAD CABLES ARE PROVIDED RAND

o
HAVE A WIRE RANGE OF 14-2 GA. THESE LUGS MAY BE REMOVED
[e o]lo oo gﬂo ojle oo o] i

55) THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM
SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST BY WIRE
FRQNT VIEM HWRAPPING OR SOLDERING.

SB) FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 18" RACK. FOR
MOUNTING IN A 23" RACK, ORDER 2 EA 288—4878-B2 ADAPTER
BRACKETS. SELECT THE PAINT COLOR CODE PER NOTE S57.

INPUT BUS BRR voLTS MODEL NUMBER
P = — - * S7) SELECT THE PRINT COLOR FROM TRELE A.

0 28GR +/-12 TO 138V 111B-3812-88 IE: 111B-3812-, COLOR A = ANSI 61 GRAY FINISH

FA © — IE: 111B-3812-, COLOR B = BEIGE FINISH

’ S | )UNIPOWER

F1 F2 F3 Fa FS FE ANST 61 GRAY A POWERING TECHNOLOGY
BEIGE B

LOAD (QUTPUT)

UNLESS OTHERWISE SPECIFIED" | F|LE: PROPRIETARY INFORMATION

) DIMENSIONS ARE IN INCHES NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
SGHE Hﬁ T I @ E HGREH TOLERFINCES FRE: PN111B-3012_ISS_5 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
FRACTIONS DECIMALS  ANGLES

t 132 XX te.@ t 1

0K £0.010 FPPROVALS | DATE FUSE PANEL;
[ PKD | s-25-88 6 P-30 AMP NON/TPN

TESTGED 13"

BW 8-25-86

I mg: 9-25-86 = STANDARD PN 111B-3812- >

1ZE RATING DOC TYPE ~ NUMBER ISSUE

DOC TYPE/NUMBER MARKETING
PN 111B-3812 FCFLE DISTRIBUTION CODE

SHEET
SR 1 of 1

1 2 3 | 4



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Typewritten Text
PN111B-3012_ISS_5

wdeakins
Typewritten Text
5

wdeakins
UNIPOWER-LOGO

wdeakins
revision table

wdeakins
Typewritten Text
5

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


ED991-5001-B1 Issue 3 |

4

E

51.

NGINEERING NOTES:

ORDER FUSE PANEL PER TABLE A.
TABLE A

VOLTS MODEL NUMBER

+ 12V 111B-3014-01

+ 24V 111B-3014-02

+ 48V 111B-3014-04

52. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION

TO VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,

HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED, BUT MAY BE ORDERED SEPARATELY PER

ED 991-0002-00.

53. OUTPUT LUGS FOR CONNECTING THE LOAD CABLES ARE PROVIDED AND

54.

HAVE A WIRE RANGE OF 14-2 GA.

AN ALARM ASSEMBLY IS INCLUDED. DURING A FUSE FAILURE A
FRONT PANEL RED LAMP WILL LIGHT AND RELAY K1 WILL BE
ENERGIZED. RELAY CONTACTS ARE RATED 2 AMPS AT 28VDC,

1 AMP AT 60VDC, AND 1/2 AMP AT 120VDC RESISTIVE. TERMINAL
"FA" ON TB1 CAN BE USED TO EXTEND THE FUSE ALARM SIGNAL
TO A SEPARATE ALARM SYSTEM.

55. SELECT THE PAINT COLOR FROM TABLE B:

IE. 111B-3014-, COLOR A = ANSI 61 GRAY FINISH.
IE. 111B-3014-, COLOR B = BEIGE FINISH.

MANUFACTURING NOTES:

101. ALL WIRE 20 GA. UNLESS OTHERWISE SPECIFIED.

102. BAG OUTPUT LUGS AND FUSE DESIGNATION LABELS,
AND TIE WRAP TO INPUT BUS.

TABLE B
COLOR DESIGNATOR
ANSI 61 GRAY FINISH A
BEIGE B

56. EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM

FUSE. MAIN FUSES ARE TYPE NON OR TPN 1-30 AMPS. THE RECOMMENDED
TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT INCLUDED,
BUT MAY BE ORDERED SEPARATELY PER ED 991-0009-00.

BAT

INPUT BUS BAR

S 5D DI ST 5D D

R 1|01-2 . ! F8 F9 F10 F11 F12 F13 F14

@{DS7 —
RED
GRD 2 |O R L g

EN

K1
XK1 \ F1 F2 F3 F4 F5 F6 F7 /

TO LOADS

6
BK 5 N

ISSUES

ISSUE
#

DESCRIPTION

ISS. BY
ISS. DATE

4

SEE PCO# 44452

WD
6/27/17

UNLESS OTHERWISE

SPECIFIED DIMENSIONS

+

ARE IN INCHES
TOLERANCES ON:

APPROVALS

DATE

DRAWN
PKD

HOLES

+0.004
-0.002

8/29/86

CHECKED
BW

FRACTIONS +1/32

8/22/86

APPROVED

DECIMALS (XX) +0.020

DECIMALS (XXX) +0.010

APPROVED

ANGLES

*1/2°

SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.

WORKMANSHIP :
PER SPEC ENG032

MATERIAL :

FINISH:

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

FUSE 10 SCHEMATIC DIAGRAM PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
ALARM  No 4| Of-EL o—o
RELAY 9 NOTE 101
Y 8 N\
oL UNII Ovv ER
POWERING TECHNOLOGY
SHEET INDEX NOTE:
FUSE PANEL
THE ISSUE OF SHEET  REFLECTS THE LATEST ISSUE SHEET INDEX
OF THE DRAWING SET. WHEN THE DRAWING SET IS seno |1]2 7 30A NON/TPN
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS
ISSUE | 4|2 SIZE DOC TYPE [ NUMBER ISSUE
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS B
ARE NOT CHANGED. PN 111B-3074 4
SCALE: SHEET : FILE NAME:
N/A 1 OF 2 |PN111B-3014_SHT_1_ISS 4
- n A n A




ED991-5001-B3 Issue 3 1 2 ¢ 3 4
NOTE 102
010 1. 50
K1
(@) =
B1
@
D1 FA 2.25 5.25
@2 GRDL
D3c &
) @4 No >
@5 NC
@
RN olo
22. 38
23. 00
NOTE 54 REAR VIEW
0.25" X 0.50” OBR NOTE 52
4 PLC'S
ALARM FUSE NOTE 102
MAIN FUSE ( INSIDE)
/ [—1
E F1 o |/o Fo oo F3 oo 4 oo F5 oo F6 oo F7 o] o
4 I 4 4 I N~ é
o |
3.78
| | | | | | | ALARM
) - Hfm Q @
L |\ |\ L L |\ |\ % L
o oo oo oo oo ollo oo o] o
L ”»
— 0. 406" DIA
ALARM LAMP f—————————— 6.00 ———=11. 00 2 PLC S
FRONT VIEW
RIGHT SIDE VIEW
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
M PN  111B-3014-00 2
SCALE: SHEET: FILE NAME:
NONE 2 OF 2 PN111B-3014-00_SHT_2_ISS_2
1 2 3 4




¢ 3

ED991-5001-B1 Issue 3 | 1 4
ISSUES
ENGINEERING NOTES ENGINEERING NOTES (cont'p) SSUE | DESCAIPTION 5. oy
# ISS. DATE
52. EACH DEADFRONT FUSE HOLDER REQUIRES ONE MAIN AND ONE ALARM 59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE 9 | see Poo# 44452. WD
FUSE. MAIN FUSES ARE TYPE NON OR TYPE TPN 0-30 AMPS. THE NUMBER, SHEET 4. 6128117
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT
INCLUDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING 60. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. UNITS
ED991-0009-00. NOT EQUIPPED WITH A FUSE ALARM ASSEMBLY DO NOT HAVE A1.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO VERTICAL BUS BAR SYSTEMS AND RATED FOR 400 AMPS MAX. MANUFACTURING NOTES
FOR OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE
ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991-0002-00. 101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH
3/8"-16 x 3/4" BOLTS, P/N 210-8128-00.
54.  CRIMP LUGS MAY BE ATTACHED DIRECTLY TO FUSE-HOLDER STUDS.
STUDS ARE 1/4"-20, WITH HARDWARE PROVIDED. COMPRESSION 102. PROPER BUS BAR ARRANGEMENT IS CRITICAL, SEE FIGURE
LUGS FOR CONNECTING LOAD CABLES ARE PROVIDED ON -00 AND B1 AND B2, SHEET 3.
-10 PANELS, AND HAVE A WIRE RANGE OF 14-2 GA.
103. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNA-
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM. TION TAGS IN A BAG AND TIE WRAP TO THE INPUT BUS BAR.
1) UNITS NOT EQUIPPED WITH A FUSE ALARM BOARD (-00,-10):
CONNECT ALARM LEAD TO THE ALARM POST BY WIRE WRAPPING OR 104. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.
SOLDERING.
2) UNITS EQUIPPED WITH A FUSE ALARM BOARD (-13,-14): 105. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO
SEE SCHEMATIC DIAGRAM ON SHEET 3 FOR ALARM CONNECTION. ALL JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANU-
FUSE ALARM SIGNALS CONNECT "BAT" TO THE ALARM CONNECTION FACTURER'S INSTRUCTIONS.
WHEN A FUSE CLEARS.
106. INSTALL DUMMY FUSE P/N 276-00071-00 IN ALARM FUSE
HOLDERS ON XF1-8.
56. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT
UNLESS OTHERWISE APPROVALS DATE
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. SEE FIGURE B2, SPECIFIED DIMENSIONS
SECTION B-B FOR SHUNT AND BUSWORK DETAILS. b T s 10/6/86
HOLES +0.004 CHECKED
57. PAINT COLOR IS ANSI 61 GRAY. -0.002 TET 10/6/86
FRACTIONS i1/32 APPROVED
58. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER DECIUALS (XX) *0.020
WIRE SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE o i(;./gzo APPROVED

SUPPORTS.

SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.

WORKMANSHIP :

TABLE A PER SPEC ENG032
PART NUMBER VOLTAGE E/W SHUNT E/W FA BOARD FIGURES MATERIAL :
111B-3016-00 NO NO A2,C2
+12-130V FINISH:
111B-3016-10 YES NO A2,B2,C1
111B-3016-13 NoO YES A1,C2 PROPRIETARY INFORMATION
+t24, -48 NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
111B-3016-14 YES YES A1,B1,C1 PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
POWERING TECHNOLOGY
SHEET INDEX NOTE: FUSE PANEL
THE ISSUE OF SHEET — REFLECTS THE LATEST ISSUE SHEET INDEX 8, 0-30 AMP
OF THE DRAWING SET. WHEN THE DRAWING SET IS SHNO | 1| 2] 3|4 NON/TPN
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS ISSUE | 9| 3| 3| 3 SIZE boC TYPE | NUMBER ISSUE
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS PN 111B-3016 9
ARE NOT CHANGED. SCALE: SHEET : FILE NAME:
N/A 1 OF 4 PN111B-3016_SHT_1_ISS 9
1 ‘*‘ 3 4




REAR VIEW
(—14 SHOWN)

ED991-5001-B3 Issue 3 1 2 3 4
LABEL HOLDER *\\ ‘ -
| I I I I | I I | 1. 50
N s s N N Nia 7 N
o =] _
[FA ©
[F1] [F2] [F3] [F4] [F5] [F6] [F7] [F8] 0 2 25 EQ
©
D (@ | &
U N DI DI PiN PN DI N y . \
| )\ I I | | I N ore 53
L—
22.38”
23. 00"
ALARM FUSE (NOTES 52, 106) DETAIL A
MAIN FUSE ( INSIDE), (NOTE 52)
FRONT VIEW RIGHT SIDE VIEW
(—14 SHOWN) (—14 SHOWN)
NOTE 55
o [fF8] © © I[F7] © @/ (F6] © © [F3l © © [F4 ©
S D ®/
/ s ~
1 N | N1 L N || N
o 6
© © ‘k) (})‘k} (})‘k) (}J‘k}JE% © ©

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
]m PN 111B-3016 3
SCALE: SHEET: FILE NAME:
NONE 2 OF 4 |PN111B-3016_SHT_2_ISS_3
2 3 4




ED991-5001-B3 Issue 3|

NOTE 103
D@ 0

M

- ]
FIGURE C1

WITH SHUNT (-10,
SECTION C-C

-14)

(NOTES 56, 102)

T

T

/ _ ! ! f
/ I I |
@) o i
[FA
(@ | O
[ I I \ ‘%@
/ NOTE POSITION OF UNUSED HOLES.
FIGURE A1l FIGURE B1
WITH FA ASSEMBLY (-13, -14) WITH FA ASSEMBLY AND SHUNT (-14)
SECTION B-B
(NOTE 102)
/@ NOTE 103
/ = @NOTE 106 A A A
[ I I |
o T Jinig
i
=
) @) @—®
/ Il Il ( : > - }
/
NOTE POSITION OF UNUSED HOLES.
FIGURE A2
WITHOUT FA ASSEMBLY (-00, —-10
KA ASSEMBLY ( ) FIGURE B2
WITH SHUNT, WITHOUT FA ASSEMBLY (-10)
NOT SHOWN SECTION B-B
(NOTES 54, 103) (NOTE 102)
WIRING DETAIL FOR —48V
I% e e . FA ALARM BO. .—r——‘
1 e o . I IIE TO AMMETER | |
ISSUE: NC FA ALARM
a oM 9 o o ° |
RI lﬂD7 o0 -~ FROM SYSTEM GND-RETURN R1 |
(] =2 BI_re°, W N<————f-—— —48VDC SIGNAL FROM ANOTHER PANEL BAT —1o ‘
MANU. B el 48y 0T <————- --- =48V QUTPUT TO EXTERNAL MONITOR LNOTES 56, GOJ
DATE: BT - : Tame—— |« —48VDC FUSE ALARM SIGNAL _— =
D g1 6| @||mor | FROM CROUT BREAKERS
Bl e
WIRING DETAIL FOR +24V %E'z-ojgggj;ﬁ F1
e 0 e e L aum PLACE JUMPER HERE
1¢] \
g NG FA ALARM +24VDC OR -48VDC
SSK,D@L,,{ FROM SYSTEM GND-RETURN FUSE AL/ SO 20GA. BUS WIRE
[E MW} < +24DC FUSE ALARM SIGNAL
_ ~ wvan FROM CIRCUIT BREAKERS
: 1 vw < ———{-— +24VDC SIGNAL FROM ANOTHER PANEL
] awong——-—— 24V QUTPUT TO EXTERNAL MONITOR

lal
13
 @206-2921- (WD
ASSEMBLED IN

PLACE JUMPER HERE

FIGURE E1
SCHEMATIC DIAGRAM

LOAD (OUTPUT)

(Dor(r—]

FIGURE CZ2

WITHOUT SHUNT (-00,
SECTION C-C

-13)

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
M PN  111B-3016 3

SCALE: SHEET: FILE NAME:

NONE 3 OF 4 |PN111B-3016_SHT_3_ISS_3

4




ED991-5001-B3 Issue 3

CALLOUT LIST 111B—-3016-—

QUANTITY QUANTITY QUANTITY QUANTITY
L;EE NOTES DESCRIPTION PART NUMBERS —00 -10 -13 —-14
1 FUSE PANEL: 8 30/60A, 23”7 200-2706-00 1 1 — —
FUSE PANEL: 8 30/60A, 23" E/W ALARM 202-/7010-00 — — 1 1
S BUS BAR: FUSE PANEL, 8-30A 1/87 x 17 209-2702-10 1 - - -
BUS BAR: FUSE PANEL, 8, 30/60A, 237 209-42060-20 - 1 — 1
BUS BAR: FUSE TO SHUNT, 8, 30/60A 209-4201-00 — 1 - 1
BUS BAR: FUSE PANEL, INPUT TO SHUNT 209-4262-00 — 1 - 1
BUSBAR: SHIFTED, W/0 SHUNT, 8 POS 209-42066-00 - - 1 -
10 BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4” 210-8128-00 — 2 — 2
SPCR: HEATSINK, HEX FIBREGLASS, 1. 25" 213-1410-00 — 1 - 1
LABEL: FUSE 1 THRU FUSE 12 225-3100-411 1 1 1 1
LUG: 2-14WR, 1/4” STUD, SLUH-90 253-00/7-00 3 3 — -
15
FUSE HOLDER: 30AMP 2/5-1300-00 3 3 3 3
FUSE "DUMMY”: . 257 x 1.25" TYPE 70 2/6-0001-00 — - 3 3
ASSY: ALM BOARD, BKT, LABEL 385. 5152. O0A — — 1 1
RES, SHUNT: METER, 200A 50mV 695-1080-03 — 1 — 1
20
25
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
M PN 111B-3016 3
SCALE: SHEET: FILE NAME:
NONE 4 OF 4 PN111B-3016_SHT_4_1SS_3

4




—
w

I 4

PCO/ECO# | BY/DATE

Revision | Description

4 LOGO UPDATE 44452

WD/6-26-17

3.78

18.38

19.08

REAR VIEM

MAIN FUSE (INSIDE), NOTE 51

ALARM FUSE

8.25" X 8.58" OBR

)

£

[e_/r1/ oo

F2

offe

olfo

PEA
Q)

O

—_—

()

S

O

F3 [+]
A
1 @&

O

.|

=
T\
o7k

Lo

T8I

FA 1

GRD 2

ALARM NO 4

NC S

[0

FRONT VIEMW

INPUT BUS BRR

|
]

SIDE VIEM

ENGINEERING NOTES:

51) EACH TYPE NON/TPN FUSE HOLDER REQUIRES ONE MAIN AND ONE
ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 31-68 AMPS.
THE RECOMMENDED TYPE 7@ ALARM FUSE IS B.5 AMPS. ERCH TYPE 78
FUSE HAS A BUILT IN ALARM INDICATOR. FUSES ARE NOT INCLUDED,
BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991-0839-088.

THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO WmmEwee VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES. INPUT LUGS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT
DRAWING EDS91-8802-08.

OUTPUT LUGS FOR CONMECTING LOAD CRBLES ARE PROVIDED AND
HAVE A WIRE RANGE OF 14-2 GA. THESE LUGS MAY BE REMOVED
IF DESIRED.

FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 19" RACK. FOR
MOUNTING IN A 23" RACK, ORDER 2 EA 208-4878-02 ADAPTER
BRACKETS. SELECT THE PAINT COLOR CODE PER NOTE 56.

AN ALARM ASSEMBLY IS INCLUDED. DURING A FUSE FAILURE

A FRONT PANEL RED LAMP WILL LIGHT AND RELAY K1 WILL BE
ENERGIZED. RELAY CONTACTS ARE RATED 2 AMPS AT 28VDC,

1 AMP AT 6@vDC, AND 1-2 AMP AT 128VDC RESISTIVE. TERMINAL
"FA" ON TB1 CAN BE USED TO EXTEND THE FUSE ALARM SIGNAL
TO A SEPARATE ALARM SYSTEM.

52)

53)

54)

55)

Fl

? 9

DocC

PN

111B-3819-

VOLTS

MODEL NUMBER

56) SELECT THE PAINT COLOR FROM TABLE A.
IE: 111B-3818-, COLOR AR = ANSI 61 GRAY FINISH

+/— 12V

111B-3819-81

IE: 111B-3019-, COLOR B = BEIGE FINISH

+/- 24V

111B-3819-82

TABLE R

COLOR DESIGNATOR

F4 F5

+/- 48V

111B-3819-84

ANSI 61 GRAY A

LOADS (OUTPUT)

SCHEMATIC DIAGRAM

BEIGE B

| JUNIPOWER

S57) ALL WIRES ARE 2@ GA UNLESS OTHERWISE NOTED. POWERING TECHNOLOGY

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES ARE:

FRACTIONS DECIMALS  ANGLES

FILE:
PN111B-3019_ISS_4

t 132 XX te.\2 t 1

SOt e.e1e DATE

FUSE PANEL WITH ALARM
31-68 AMP  NON-TPN
19"

8-27-86 S

8-22-86 sT176

IG/FG ENGR =
MR | 9-25-86 5

RATING DoC TYPE ~ NUMBER
STANDARD PN 111B-30189-

ISSUE

DISTRIBUTION CODE
1of 1

N/A SR

I 3 | 4



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
PN111B-3019_ISS_4

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text

wdeakins
revision table

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


ED991-5001—B1 Issue 3 1 2 4'
ISSUES
ISSUE | DESCRIPTION ISS. BY
# ISS. DATE
ENGINEERING NOTES: MANUFACTURING NOTES: 4 |SEE PCO# 44452 /wr;
6/28/17
51. UNASSIGNED 101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH 3/8"-16 x
3/4" BOLTS, P/N 210—8128-00.
52. EACH DEADFRONT FUSE HOLDER REQUIRES ONE MAIN AND ONE ALARM
FUSE. MAIN FUSES ARE TYPE NON OR TYPE TPN 0-60 AMPS. THE 102. PROPER BUS BAR ARRANGEMENT IS CRITICAL, SEE FIGURE Bf,
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT SHEET 3.
INCLUDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING
ED991-0009—00. 103. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNATION TAGS IN
A BAG AND TIE WRAP TO THE INPUT BUS BAR.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO VERTICAL BUS BAR SYSTEM AND IS RATED FOR 400 AMPS 104. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.
MAX. FOR OTHER SYSTEMS HOLES ARE PROVIDED FOR BOLTING LUGGED
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED 105. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO ALL
SEPARATELY PER EQUIPMENT DRAWING ED991—0002-00. JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANUFACTURER’S
INSTRUCTIONS.
54, LUGS FOR OUTPUT CONNECTION MAY BE ATTACHED DIRECTLY TO FUSE—
HOLDER STUDS. STUDS ARE 1/4"—20, WITH HARDWARE PROVIDED. LUGS 106. INSTALL DUMMY FUSE P/N 276—0001—00 IN ALARM FUSE HOLDERS
ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT ON XF1-6.
DRAWING ED991-002-00.
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM.
CONNECT THE ALARM LEAD TO THE "FA+OUT" TERMINAL, IN NEGATIVE
SYSTEMS. FUSE ALARM SIGNALS CONNECT "BAT" TO THE ALARM TABLE A
CONNECTION WHEN A FUSE CLEARS. PART NUMBER VOLTAGE E/W SHUNT | E/W FA BOARD FIGURES NIESS OTHERWISE oPROVALS oaTe
111B—3021-00 +12 T0O NO NO SPECIFIED DIMENSIONS ST
56. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT 111B-3021-10 +130 YES NO % TOLERANCES ON: PKD 9/25/86
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. 111B—3021-13 +24, NO YES C1 HOLES t8;88§ i 9,/24/86
111B=3021—14 | —48 or +£130 YES YES c2 FRACTIONS £1/32 APPROVED
57. PAINT COLOR IS ANSI 61 GRAY. DECIMALS (XX) $0.020 MR 10/1/86
DECIMALS (XXX) +0.010 APPROVED
58. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER g:ﬁgi CORNERS WD fNL{é ARE 50 UNLESS OTHERWSE SPEGRED.
WIRE SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE WORKMANSHIP:
SUPPORTS. PER SPEC ENG032
MATERIAL:
59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE
NUMBER, SHEET 4. FINISH:
60. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. UNITS NOT S PRITTARY NTORMATION
EQUIPPED WITH A FUSE ALARM ASSEMBLY DO NOT HAVE Al. NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
HWERING TECHNOLOGY
SHEET INDEX NOTE: FUSE PANEL
THE ISSUE OF SHEET REFLECTS THE LATEST ISSUE SHEET INDEX 6’ 0_60 AMP
OF THE DRAWING SET. WHEN THE DRAWING SET IS SHNOJ1]2[3([4 NON/TPN
ISSUE |4|3|3]3 ISSUE

REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS
ARE NOT CHANGED.

SIZE DOC TYPE / NUMBER
B PN

111B-3021

SCALE:
N/A 1

SHEET:
OF 4

FILE NAME:

PN111B—3021_SHT_1_ISS_4

4




ED991-5001-B3 Issue 3 1 2 ¢ 3 4

LABEL HOLDER \

| I I I I I | 1. 50"
g g ([ 1 1 N ) |
- = I RS
N O wme o 0. 406 DIA., 3.78"
FA ) . e 2 PLACES
[F1] [F2] [F3] [F4] [F5] [F6] o) 2.25 1169 e =
«@| o | — [ 1
I — | O R }\
- e | & b \ T o—

AN N N AN |\ \

I | 5. 25" - \\\\\;
= ‘ @ NOTE 53
L—

18. 38" ~——————6. 00" 1. 000"

\ \ 19. 00" 7.63"

\ \ALARM FUSE (NOTES 52, 106)

MAIN FUSE ( INSIDE), (NOTE 52)

FRONT VIEW RIGHT SIDE VIEW
(—14 SHOWN) (—14 SHOWN)

SHUNT (NOTE 56)

NOTE 55 C C
/\@ [F6] @5 [F5] © © L[F4] [F3] & © [F2l/ © [F1] @ *
a @9 @9 o
: *— : ot : ® - ©
NI Ny < 7 ey N
S @1 ---—--on°
[ \ ¥ \ e —_—
© o= < ©
© © © © B B
PROPRIETARY INFORMATION
DETAIL D NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
REAR VIEW m% PN 111B-3021 3
(—14 SHOWN)
SCALE: SHEET: FILE NAME:
NONE 2 OF 4 PN111B-3021_SHT_2_ISS_3

1 | 2 ‘? 3 4



//7

FIGURE A1l

WITH FA ASSEMBLY (-13,-14)

77 =077,

2227
=M%

NOTE POSITION OF UNUSED HOLES.

FIGURE BZ2

WITH SHUNT, WITHOUT FA ASSEMBLY (-10)

SECTION B-B
(NOTE 102)

T\
o Wg i )
é

FIGURE D1
WITH FA ASSEMBLY (-13,—14)
DETAIL D

FIGURE AZ2

WITHOUT FA ASSEMBLY (-00,—10), DETAIL A

T

FIGURE B1

WITH FA ASSEMBLY AND SHUNT (-14)

T

SECTION B-B
(NOTE 102)

T

T

«
TR

ED991-5001-B3 Issue 3 1 | 2 * 3 | 4
NOTE 103 NOTE 103
/ /@NOTE 106 / /@NOTE 106
/ . / e
/ I | = | \/
/ s | O / o
FA
O
()
® (@] (@)
=i i A‘® / - I | © R® NOTE POSITION OF UNUSED HOLES.
/

jama| = o=
— )
L1 ¢
FIGURE C1 FIGURE C2 U
WITH SHUNT (—-10,-14) WITHOUT SHUNT (-00,-13)
SECTION C-C SECTION C-C
(NOTES 56,102)
[
P B
TO AMMETER[ | |
R1 |
BAT o—‘—»—/\A/\,—»—J—T ———————————
o | NOTES 56, 60 | ——f @ — — — — — — — — — —
’7 vo | T D s Y e M
| NCC = Ivor useo F1 F7 F6 F12
| N
‘ r-our | | |TO ALARM SYSTEM, 4GRD SYSTEMS \ |
| <iour |H|— |TO ALARM SYSTEM, -GRD SYSTEMS
L | w LOAD (OUTPUT)
‘ [ 24v [B|— |70 GRD, 24V SYSTEMS 20GA. BUS WIRE
S 4sv |H|— 'TO GRD, 4BV SYSTEMS
| | Tisov |H|— |70 RO, 130v SysTEmS PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
‘ ALARMAlBOARD PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
‘ 301-2866-00 SIZE DOC TYPE / NUMBER ISSUE
A ]m PN  111B-3021 3
- FIGURE E1
SCHEMATIC DIAGRAM SCALE: SHEET: FILE NAME:
NONE 3 OF 4 PN111B-3021_SHT_3_ISS_3

4




ED991-5001-B3 Issue 3

1 | >

v

CALLOUT TABLE 111B-3021-

L;FE NOTES DESCRIPTION PART NUMBERS QUéﬁ;jTY QU%F&;TY QU%@i;TY QU&F;;TY
1 SLEEVING, TEFLON TW, CLR, #8 032-0110-00 247 24" 24" 24
WIRE, BUS: 20 GA TINNED 050-6250-00 24" 24" 24" 247
FUSE PANEL: 6 30/60A 19" 202-3261-00 - - 1 1
FUSE PANEL: 6 30/60A 19" E/W ALARM 202-7010-01 - - 1 1
5 BKT: CONNECTOR BKT, 10 POSITION 208-5152-00 - - 1 1
BKT: FRONT ACCESS BKT, FA BOARD, SS 208-5152-10 - - 1 1
BUS BAR: FUSE PANEL, 6 30/60A 19" 209-4260-21 - 1 - 1
BUS BAR: FUSE TO SHUNT, 8 30/60A 209-4261-00 - 1 - 1
BUS BAR: FUSE PANEL, INPUT TO SHUNT 8 30/60A 209-4262-00 - 1 - 1
10 BUS BAR: SHIFTED, W/O SHUNT, 6 POS, 19”7 PNL 209-4266-01 1 - 1 -
SCREW: SS, HEX HD. 5/16-18 x 1° 210-1288-00 - 1 - 1
SCREW: STL, MS, 4-40 x 5/8” PHIL P. HD. 210-1330-00 - - 2 2
SCREW: STL, MS, SEMS, 6-32 x 3/8 PHIL P/HD 210-1430-00 - - 2 2
SCREW: STL IND HEX HD SEMS, 1/4 x1/27, ZINC 210-7004-01 - - - 2
15 BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4" 210-8128-00 - - - 2
NUT, HEX STL: 4-40, ZINC, "KEPS” 211-0466-00 - - 8 8
NUT, HEX STL: 6-32, ZINC, 5/16" AF "KEPS” 211-0476-00 24 24 24 24
NUT, HEX SS: 3/8-16 211-0533-00 - 1 - 1
LOCKWASHER, SHKPF: 1/4 INTERNAL 212-0500-00 6 6 6 6
=2 0O LOCKWASHER: DISH, STL, SHKPF, #6 212-0501-05 1 1
WASHER, FLAT SS: 3/8”7 US "STD” 212-2518-00 - 2 - 2
WASHER, BELLEVILLE, SS: 3/8 x . 750" 212-5758-00 - 2 - 2
* SPACER: HEATSINK, HEX FIBERGLASS, 1.25" GLASTIC 213-1410-00 - 1 - 1
LABEL: FUSE 1 THRU FUSE 12 NON 1-60A FUSE 225-3100-411 1 1 1 1
=25 LABEL: GRD, FA IN, FA OUT, FORM C, CB CONN 225-3100-435 - - 1 1
CONN. , PCB: 10 PIN SOLDER EYE, 307-010-501-104 265-0010-00 - - 1 1
*FUSE HOLDER: 30AMP 64-L1 275-1300-00 6 6 6 6
FUSE "DUMMY”: TYPE 70 276-0001-00 - - 6 6
ALARM BOARD: FA 24,48, 130VDC W/0 RELAY 301-2866-00 - - 1 1
30 RES, SHUNT: METER, 200A 50MV £695-1080-03 - - - 1

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER

ISSUE

PN 111B-3021 3
SCALE: SHEET: FILE NAME:
NONE 4 OF 4 |PN111B-3021_SHT_4_ISS_3

4




E |

Revision

Description

PCO/ECO#

BY/DATE

4

LOGO UPDATE

44452

WD/6-26-17

_O

TB1

T@ Fr

:oemﬂ

3c
.qug
-OSNC

5.25

/—gﬁﬁgnnu __ﬂ{:

LJ

o, K
\_NOTEﬁ'B

22.38

ZIle:l'l'Esﬁi

23.08

REAR VIEW

MAIN FUSE (INSIDE) NOTE 51

Wil

8.25" X 8.58" OBR
4 PLCS —\

=)

Fi / oflo

F2

oo ojfo._r olJlo oj[o F°

(-2 K] o

W
/

)
\.:i

[f
\)

O

N
{/

T
'©)
oyt
(&

(f
\

O O

Lo

ojlo_

5[ o) 2)(s

ALARM  NO 4

FRONT VIEM

INPUT BUS BAR

L e

0 VOLTS

MODEL NUMBER

+/= 12V

111B-3823-81

+/— 24V

111B-3823-82

F1 F2 F3 F4 FS F& F?

+/=
LOADS (OUTPUT) 48v

111B-3823-84

FR 1 |O

GRD 2

?

REI_.

SCHEMRTIC DIRGRAM

NC 5

| o

Doc

PN 111B-3023-

1.80

6.20
SIDE VIEMW

ENGINEERING NOTES:

51) EACH TYPE NON/TPN FUSE HOLDER REQUIRES ONE MAIN AND ONE
ALARM FUSE. MAIN FUSES ARE TYPE NON OR TPN 8-38 AMPS.
THE RECOMMENDED TYPE 78 ALARM FUSE IS 8.5 AMPS. ERCH
TYPE 78 FUSE HAS A BUILT IN ALARM INDICATOR. FUSES ARE

NOT INCLUDED, BUT ORDERED SEPARATELY PER EQUIPMENT
DRAWING EDS91-0889-80.

THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT

CONNECTION TO mamBmal VERTICAL BUS BAR SYSTEMS. FOR
OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED
CABLES.
SEPARATELY PER EQUIPMENT DRAWING EDSS1-0882-88.

OUTPUT LUGS FOR CONNECTING LOAD CABLES ARE PROVIDED
AND HAVE A WIRE RANGE OF 14—-2 GA. THESE LUGS MAY BE
REMOVED IF DESIRED.

52)

53)

54)

INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED

AN ALARM ASSEMBLY IS INCLUDED. DURING A FUSE FAILURE

A FRONT PANEL RED LAMP WILL LIGHT AND RELAY K1 WILL BE

ENERGIZED. RELAY CONTRCTS ARE RATED 2 AMPS AT 28VIC,

1 AMP AT 6@VDC, AND 1,2 AMP AT 12BVDC RESISTIVE. TERMINAL
“FRA" ON TB1 CAN BE USED TO EXTEND THE FUSE ALARM SIGNAL

TO R SEPARATE ALARM SYSTEM.

55) SELECT THE PAINT COLOR FROM TRBLE A.
IE: 111B-3@823-, COLOR A = ANSI 61 GRAY FINISH
IE: 111B-3823—-, COLOR B = BEIGE FINISH

TRBLE A

COLOR DESIGNATOR

ANSI 61 GRAY A
BEIGE B

57) ALL WIRES ARE 28 GA UNLESS OTHERWISE NOTED.

| JUNIPOWER

POWERING TECHNOLOGY

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES ARE:

FRACTIONS DECIMALS FANGLES

FILE:
PN111B-3023_ISS_4

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

12 XX te.ee 1

0L 8,818 DATE

pkd B8-23-86

DESIGNED

FUSE PANEL WITH ALARM

7

31-68 AMP NON ~ TPN

23"

B8-22-86
SIZE

WG/MWFG MP‘IR

RATING
STANDARD

DOC TYPE ~ NUMBER

PN 111B-3823—-

ISSUE

9-26-86
FCFI.E

N/RA

DISTRIBUTION CODE

SHEET
SR 1 of 1

3 I



wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Typewritten Text
PN111B-3023_ISS_4

wdeakins
Typewritten Text
4

wdeakins
UNIPOWER-LOGO

wdeakins
revision table

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text
LOGO UPDATE

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


w‘r 3

ED991-5001-B1 Issue 3 | 1 4
ISSUES
ENGINEERING NOTES ENGINEERING NOTES (cont'p) RS E— o
# ISS. DATE
52. [EACH DEADFRONT FUSE HOLDER REQUIRES ONE MAIN AND ONE ALARM 59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE 9 | SEE PCo# 44452 WD
FUSE. MAIN FUSES ARE TYPE NON OR TYPE TPN 0-30 AMPS. THE NUMBER, SHEET 4. 6128117
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT
INCLUDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING 60. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. UNITS
ED9971-0009-00. NOT EQUIPPED WITH A FUSE ALARM ASSEMBLY DO NOT HAVE A1.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO VERTICAL BUS BAR SYSTEMS AND RATED FOR 400 AMPS MANUFACTURING NOTES
MAX. FOR OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING
LUGGED CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE
ORDERED SEPARATELY PER EQUIPMENT DRAWING ED997-0002-00. 101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH
3/8"-16 x 3/4" BOLTS, P/N 210-8128-00.
54.  CRIMP LUGS MAY BE ATTACHED DIRECTLY TO FUSE-HOLDER STUDS.
STUDS ARE 1/4"-20, WITH HARDWARE PROVIDED. COMPRESSION 102. PROPER BUS BAR ARRANGEMENT IS CRITICAL, SEE FIGURE
LUGS FOR CONNECTING LOAD CABLES ARE PROVIDED ON -00 AND B1 AND B2, SHEET 3.
-10 PANELS, AND HAVE A WIRE RANGE OF 14-2 GA.
103. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNA-
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM. TION TAGS IN A BAG AND TIE WRAP TO THE INPUT BUS BAR.
1) UNITS NOT EQUIPPED WITH A FUSE ALARM BOARD (-00,-10):
CONNECT ALARM LEAD TO THE ALARM POST BY WIRE WRAPPING OR 104. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY.
SOLDERING.
2) UNITS EQUIPPED WITH A FUSE ALARM BOARD (-13,-14): 105. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO
SEE SCHEMATIC DIAGRAM ON SHEET 3 FOR ALARM CONNECTION. ALL JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANU-
FUSE ALARM SIGNALS CONNECT "BAT" TO THE ALARM CONNECTION FACTURER'S INSTRUCTIONS.
WHEN A FUSE CLEARS.
106. INSTALL DUMMY FUSE P/N 276-0001-00 IN ALARM FUSE
HOLDERS ON XF1-8.
56. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT
UNLESS OTHERWISE APPROVALS DATE
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. SEE FIGURE B2, SPECIFIED DIMENSIONS
SECTION B-B FOR SHUNT AND BUSWORK DETAILS. £ e TS eggw 10/6/86
HOLES +0.004 CHECKED
57. PAINT COLOR IS ANSI 61 GRAY. -0.002 o 10/6/86
FRACTIONS +1/32 APPROVED
58. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER DECIVALS (XX) *0.020
DECIMALS (XXX) +0.070 APPROVED

WIRE SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE
SUPPORTS.

SHEET INDEX NOTE:

THE ISSUE OF SHEET REFLECTS THE LATEST ISSUE

OF THE DRAWING SET. WHEN THE DRAWING SET IS
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS
ARE NOT CHANGED.

ANGLES

t1/2°

SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.

WORKMANSHIP :
PER SPEC ENG032

MATERIAL :

FINISH:

TABLE A
PART NUMBER VOL TAGE E/W SHUNT E/W FA BOARD FIGURES
111B-3025-00 NO NO A2,C2
+£712-130V
111B-3025-10 YES NO A2,B2,C1
111B-3025-13 NO YES A1,C2
+24, -48
111B-3025-14 YES YES A1,B1,C1

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

UNIPOWER

POWERING TECHNOLOGY

SHEET INDEX
SHNO | 1]|2]|3|4
ISSUE | 9] 3] 3] 3

ISSUE

FUSE PANEL
8, 31-60 AMP
NON/TPN
SIZE DOC TYPE | NUMBER
E3 PN 111B-3025
SCALE: SHEET: FILE NAME:
N/A 1 OF 4

PN111B-3025_SHT_1_ISS_9

4




ED991-5001-B3 Issue 3

LABEL HOLDER *\

. 25"

REAR VIEW
(—14 SHOWN)

| I I I I I I | -
e S S N N s N '
- 4]
[F1] [F2] [F3] [F4] [F5] [Fé] [F7] [F8] O 25"
D @ | &
L N IS 1L 2 2 1S y .
22. 38"
23. 00"
ALARM FUSE (NOTES 52, 106)
MAIN FUSE ( INSIDE), (NOTE 52)
FRONT VIEW
(—14 SHOWN)
NOTE 55
o I[f8] © © I[F7] @ ©/ (Fe] © © [F3l © © I[F4 ©
S D D
L ~ ~
1) N NN N L N
S ©
© Cj}‘k} (})‘k} (})‘k} (}J‘k)JE% © ©

]

s

DETAIL A

I

RIGHT

SIDE VIEW
(—14 SHOWN)

\\\\\\NOTE 53

PROPRIETARY INFORMATION

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

SIZE DOC TYPE / NUMBER ISSUE
%% PN 111B-3025 3

SCALE: SHEET: FILE NAME:

NONE 2 OF 4 |PN111B-3025_SHT_2_ISS_3

4




ED991-5001-B3 Issue 3

@ WE@WE s ) A )

/ /
/ Il I | _
o =i a
j =
(@] O /=178
0
(e | O —
1]
/ I I | —(2) o m—
[ NOTE POSITION OF UNUSED HOLES. g
: O || S
FICURE Al FIGURE B1 J
WITH FA ASSEMBLY (—13, —14) WITH FA ASSEMBLY AND SHUNT (-14) @/ O=M=0
’ SECTION B-B { -
(NOTE 102) /
/ /@NOTE 103 @ FIGURE C1
/ — @NOTE 106 A A A WITH SHUNT (-10, —14)
/' H H ‘ SECTION C-C
S S (NOTES 56, 102)
- el
g
L ) © ©=pu=C)
[ I I ‘\@ —
/
NOTE POSITION OF UNUSED HOLES.
FIGURE A2
WITHOUT FA ASSEMBLY (-00, —10
Pl ASSEMBLY ( ) FIGURE B2
WITH SHUNT, WITHOUT FA ASSEMBLY (-10)
NOT SHOWN SECTION B-B
(NOTES 54, 103) (NOTE 102)
WIRING DETAIL FOR —-48V
T_;_._T FA ALARM BD.
ISSUE: m_60_o_ ¢ 81 :c FA ALARM
a oL 1 vo OUT
Ri l-ﬂ__flfim T — ~< FROM SYSTEM GND—RETURN r— — 7
S =l S = —
1 —48V QUT<———— - = UJ
DATE e 2 e —48\DC FUSE ALARM SIGNAL TO AMMETER |
[ ) VImAT f W FROM CIRCUIT BREAKERS L
D7 05052927 (0D R1 1 FIGURE Cz
WIRING DETAIL FOR +24V 0B Fccrinin BAT o—|-o . WITHOUT SHUNT (-00, —13)
.@ T_z_‘_T FA ALARM . .@ PLACE JUMPER HERE [NOTES 880 ) T — T T T T SECTION €=C
ISSUE: u_0_o_¢ T Zc FA ALARM _——— ——— — — N
a oM - w o F1 F9 F8 F16
R o - o0<—Y 1 FROM SYSTEM GND—RETURN
C :gg n v Ne— |« +24VDC FUSE ALARM SIGNAL PROPRIETARY INFORMATION
wAn. L | e v FROM CIRCUIT BREAKERS | | NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
NE @ mi—] Tarw<e——d-—- 424VDC SIGNAL FROM ANOTHER PANEL PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
Gl g 207 ouT. 1 __ +24VDC OR —48VDC LOAD (OUTPUT
‘ Bzi= g +24V QUTPUT TO EXTERNAL MONITOR FUSE ALARM SIGNAL 20GA. BUS WIRE ( ) SIZE DOC TYPE / NUMBER ISSUE
@ DAL Oissenaio m PN 111B-3025 3
PLACE JUMPER HERE FIGURE E ]]‘
SCALE: SHEET: FILE NAME:
SCHEMATIC DIAGRAM NONE 3 OF 4 |PN111B-3025_SHT_3_ISS_3
3 4




ED991-5001-B3 Issue

CALLOUT LIST 111B—-3025—

QUANTITY QUANTITY QUANTITY QUANTITY
L;TE NOTES DESCRIPTION PART NUMBERS -00 -10 -13 -14
1 FUSE PANEL: 8 30/60A, 237 200-2706-00 1 1 - -
FUSE PANEL: 8 30/60A, 23" E/W ALARM 202-7010-00 - — 1 1
S BUS BAR: FUSE PANEL, 8-60A 1/47 x 17 209-2702-09 1 - -
BUS BAR: FUSE PANEL, 8, 30/60A, 237 209-4260-20 — 1 - 1
BUS BAR: FUSE TO SHUNT, 8, 30/60A 209-4261-00 — 1 - 1
BUS BAR: FUSE PANEL, INPUT TO SHUNT 209-4262-00 — 1 - 1
BUSBAR: SHIFTED, W/0 SHUNT, 8 POS 209-4266-00 — — 1 —
10 BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4” 210-8128-00 — 2 — 2
SPCR: HEATSINK, HEX FIBREGLASS, 1. 25" 213-1410-00 — 1 - 1
LABEL: FUSE 1 THRU FUSE 12 225-3100-411 1 1 1 1
LUG: 2-14WR, 1/47 STUD, SLUH-30 253-0077-00 3 3 — —
15
FUSE HOLDER: ©0AMP 275-1400-00 3 3 3 3
FUSE "DUMMY”: . 25" x 1.25" TYPE 70 2/76-0001-00 - - 3 3
ASSY: ALM BOARD, BKT, LABEL 385-5152—-00A - — 1 1
RES, SHUNT: METER, 400A 50mV 695-1091-03 - 1 - 1
20
29
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
]Im PN 111B-3025 3
SCALE: SHEET: FILE NAME:
NONE 4 OF 4 PN111B-3025_SHT_4_1SS_3

4




V‘r 3

ED991-5001-B1 Issue 3 | 1 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES: ENGINEERING NOTES: (CONT) # 155, DATE
5 | SEE PCO# 44452 WD
6/28/17
51. UNASSIGNED. 58. THE MAXIMUM RECOMMENDED OUTPUT WIRE SIZE IS 6 GA. LARGER
WIRE SIZES WILL REQUIRE ADDITIONAL RACK SPACES AND CABLE
52. EACH DEADFRONT FUSE HOLDER REQUIRES ONE MAIN AND ONE ALARM SUPPORTS.
FUSE. MAIN FUSES ARE TYPE NON OR TPN 0-60 AMPS. THE
RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS. FUSES ARE NOT 59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE LINE
INCLUDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING NUMBER, SHEET 4.
ED9971-0009-00.
60. UNITS NOT EQUIPPED WITH A SHUNT DO NOT HAVE R1. UNITS
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION NOT EQUIPPED WITH A FUSE ALARM ASSEMBLY DO NOT HAVE Af.
TO VERTICAL BUS BAR SYSTEMS AND RATED FOR 400 AMPS MAX.
FOR OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE ORDERED
SEPARATELY PER EQUIPMENT DRAWING ED991-0002-00.
54.  CRIMP LUGS MAY BE ATTACHED DIRECTLY TO FUSE-HOLDER STUDS.
STUDS ARE 1/4"-20, WITH HARDWARE PROVIDED. COMPRESSION MANUFACTURING NOTES:
LUGS FOR CONNECTING LOAD CABLES ARE PROVIDED ON -00 AND
-10 PANELS, AND HAVE A WIRE RANGE OF 14-2 GA.
101. REPLACE THE BOLTS SUPPLIED WITH THE SHUNT WITH
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM SYSTEM. 3/8"-16 x 3/4" BOLTS, P/N 210-8128-00.
1) UNITS NOT EQUIPPED WITH A FUSE ALARM BOARD (-00,-10):
CONNECT ALARM LEAD TO THE ALARM POST BY WIRE WRAPPING OR 102. PROPER BUS BAR ARRANGEMENT IS CRITICAL, SEE FIGURE
SOLDERING. B1 AND B2, SHEET 3.
2) UNITS EQUIPPED WITH A FUSE ALARM BOARD (-13,-14):
CONNECT THE ALARM LEAD TO THE "FA-OUT" TERMINAL ON XA7, 103. PUT SUPPLIED OUTPUT LUGS AND FUSE HOLDER DESIGNA-
IN POSITIVE GRD SYSTEMS OR TO THE "FA+OUT" TERMINAL TION TAGS IN A BAG AND TIE WRAP TO THE INPUT BUS BAR.
4 UNLESS OTHERWISE APPROVALS DATE
IN NEGATIVE SYSTEMS. SPECIFIED DIMENSIONS
FUSE ALARM SIGNALS CONNECT "BAT" TO THE ALARM CONNECTION 104. [ ] DENOTES THAT THE INFORMATION IS FOR REFERENCE ONLY. £ TOLERANGES ON: en 10/6/86
WHEN A FUSE CLEARS. HOLES +0.004 CHECKED
105. A COMPOUND SUCH AS CRAMOLIN 81Rh WILL BE APPLIED TO -0.002 BW 10/28/86
56. AMMETER SHUNTS ARE NORMALLY 200 AMPS 50mV; HOWEVER, CURRENT ALL JOINTED, FLAT, CONDUCTIVE SURFACES PER THE MANU- FRACTIONS “1/82 APPROVED
' DECIMALS (XX) +0.020
RATINGS UP TO 600 AMPS MAY BE SPECIFIED. SEE FIGURE B2, FACTURER'S INSTRUCTIONS. SECTIALS (000 0070
SECTION B-B FOR SHUNT AND BUSWORK DETAILS. ANGLES /2 APPROVED
106. INSTALL DUMMY FUSE P/N 276-0001-00 IN ALARM FUSE SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
57. PAINT COLOR IS ANSI 61 GRAY. HOLDERS ON XF1-8.

SHEET INDEX NOTE:

THE ISSUE OF SHEET REFLECTS THE LATEST ISSUE

OF THE DRAWING SET. WHEN THE DRAWING SET IS
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS
ARE NOT CHANGED.

WORKMANSHIP :
PER SPEC ENG032

MATERIAL :

FINISH:

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

TABLE A

PART NUMBER VOLTAGE E/W SHUNT E/W FA BOARD FIGURES
111B-3035-00 +12 - 130V NO NO A2,C2
111B-3035-10 +12 - 130V YES NO A2,B2,C1
1118-3035-13 +24,48 OR 130V NO YES A1,C2,D1
1118-3035- 14 +24,48 OR 130V YES YES A1,B1,C1,D1

SHEET INDEX
SHNO |1]12]|3]|4
ISSUE |5]|2]2]|2

UNIPOWER

POWERING TECHNOLOGY

FUSE PANEL
4 EA, 30/60A, NON OR TPN

5.25" X 23"
SIZE DOC TYPE | NUMBER ISSUE
B PN 111B-3035 5
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 |PN111B-3035 SHT 1_ISS 5

4




ED991-5001-B3 Issue 3

Q@ O

©

[

DETAIL D

REAR VIEW
(—14 SHOWN)

SIZE DOC TYPE / NUMBER ISSUE
Mm PN  111B-3035 2
SCALE: SHEET: FILE NAME:
NONE 2 OF 4 |PN111B-3035_SHT_2_ISS_2
3 4

LABEL HOLDER ———ﬁ\
‘ ] A\ ] ] ]
| fl fl fl fl fl | 50’
s N N N/~ N/~ N~ N 4 '
- o
[F1] [F2] [F3] [F4] [F5] [F6] [F7] [F8] Eg . 25"
D) ® =
A DN J \ \ J J |\ o oer
R .
22. 38"
23. 007
ALARM FUSE (NOTES 52, 106)
MAIN FUSE ( INSIDE), (NOTE 52)
FRONT VIEW
(—14 SHOWN)
NOTE 55

DETAIL A

p

[A1] |

O

WADE IN USA
301-2866-00 SSUE DATE:
REV. 0.0

5 P, =
O ®

4-89

@ [H o

E;
1

p

N

0. 406" DIA.,

2 PLC's

S

6. 00"

7.625"

RIGHT SIDE VIEW
(—14 SHOWN)

\\\\\\447 NOTE 53

PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.




ED981-5001-B3 Issue 3| 1

/ /@NOTE 103 @ NOTE 106

/ — s {
— I ] @ F1 - F4
SI7 o
» | O F5 — F8 [ 'm OO0 Lﬁf
NN =1, A=1 =
el b=
L1 FA
" D
® 2
o =7
5 | O @—=®
/ I I | % { -
/ NOTE POSITION OF UNUSED HOLES.
WITH FA ASSEMBLY (-13, —14) WITH FA ASSEMBLY AND SHUNT (-14)
SECTION B-B
(NOTE 102)
NOTE 103
/ /@ NOTE 106
/ — ! ;
/ Il Il |
D D / @ F1 - F4
= 7=
F5 — F8 g
/
- @=—®
J1\ | |
/ Il I
/
NOTE POSITION OF UNUSED HOLES.
FIGURE AZ2
WITHOUT FA ASSEMBLY (-00, —10)
DETAIL A FIGURE B2
WITH SHUNT, WITHOUT FA ASSEMBLY (-10)
NOT SHOWN SECTION B-B
(NOTES 54, 103) (NOTE 102)
o I
TO AMMETER[ | |
R1 ‘
BAT 0—1|-e | —_——
19 - LNOTES 56, SOJ R
E:=: B no | N -
i | ¢ | ‘ _
E::: | v |m ‘NOT USED F1 Fo F4
= |
] ‘ r-our | Ml|— |TO ALARM SYSTEM, +GRD SYSTEMS \ 31 - BOA
[ | <.our |H|— ‘TO ALARM SYSTEM, —GRD SYSTEMS
@) L | w
| row [H— |TO GRD, 24V SYSTEMS 20GA. BUS WIRE
2 4sv |IHll|— 'TO GRD, 48V SYSTEMS
| | Tisov |HM|— |70 crD, 130v svsTEms
Ll | FIGURE El
ALARM BOARD
FIGURE D1 | 301-2866-00 |
WITH FA ASSEMBLY (-13, —14) | NotE6O SCHEMATIC DIAGRAM
DETAIL D

FIGURE C1

WITH SHUNT (-10, —14)
SECTION C-C

(NOTES 56, 102)

T

.7777
F13 F8( ( F16
/ \ 0 — 30A /

LOAD (OUTPUT)

FIGURE C2

WITHOUT SHUNT (-00, —13)
SECTION C-C

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
]m PN 111B-3035 2

SCALE: SHEET: FILE NAME:

NONE 3 OF 4 |PN111B-3035_SHT_3_ISS_2

z ;

4




ED991-5001-B3 Issue 3

v

CALLOUT LIST 111B-3035-
QUANTITY QUANTITY QUANTITY QUANTITY

L;TE NOTES DESCRIPTION PART NUMBERS -00 -10 -13 -14

1 FUSE PANEL: 8 30/60A, 237 200-2706-00 1 1 - -

FUSE PANEL: 8 30/60A, 23" E/W ALARM 202-7010-00 - - 1 1

BKT: CONNECTOR BKT, 10 POSITION 208-5152-00 - - 1 1

BKT: FRONT ACCESS BKT, FA BOARD, SS 208-5152-10 - - 1 1

S BUS BAR: FUSE PANEL, 8-30A 1/8" x 17 209-2702-10 1 - - -

BUS BAR: FUSE PANEL, 8, 30/60A, 237 209-4260-20 - 1 - 1

BUS BAR: FUSE TO SHUNT, 8, 30/60A 209-4261-00 - 1 - 1

BUS BAR: FUSE PANEL, INPUT TO SHUNT 209-4262-00 - 1 - 1

BUSBAR: SHIFTED, W/0 SHUNT, 8 POS 209-4266-00 - - 1 -

10 BOLT, HEX, SIL, BRONZE: 3/8-16 x 3/4° 210-8128-00 - 2 2

SPCR: HEATSINK, HEX FIBREGLASS, 1. 25”7 213-1410-00 - 1 - 1

LABEL: FUSE 1 THRU FUSE 12 225-3100-411 1 1 1 1

LABEL: GRD, FA IN, FA OUT 225-3100-435 - - 1 1

LUG: 2-14WR, 1/4” STUD, SLUH-90 253-007/77-00 8 3 - -

15 CONN. , PCB: 10 PIN SLDR EYE 265-0010-00 - - 1 1

FUSE HOLDER: 30AMP 2/5-1300-00 4 4 4 4

FUSE HOLDER: 60AMP 2/5-1400-00 4 4 4 4

FUSE "DUMMY": . 257 1.25" TYPE 70 2/76-0001-00 3 3 3 3

ALARM BRD: FA 24, 48, 130VDC W/0 RELAY 301-2866-00 - - 1 1

20 RES, SHUNT: METER, 200A 50mV 695-1080-03 - 1 1
25

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER
PN  111B-3035

1SSUE
2

SCALE:
NONE

SHEET:
4 OF 4

FILE NAME:

PN111B-3035_SHT_4_ISS_2

4




|

NOTE 53

SEE FIGURE | FOR SHUNT VERSION

SEE FIGURE 2 FOR DETRIL

/—MME54

7

NOTE 52

F1

7
..

2.e5

L

2.84

/_\ T
TR
O |

2 PLS

\— B8.426™ DIA

18.38

19.88

RERR VIEMW

WITHOUT SHUNT (111B-3049-@8)

B8.50 =

1.88

Revision

Description

PCO/ECO#

BY/DATE

4 UPDATE LOGO

44452

WD/6-26-17

B8.25" x 8.58" OBR,
4 FLC’S

of

MAIN FUSE (INSIDE), NOTE 51

F1

E

FRONT VIEMW

SHUNT (NOTE 56)

Pt

Fl
LORD (OUTPUT)

FUSEHOLDER
REAR VIEW

FIGURE 1

WITH SHUNT (111B-3849-18)

SCHEMARTIC DIRGRAM

DOC TYPE/NUM

BER
PN 111B-3048-

@.562" DIA, 4 PLS —/

l+—— 3.80 ———|

-— 1.75 -

8.63

-

B----

DETAIL OF
LUG ADAPTER

FIGURE 2

18.88

ENGINEERING NOTES:

51) EACH DERDFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE ALARM

52)

53)

54)

§5)

56)

FUSE. MAIN FUSES ARE TYPE NON OR TPN 181 TO 288 AMPS. THE

RECOMMENDED TYPE 78 ALARM FUSE IS 8.5 AMPS. ERCH TYPE 7@ FUSES
FUSE HAS A BUILD IN ALAM INDICATOR. FUSES ARE NOT INCLUDED BUT
MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING EDSS1-8889-08.

THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT CONNECTION
TO WEEESEE VERTICAL BUS BAR SYSTEMS. FOR OTHER SYSTEMS,
HOLES ARE PROVIDED FOR BOLTING LUGGED CABLES.

INPUT LUGS

ARE NOT PROVIDED BUT MAY BE ORDERED SEPARATELY PER EQUIPMENT
DRAWING EDS91-22a2-98.

A COPPER BRACKET IS PROVIDED FOR FUSE OUTPUT CONNECTIONS WHICH
WILL ACCOMODATE UP TO FOUR, 28 GR - 182@8MCM, ONE OR TWO HOLE

MOUNTING LUGS. OUTPUT LUGS ARE NOT INCLUDED BUT MAY BE ORDERED
SEPARATELY PER EQUIPMENT DRAWING ED991-2082-88.

THE FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPRRATE ALARM
SYSTEM. CONNECT ALARM WIRE TO FUSE ALARM POST BY WIRE

WRAPPING

FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 18" RACK. FOR
MOUNTING IN A 23" RACK, ORDER 2 ER 208-4@7@-82 RADAPTER
. SELECT THE PAINT COLOR CODE PER NOTE 57.

BRACKETS

OR SOLDERING.

AMMETER SHUNTS ARE NORMALLY 280 AMPS 5BmV; HOWEVER, CURRENT

RATINGS UP TO 6BB AMPS MAY BE SPECIFIED. SEE FIGURE | FOR

SHUNT AND BUSWORK,
57) SELECT THE PRINT COLOR FROM TRBLE A.

IE:
IE:

111B-3049~,
111B-3849-,

TABLE A

COLOR

DESIGNATOR

ANSI 61 GRAY A

BEIGE

COLOR A = ANSI 61 GRAY FINISH
COLOR B = BEIGE FINISH

58) ALL WIRES ARE 28 GA UNLESS OTHERWISE NOTED.

VOLTS

MODEL NUMBER

SHUNT

+/= 12V TO 48V

111B-3845-88

NO

+/— 12V TO 48V

111B-3048-18

YES (NOTE 56)

UNIPOWER

POWERING TECHNOLOGY

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES RRE:

FRACTIONS DECIMALS ANGLES

FILE:

PN111B-3049_ISS_4

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

+ 1/32 XX t@.e2 t 1
SO te.ele

DATE

11-83-8B6

18-29-86

FUSE PANEL
1 101-200 AMP  NON
19"

SIZE

11-2e-85 | B

RATING

DOC TYPE ~ NUMBER
STANDARD !

PN 111B-3@0439- 4

ISSUE

Fals

NsA |DISTRIBUTION CODE SHE]

9R o lofl

4


wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
Rectangle

wdeakins
UNIPOWER-LOGO

wdeakins
Typewritten Text
PN111B-3049_ISS_4

wdeakins
Typewritten Text
4

wdeakins
revision table

wdeakins
Typewritten Text
4

wdeakins
Typewritten Text
UPDATE LOGO

wdeakins
Typewritten Text
44452

wdeakins
Typewritten Text
WD/6-26-17


v 3

ED991—-5001—-B1 Issue 3 | 1 4
ISSUES
ISSUE | DESCRIPTION ISS. BY
ENGINEERING NOTES: MANUFACTURING NOTES: p o DATE
SEE PCO# 44452 WD
51. SELECT FUSE PANEL FROM TABLE A. 101. ANTI—OXIDATION COATING WILL BE APPLIED BETWEEN ALL LAYERS OF / # 6/28/17
LAMINATED COPPER BUS STRUCTURE. A COMPOUND SUCH AS CRAMOLIN
52. EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE 81Rh WILL BE APPLIED TO ALL JOINTED FLAT CONDUCTIVE SURFACES
ALARM FUSE. MAIN FUSES ARE TYPE TPL, 61 TO 600 AMPS. PER THE MANUFACTURER’S INSTRUCTIONS.
THE RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS.
FUSES ARE NOT INCLUDED BUT MAY BE ORDERED SEPARATELY 103. MOUNT WIRE LUG BETWEEN BUS BAR AND LARGE MOUNTING WASHER.
PER EQUIPMENT DRAWING ED991—0009-00.
104. REPLACE BOLTS SUPPLIED WITH SHUNT WITH P/N 210—8128-00.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT USE WASHERS SUPPLIED WITH SHUNT.
CONNECTION TO VERTICAL BUS BAR SYSTEMS. FOR
OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED 105. ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED.
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE
ORDERED SEPARATELY. 106. SECURE ALL BUSSES AT A 45" ANGLE, AS SHOWN.
54. THE OUTPUT COPPER BUS BAR IS DESIGNED FOR BOTH, BELL STANDARD 107. INSTALL DUMMY FUSE, P/N 276—0001—00, IN XF2.
LUGS, 1” CENTER TO CENTER SPACING WITH 3/8” HARDWARE AND
NEMA STANDARD LUGS, 1—-3/4" CENTER TO CENTER SPACING WITH
1/2” HARDWARE.
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM
SYSTEM. CONNECT THE ALARM LEAD TO THE "FA—OUT” TERMINAL
ON XA1 IN POSITIVE GROUND SYSTEMS OR TO THE "FA+OUT”
TERMINAL IN NEGATIVE SYSTEMS. FUSE ALARM SIGNALS CON—
NECT "BAT” TO THE ALARM CONNECTION WHEN A FUSE CLEARS.
A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM RELAY IS
AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991—0009-00.
TABLE A
56. AMMETER SHUNTS ARE NORMALLY 600 AMPS 50mV; HOWEVER, PART NUMBER VOLTAGE SHUNT |FUSE ALARM | RATING UNLESS OTHERWISE APPROVALS DATE
OTHER CURRENT RATINGS MAY BE SPECIFIED. PANEL CURRENT T11B—3068-00 | L12vDC VD SPECIFIED, DIMENSIONS YT
MUST NOT EXCEED 600 AMPS. 111B—3068—01 | +24,—48VDC YES STD + TOLERANCES i"(; — PKD 11,/17,/86
111B—3068—10 +12VDC 600A MD HOLES g CHECKED
—0.002
57. STANDARD PAINT COLOR IS ANSI 61 GRAY. T11B—3068—11 T 24— 48VDC GO00A YES STD —— 15 EFV:ROVED 2/26/87
58. NON FA VERSIONS DO NOT INCLUDE Af. DECIMALS (XX) $0.020 | JwW 1/7/95
DECIMALS (XXX) +0.010 APPROVED
ANGLES +1/2°
59. NON SHUNTED VERSIONS DO NOT INCLUDE R1. SQUARE CORNERS AND ANGLES ARE 90" UNLESS OTHERWSE SPECIFIED.
WORKMANSHIP:
60. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE PER SPEC ENGO32
LINE NUMBER. MATERIAL:
62. FUSE PANELS ARE DESIGNED FOR MOUNTING IN A 19” RACK.
FOR MOUNTING MOUNTING IN A 23" RACK, ORDER 2 EA, FINISH:
208—4070—02 ADAPTER BRACKETS.
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
UNIPOWER
SHEET ISSUE_NUMBER
NUMBER| 1 | 2] 3] 4|5]6]7]8 POWERING TECHNOLOGY
SHEET INDEX NOTE: T |1]2]3[4]5]6]7
THE ISSUE OF SHEET # REFLECTS THE LATEST ISSUE 2 RIS AR FUSE PANEL
3 112131455 _
OF THE DRAWING SET. WHEN THE DRAWING SET IS 4 1]12]2]3]4]4 1 X 61 6,,00 AMI,:,) TPL
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS 0.25° X 19
ARE CHANGED, THE ISSUE NUMBERS OF UNMODIFIED SHEETS Size B DOC TYPE / NUMBER ISSUE
ARE NOT CHANGED. PN 111B—-3068 7
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 |PN111B—3068_SHT_1_ISS_7

4




ED991-5001-B3 Issue 3

DETAIL A

/®NOTE 54

AX1

o

TOP VIEW
(111B-3068-11 SHOWN)

1. 485

2.230

/ DETAIL B

e

F2

18.380 .

19.00

FRONT VIEW
(111B-3068-11 SHOWN)

=0 | y \ o
(@)
o7
\
\ DETAIL C

REAR VIEW
(111B-3068-11 SHOWN)

.85

LEFT SIDE VIEW
(111B-3068-11 SHOWN)

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE]II%

DOC TYPE / NUMBER
PN  111B-3068

ISSUE

4

SCALE:
NONE

SHEET:
2 OF 4

FILE NAME:

PN111B-3068_SHT_2_ISS_4

2 ? 3

4




ED991-5001-B3 Issue 3| 2 3 4
INPUT BUS BAR 1
FROM , B A >
BAT - R Fe BK
Hf LDy o ()
| LOADS

NOTE 36, 59

F

1

+24VDC OR —48VDC

FUSE ALARM SIGNAL

WIRING DETAIL FOR +24V
111B-3068-00,01
|%. ° . FA ALARM BD. W/O SHUNT
O
TB1 C—I_
ISSUE —_90_60 : NC  FA ALARM DETAIL A
=} No  OUTPUT
— R -III__[I/{ a0 = |« FROM SYSTEM GND—RETURN
C ég —[I;I—o v Ne—§ < +24VDC FUSE ALARM SIGNAL
. L8 o9 v o FROM CIRCUIT BREAKERS -
DATE: e ; T — -} — +24VDC SIGNAL FROM ANOTHER PANEL
- 84:7"_;2 i ot — 424V OUTPUT TO EXTERNAL MONITOR
]
D2 306-2927- (02O
0 AL ) sseiBLep

PLACE JUMPER HERE

WIRING DETAIL FOR —-48V

o,
.ASSEMBLED IN

306-2927-

PLACE JUMPER HERE

111B-3068-00,10
W/0 FUSE ALARM

A45°+] DETAIL B
T% ; . T FA ALARM BD.
- o _o_o TB1 C—I—
ISSUE: NC FA ALARM
1§£I:::]-Ci \g OUTPUT
D 8 RELAY
- m{1 I_fgD7 o< — —|— FROM SYSTEM GND-RETURN
(] :é BT _re", M Ne — - — —48VDC SIGNAL FROM ANOTHER PANEL 111B-3068-00,01,10,11
. .xa:]_.%; —ear<e — 1 — —48V QUTPUT TO EXTERNAL MONITOR NOTE 106
DATE: : =] . —48VDC FUSE ALARM SIGNAL
L 84 o/ 209 U7 FROM CIRCUIT BREAKERS DETAIL C

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER ISSUE
SCHEMATIC DIAGRAM ]m PN 111B-3068 5
NOTES 85, 105 SCALE: SHEET: FILE NAME:
NONE 3 OF 4 PN111B-3068_SHT_3_ISS_5

4




ED991-5001-B3 Issue 3

CALLOUT LIST 111B-3068—-

QUANTITY QUANTITY QUANTITY QUANTITY
L;TE NOTES DESCRIPTION PART NUMBERS -00 =01 =10 =11
1 20 GA: BLACK; 10 INCHES 051-2000-10 1 1 1 1
20 GA: RED; 10 INCHES 051-2022-10 1 1 1 1
20 GA: ORANGE; 9 INCHES 051-2033-09 - - 1 1
1 X 600A FUSE PANEL, 19~ 202-3536-02 1 - 1 -
S FUSE PNL: 1-400/600A W/FA, 5.25 x 197 202-3536-04 - 1 - 1
SHUNT BRACKET 208-4090-01 1 1 1 1
ASSY: ALARM BOARD, BKT, LABEL, FOR FA 385. 5152. 00 — 1 - 1
BUS BAR: INPUT 1 X 600A FP W/O SHUNT 19" 209-3203-19 1 1 - -
10 BUS BAR, ADPT: 600A FUSE SHUNT TO BUS BAR 19” 209-3203-18 - - 1 1
BUS BAR: 400/600A FUSEHOLDER TO SHUNT 209-3208-00 — — 1 1
BUS BAR: LUG ADAPTER, 600A 209-4385-00 1 1 1 1
SCREW: STL, SEMS, P/HD PHIL, 6-32 x 1/2" 210-1450-01 2 2
15 SCREW: STL, SEMS, P/HD PHIL, 8-32 x 5/8" 210-1580-01 - - 2 2
SCREW: STL, HEX HD, 1/4-20 x 3/8" 210-7003-00 1 1 -
SCREW: STL, HEX HD, 1/4-20 x 1/2" 210-7004-00 1 1 - —
SCREW: HEX HD, 1/4-20 x 1 1/4 FULL THREAD 210-7009-00 4 4 4 4
BOLT HEX SIL. BRONZE: 3/8-16 x 3/4 210-8128-00 - — 2 2
20
NUT, HEX STL: 8-32, ZINC KEPS 211-0485-00 — — 2 2
NUT, HEX STL: 1/4-20, ZINC KEPS 211-0501-00 4 4 4 4
LOCKWASHER, STL SHKPF: #4 INTERNAL TOOTH 212-0492-00 — 2 - 2
LOCKWASHER, SHKPF: 1/4 INTERNAL 212-0500-00 1 1 - -
25 SPACER: HEATSINK, HEX FIBREGLASS, 1.257 213-1410-00 1 1 - —
LABEL, NOMENCLATURE: GENERAL MISC, 0.9” x 47 225-3094-09 1 1 1 1
FUSE HOLDER: SINGLE-70 COMPLETE 275-0500-01 1 1 1 1
30 FUSE HOLDER: 600A DEADFRONT 275-1606-00 1 1 1 1
FUSE "DUMMY”: . 25" x 1.25", TYPE 70 276-0001-00 1 1 1 1
RES, SHUNT: METER, 600A 50mV 695-1093-03 - — 1 1
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
]m PN 111B-3068 4
SCALE: SHEET: FILE NAME:
NONE 4 OF 4 PN111B-3068_SHT_4_ISS_4
2 3 4




ED991-5001—-B1 Issue 3 1 * 3 4
ISSUES
ISSUE | DESCRIPTION Iss. BY
# ISS. DATE
ENGINEERING NOTES: MANUFACTURING NOTES: 8|St poog 4442 /wr%
6/28/17
51. SELECT FUSE PANEL FROM TABLE A. 101. ANTI—OXIDATION COATING WILL BE APPLIED BETWEEN ALL LAYERS OF
LAMINATED COPPER BUS STRUCTURE. A COMPOUND SUCH AS CRAMOLIN
52. EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN AND ONE 81Rh WILL BE APPLIED TO ALL JOINTED FLAT CONDUCTIVE SURFACES
ALARM FUSE. MAIN FUSES ARE TYPE TPL, 61 TO 600 AMPS. PER THE MANUFACTURER'S INSTRUCTIONS.
THE RECOMMENDED TYPE 70 ALARM FUSE IS 0.5 AMPS.
FUSES ARE NOT INCLUDED BUT MAY BE ORDERED SEPARATELY 103. MOUNT WIRE LUG BETWEEN BUS BAR AND LARGE MOUNTING WASHER.
PER EQUIPMENT DRAWING ED991-0009—00.
104. REPLACE BOLTS SUPPLIED WITH SHUNT WITH P/N 210—8128—00.
53. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT USE WASHERS SUPPLIED WITH SHUNT.
CONNECTION TO VERTICAL BUS BAR SYSTEMS. FOR
OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED 105. ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED.
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE
ORDERED SEPARATELY. 106. SECURE ALL BUSSES AT A 45° ANGLE, AS SHOWN.
54, THE OUTPUT COPPER BUS BAR IS DESIGNED FOR BOTH, BELL STANDARD 107. INSTALL DUMMY FUSE, P/N 276—0001—-00, IN XF2.
LUGS, 1" CENTER TO CENTER SPACING WITH 3/8" HARDWARE AND
NEMA STANDARD LUGS, 1-3/4" CENTER TO CENTER SPACING WITH
1/2" HARDWARE.
55. A FUSE ALARM SIGNAL CAN BE EXTENDED TO A SEPARATE ALARM
SYSTEM. CONNECT THE ALARM LEAD TO THE "FA—OUT” TERMINAL
ON XA1 IN POSITIVE GROUND SYSTEMS OR TO THE "FA+OUT"
TERMINAL IN NEGATIVE SYSTEMS. FUSE ALARM SIGNALS CON—
NECT "BAT" TO THE ALARM CONNECTION WHEN A FUSE CLEARS.
A FUSE ALARM ASSEMBLY EQUIPPED WITH AN ALARM RELAY IS
AVAILABLE. ORDER PER EQUIPMENT DRAWING ED991—0009—00.
TABLE A
56. AMMETER SHUNTS ARE NORMALLY 600 AMPS 50mV; HOWEVER, e
OTHER CURRENT RATINGS MAY BE SPECIFIED. PANEL CURRENT PART NUMBER VOLTAGE SHUNT |FUSE ALARM | RATING SONLESS QTHERWSE APPROVALS DATE
ARE IN INCHES
MUST NOT EXCEED 600 AMPS. 111B—3072—-00 | +£12VDC MD +  TOLERANCES ON: %R£SVN 11/18,/86
1118—3072—01 | +24,—48VDC YES STD 10.00F | orecks
57. PAINT COLOR IS ANSI 61 GRAY. 111B—3072—10 | +12VDC 600A MD HOLES -0.002 | Bw 11/14/86
111B—3072—11__| +24,—48VDC 600A YES STD FRACTIONS +1/32 APPROVED
58. NON FA VERSIONS DO NOT INCLUDE AT. DEGMALS () $0.020
DECIMALS (XXX) +0.010 APPROVED
59. NON SHUNTED VERSIONS DO NOT INCLUDE R1. ANGLES /7
SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWSE SPECIFIED.
60. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE WORKMANSHIP:
LINE NUMBER. PER SPEC ENGO32
MATERIAL:
FINISH:
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SHEET INDEX
SHEET ISSUE_NUMBER
NUMBER[ 1] 2] 3] 4]5]6]7]8
. 1_|1[2]3][#]|5]6]7]8
SHEET INDEX NOTE: 2 1122|344 POWERING TECHNOLOGY
THE ISSUE OF SHEET # REFLECTS THE LATEST ISSUE i 1 g 2 ;, i i
OF THE DRAWING SET. WHEN THE DRAWING SET IS FUSE PANEL
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS 1 X 61—-600 AMP TPL
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS 595" X 23"
ARE NOT CHANGED. .
SIZE DOC TYPE / NUMBER ISSUE
B PN 111B—-3072 8
SCALE: SHEET: FILE NAME:
N/A 1 OF 4 |PN111B—3072_SHT_1_1s5_8
1 A A




ED991-5001-B3 Issue 3 2 ¢ 3 4
TOP VIEW
(111B-3072-11 SHOWN)
@ o
* DETAIL B
1. 49 / =
o 225
L Fo
22.38 8. 85
23. 00
FRONT VIEW
(111B-3072-11 SHOWN)
LEFT SIDE VIEW
(111B-3072-11 SHOWN)
ﬁ@‘
J (@)

— o]

© ©)

N 8

T (@)
o ] PROPRIETARY INFORMATION
\ NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
x N\ SIZE DOC TYPE / NUMBER ISSUE
DETAIL C ]Im PN 111B-3072 4
REAR VIEW SCALE: SHEET: FILE NAME:
(111B-3072-11 SHOWN) NONE 2 OF 4 PN111B-3072_SHT_2_ISS_4
3 4

z ;




ED991-5001-B3 Issue 3|

INPUT BUS BAR [

FROM
BAT

il

NOTE 56, 59

+24VDC OR —48VDC
FUSE ALARM SIGNAL

F1

WIRING DETAIL FOR +24V

® L

DST =

L
MANU. )
DATE: -

@]

D2
L~ |

® © o B

ISSUE:
mi Te
D 8
=1 Yo
si—re",

@-l ] ;

B _tFe—;

D' e in
milte

306-2927-

FA ALARM BD.

NC  FA ALARM

no  OUTPUT
RELAY
N &— — —

24V IN &———

—48V OUT
—FA

48V IN & —

24V ou7§—f

I_.ASSEMBLED IN

R "2 BK
Or N
LOADS

—< FROM SYSTEM GND—-RETURN

<
UIT BREAKERS

PLACE JUMPER HERE

WIRING DETAIL FOR —-48V

' ° %—;—0—7

FA ALARM BD. @
| =

NC FA ALARM
QUTPUT

O ReLay

N &— — —

UV IN & —
—48v TS —

:306729277
ASSEMBLED IN

—< FROM SYSTEM GND—RETURN
— —48VYDC SIGNAL FROM ANOTHER PANEL
- — —48V OQUTPUT TO EXTERNAL MONITOR
| —48VDC FUSE ALARM SIGNAL

FROM CIRCUIT BREAKERS

PLACE JUMPER HERE

SCHEMATIC DIAGRAM

NOTES 58, 105

©

111B-3072-00,01
W/0 SHUNT

DETAIL A

P

45°*1 .
111B-3072-00,01,10,11
NOTE 106
DETAIL C

111B-3072-00,10
W/0 FUSE ALARM

DETAIL B

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER
PN 111B-307/2

ISSUE
)

SCALE:
NONE

SHEET: FILE NAME:
3 OF 4

PN111B-3072_SHT_3_1SS_5

4




ED991-5001-B3 Issue 3

CALLOUT LIST 111B-3072-

QUANTITY QUANTITY QUANTITY QUANTITY
LINE
# NOTES DESCRIPTION PART NUMBERS -00 =01 -10 =11
1 20 GA: BLACK; 10 INCHES 051-2000-10 1 1 1 1
20 GA: RED; 10 INCHES 051-2022-10 1 1 1 1
20 GA: ORANGE; 9 INCHES 051-2033-09 — — 1 1
1 X 600A FUSE PANEL, 23" 202-3536-01 1 - 1 -
5 FUSE PNL: 1-400/600A W/FA, 5.25 x 23" 202-3536-03 - 1 - 1
SHUNT BRACKET 208-4090-01 1 1 1 1
ASSY: ALARM BOARD, BKT, LABEL, FOR FA 385. 5152. 00 — 1 - 1
BUS BAR: INPUT 1 X 600A FP W/O SHUNT 23" 209-3203-17 1 1 - -
10 BUS BAR, ADPT: 400/600A FUSE SHUNT TO BUS BAR 209-3203-20 - - 1 1
BUS BAR: 400/600A FUSEHOLDER TO SHUNT 209-3208-00 — - 1 1
BUS BAR: LUG ADAPTER, 600A 209-4385-00 1 1 1 1
15 SCREW: STL, SEMS, P/HD PHIL, 6-32 x 1/2" 210-1450-01 - 2 — 2
SCREW: STL, SEMS, P/HD PHIL, 8-32 x 5/8”" 210-1580-01 — - 2 2
SCREW: STL, HEX HD, 1/4-20 x 3/8" 210-7003-00 1 1 —
SCREW: STL, HEX HD, 1/4-20 x 1/27 210-7004-00 1 1 - —
SCREW: HEX HD, 1/4-20 x 1 1/4 FULL THREAD 210-7009-00 4 4 4 4
20 BOLT HEX SIL. BRONZE: 3/8-16 x 3/4 210-8128-00 - - 2 2
NUT, HEX STL: 8-32, ZINC KEPS 211-0485-00 - - 2 2
NUT, HEX STL: 1/4-20, ZINC KEPS 211-0501-00 4 4 4 4
LOCKWASHER, STL SHKPF: #4 INTERNAL TOOTH 212-0492-00 — 2 — 2
25 LOCKWASHER, SHKPF: 1/4 INTERNAL 212-0500-00 1 1 - -
SPACER: HEATSINK, HEX FIBREGLASS, 1.25” 213-1410-00 1 1 — -
LABEL, NOMENCLATURE: GENERAL MISC, 0.9” x 4~ 225-3094-09 1 1 1 1
30 FUSE HOLDER: SINGLE-70 COMPLETE 275-0500-01 1 1 1 1
FUSE HOLDER: 600A DEADFRONT 275-1606-00 1 1 1 1
FUSE "DUMMY": . 257 1.25", TYPE 70 276-0001-00 1 1 1 1
RES, SHUNT: METER, 600A 50mV 695-1093-03 — — 1 1
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SIZE DOC TYPE / NUMBER ISSUE
M PN 111B-3072 4
SCALE: SHEET: FILE NAME:
NONE 4 OF 4 PN111B-3072_SHT_4_ISS_4
2 3 4




ED991-5001—-B1 Issue 3 | 1 2 ¢ 3 4
ISSUES
ENGINEERING NOTES: MANUFACTURING NOTES: ISSUE | DESCRIPTION Iss. BY
# ISS. DATE
51. PAINT COLOR IS ANSI 61 GRAY. 101. ANTI—OXIDATION COATING WILL BE APPLIED BETWEEN ALL LAYERS OF 11 | SEE Pcog 44452 WD
LAMINATED COPPER BUS STRUCTURE. A COMPOUND SUCH AS CRAMOLIN 6/28/17
52. EACH DEADFRONT FUSEHOLDER REQUIRES ONE MAIN FUSE. MAIN 81Rh WILL BE APPLIED TO ALL JOINTED FLAT SURFACES AS PER THE
FUSES ARE TYPE TPL, 61 TO 600 AMPS AND ARE NOT INCLUDED, BUT MANUFACTURER’S INSTRUCTIONS.
MAY BE ORDERED SEPARATELY PER EQUIPMENT DRAWING ED991—0009—00.
103. MOUNT WIRE LUG BETWEEN BUS BAR AND LARGE MOUNTING WASHER.
53. THE RECOMMENDED TYPE 70 ALARM FUSE IS 1-1/3 AMPS (JLO0378)
FUSES ARE SHIPPED LOOSE AND MUST BE INSTALLED AFTER 104. REPLACE BOLTS SUPPLIED WITH SHUNT WITH (210—8128-00), AS
EQUIPMENT IS SECURED TO THE FLOOR PER EQUIPMENT DRAWING ED991-0009—-00. SHOWN. USE WASHERS SUPPLIED WITH SHUNT.
54. THE INPUT COPPER BUS BAR IS DESIGNED FOR DIRECT 105. ALL WIRES ARE 20 GA UNLESS OTHERWISE NOTED.
CONNECTION TO VERTICAL BUS BAR SYSTEMS. FOR .
OTHER SYSTEMS, HOLES ARE PROVIDED FOR BOLTING LUGGED 106. SECURE ALL BUSSES AT A 45° ANGLE, AS SHOWN.
CABLES. INPUT LUGS ARE NOT PROVIDED BUT MAY BE
ORDERED SEPARATELY. 107. INSTALL DUMMY FUSES (276—0001—00) IN XF3—4.
55. THE OUTPUT COPPER BUS BAR IS DESIGNED FOR BOTH, BELL STANDARD
LUGS, 1” CENTER TO CENTER SPACING WITH 3/8” HARDWARE AND
NEMA STANDARD LUGS, 1-3/4” CENTER TO CENTER SPACING WITH
1/2" HARDWARE.
56. AMMETER SHUNTS ARE NORMALLY 600 AMPS 50mV; HOWEVER,
OTHER CURRENT RATINGS MAY BE SPECIFIED. SEE REAR VIEW
WITH SHUNT FOR DETAILS.
57. NON FA VERSIONS DO NOT INCLUDE Af.
58. NON SHUNTED VERSIONS DO NOT INCLUDE R1 OR R2. TABLE A
PART NUMBER VOLTAGE SHUNT |FUSE ALARM | RATING GUNLESS OTHERWSE APPROVALS DATE
59. BUBBLE REFERENCE DESIGNATORS REFER TO CALLOUT TABLE T11B—3074—00 |£12VDC MD ARE IN INCHES DRAWN
LINE NUMBER —=074= - + TOLERANCES ON: CLD 11/4/88
. 111B—3074—01 |+24,—48VDC YES STD . 10004 |oEckeD
111B—3074—10 _|[+12VDC 600A MD —0.002 W 1/11/96
60. SELECT FUSE PANEL FROM TABLE A. T11B—3074—11 | +24,—48VDC 600A YES STD FRACTIONS +1/32 APPROVED
DECIMALS (XX) +0.020 Js 1/11/96
DECIMALS (XXX) 0.010 APPROVED
ANGLES +1/2°
SQUARE CORNERS AND ANGLES ARE 90° UNLESS OTHERWISE SPECIFIED.
WORKMANSHIP:
PER SPEC ENG032
MATERIAL:
FINISH:
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
POWERING TECHNOLOGY
SHEET INDEX NOTE: SHEET INDEX FUSE PANEL
SHEET ISSUE_NUMBER 2 X 61-600 AMP TPL
THE ISSUE OF SHEET 1REFLECTS THE LATEST ISSUE NOMBERT T TS T e T 5 T e 1 o oS 505" X 03"
OF THE DRAWING SET. WHEN THE DRAWING SET IS :
1 112]13]14|5]|6]7]8]90(n SIZE DOC TYPE / NUMBER ISSUE
REVISED, ONLY THE ISSUE NUMBERS OF MODIFIED SHEETS 7 1112131313141 415161717 B 11
ARE CHANGED. THE ISSUE NUMBERS OF UNMODIFIED SHEETS 3 111112344515 PN_111B—-3074
ARE NOT CHANGED. 4 11213]3 SCALE: SHEET: FILE NAME:
N/A 1 OF 4 [PN111B—3074_SHT_1_ISS_11
1 2 3 4




ED991-5001-B3 Issue 3 1 2

4
2 EACH,
DETAIL A /_.NOTE 54
0 0 0O 0
(29
2 EACH,
(:}\\\\ 0 0 NOTE 55 0 0
_ RN, D 4+ pic's
NOTE 104
{00 {Q) 0 o L
=5 = (- © 0. 250 X 0.500
Q @O A — = OBR 4 PLC'S
§ o 1:;’ F1 '@::b
o \ of|f <
IR [ | [ | 7 w °
| |
'l I _ e ——————— 1 _
2 EACH
REAR VIEW
TOP VIEW (111B-3074-11 SHOWN)
(111B-3074-11 SHOWN)
(WIRING NOT SHOWN)
DETAIL B

18 2 EACH

2 EACH
2 EACH
NOTE 107
* DETAIL C o
1 o *
=) o O
—+ . 00
5. 22 22 ° q
O O
| - . O [
9.14
22.38
5300 LEFT SIDE VIEW
(111B-3074-11 SHOWN)
FRONT VIEW
(111B-3074-11 SHOWN)
PROPRIETARY INFORMATION
NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.
SI1ZE DOC TYPE / NUMBER ISSUE
m PN 111B-3074 7
SCALE: SHEET: FILE NAME:
NONE 2 OF 4 |PN111B-3074_SHT_2_ISS_7
1 2

4




ED991-5001-B3 Issue 3

——

OO

I [an

111B-3074-00,01
W/0 SHUNT

DETAIL A

o OO ) o
o OO ) o

111B-3074-00,10
W/0 FUSE ALARM

DETAIL C

111-3074-00,01
W/0 SHUNT

DETAIL B

111B-3074-00,01,10,11
NOTE 106

DETAIL D

. Fdw-r
INPUT BUS BAR _lJW\fI I

FROM
BAT

+24VDC OR —48VDC

NOTE 55, 57

«— |

FUSE ALARM SIGNAL

WIRING DETAIL FOR +24V

PLACE JUMPER HERE

WIRING DETAIL FOR -48V

|%... FAMMBD

...TBW

|SSUE:
e -I]:[IP.S "
3

NC FA ALARM

R m ® oo <— — }— FROM SYSTEM GND-RETURN
(] =2 |wa=re" — —
sl AL B wNe— —| — —48VDC SIGNAL FROM ANOTHER PANEL
VANU. B -0 [ | svoré— —] — —48Y OUTPUT TO EXTERNAL MONITOR
DATE: B- L 2 Torme—— | —48VDC FUSE ALARM SIGNAL
L Dom o FROM CIRCUIT BREAKERS
‘C ) YL 05 2007- (0D
o I °

ASSEMBLED IN

PLACE JUMPER HERE

T0
2 LOADS

|% . . . FA ALARM BD.
4 e_eo_ . TB1 C—I—
ISSUE: NC  FA ALARM
= D .8 No  OUTPUT
R | m ‘e o L < FROM SYSTEM GND—RETURN
C :éa - o, wwe——} < +24VDC FUSE ALARM SIGNAL
R iy | o FROM CIRCUIT BREAKERS
DATE: | Lo—{; Tovwe— —|— +24VDC SIGNAL FROM ANOTHER PANEL
- w o2 1:| @|| =vers——|— +24v"0UTPUT TO EXTERNAL MONITOR
._
D2= _ -
o B _.ASSOSSEMZBQLZEE N -

SCHEMATIC DIAGRAM

NOTES 56, 105

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT
PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZE DOC TYPE / NUMBER
M PN  111B-3074

ISSUE
O

SCALE:

NONE 3 OF 4

SHEET: FILE NAME:

PN111B-3074_SHT_3_ISS_5

4




ED991-5001-B3 Issue 3

CALLOUT TABLE

L INE QUANTITY
4 DESCRIPTION PART NUMBERS ~00 01 10 R
1 FUSE PNL: 2-400/B00A W/FUSE ALARM & SHUNTS 202-3534-12 1 1
2XB600A FUSE PANEL, 237 202-3534-13 1 1
ASSY: ALARM BOARD, BKT, LABEL, FOR FA 385. 5152. 00 1 1
S BUS BAR: INPUT BUS FOR 2-400/600A FUSE PNL 209-4342-00 1 1 1 1
BUS BAR: INPUT TO SHUNT FOR 2-400/600A. . . 209-4343-00 1 1 1 1
BUS BAR: SHUNT TO FUSE FOR 2-400/600A. .. 209-4344-00 2 2 2 2
BUS BAR: LUG ADAPTER, ©600A 209-4385-00 2 2 2 2
10 SCREW: STL, MS, 1/4-20 X 1.5”7 FH, PHIL 210-1917-00 8 8 3 8
BOLT, HEX, SIL, BRONZE: 3/8-16 X 3/4” 210-8128-00 4 4
NUT, HEX: "KEP”, 1/4-20 ZINC STL 211-0501-00 8 8 3 8
SPACER: HEATSINK, HEX FIBERGLASS, 17, GLASTIC 213-1409-00 2 2 2 2
15
FUSE HOLDER: SINGLE-70, COMPLETE 2/75-0500-01 2 2 2 2
FUSE: 1-1/3 AMP JLOO37/8 2 2
FUSE "DUMMY”: . 25"X 1.25" TYPE 70 2/6-0001-00 2 2
20 RES, SHUNT: METER, ©00A 50Mv 695-1093-03 2 2
LABEL, NOMENCLATURE: GENERAL MISC, 0.9” X 47| 225-3094-09 1 1 1 1
FUSEHOLDER: 600A DEADFRONT 2/75-1606-00 2 2 2 2
25

PROPRIETARY INFORMATION

NOT TO BE COPIED, USED, TRANSMITTED, OR DISCLOSED WITHOUT

PRIOR WRITTEN PERMISSION FROM UNIPOWER, LLC.

SIZEM

DOC TYPE / NUMBER

PN 111B-3074

ISSUE
3

SCALE:
NONE

SHEET: FILE NAME:

4 OF 4 PN111B-3074_SHT_4_ISS_3

4






